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33121180/506 wpjwu Gugtwy swihtwy uwpp (nnundbnp) QL hwn 4200 80 336.0
33141110/509 Uhpuluiwbp ac hwin 48.7 30000 1461.0
33141110/510 Uhpwlywiybip G huin 97 1000 97.0
33141111/501 Yugsnit uwbinuitihtibip q< hwin 103 6000 618.0
33141115/501 pdoluilwl pudpuly 9L hwn 172 5000 860.0
33141129/506 nhdwly L hwin 5.976 50000 298.8
33141129/507 nhuwly qc huwtn 85 1000 85.0
33141131/503 Upyniu dbpgubnt dwiwwdbt wdpwlubpny (dgnuwn) QL hwn 270 100 27.0
33141136/523 Yupbunbpubp YL hwin 39.2 1000 39.2
33141136/524 Ywpbwnbpubp 9L huwin 38.8 6000 232.8
33141136/525 Ywphwntpubp 9L huwtn 37.8 15000 567.0
33141136/526 Yuwpbwnbpubp qc huwin 40.9 15000 613.5
33141136/530 Luwpbnbptbp qc hwin 8000 70 560.0
33141138/501 Yuilynyw 9 huwin 105 1000 105.0
33141138/502 Yuignyw < huwwn 293 200 58.6
33141142/509 ubpuplhsubp 9 huwin 125 30000 375.0
33141142511 ubpuplbsubp 9< hwin 8.75 20000 175.0
33141142/512 ubpwplpsubp q< hutn 9.3 100000 930.0
33141142/513 ubipwplhsubp < hwtn 14 60000 840.0
33141142/514 ubpuiplhsubp q< huwin 15.5 100000 1550.0
33141142/515 ubpuplhstp q< huwtn 20.75 60000 1245.0
33141142/516 Ubpwpbihsubin Q< huwtn 22.7 30000 681.0
33141142/517 Ubpuplhsubip < hwitn 58.9 30000 1767.0
33141142/518 ubipwplhsubip G huwin 68.9 500 34.5
33141144/510 pdolwilwl wubnubn Q< hwin 13.85 30000 415.5
33141144/511 pdoliwlwt wubnubp 9 huuwn 20 300 6.0
33141144/512 pdslwliwt wubnubp q< huwtn 6.5 10000 65.0
33141144/513 pdoljwlwl wubnubp < hwn 4.7 40000 188.0
33141156/502 pdoljwlw hnungubp L hwn 8.7498 400000 3499.9
33141158/502 Uhpwpnidwljwl &entingubip G< qnyg 75 20000 1500.0
33141160/502 untnghy 250,0 < huin 189.84 500 94.9
33141178/508 nbntph ubpwpldwu hwdwlwpgbp < hwin 38.9 50000 1945.0
33141178/509 nbintph Ubpwplduwt hudwYwpgbp q< hwn 130 40000 5200.0
33141211/687 pdoljuwlw wy gnpdhplibip — wwpwaqwubp 9L huitn 95 15000 1425.0
33141410/501 wnwpw wuwihgh hwdwp untiphy, 1004} QL huwwn 39.984 500 20.0
33141410/502 tnwipw wuwhgh hwdwp unbph), 1000 gL huwin 42 8000 336.0
33161220/504 sujwinby thwjnk L hwwn 3.2 4000 12.8
33191260/501 wpjwl thnutpuwpldw snwnhdubn QL hun 13900 30 417.0
33191310/527 thnpéiwlnpubp L hwwn 16.8 120000 2016.0
33191310/528 thnpdwunpubip 9L hwtn 16.8 50000 840.0
33191310/529 thnpdwunpubp < huwtn 25 10000 250.0
33191310/530 thnpdwlnpubp 9L hwtn 39 25000 975.0
33191310/531 thnpdwunpubp 9< hwn 38 2000 76.0
33191650/504 pdolwljwt hwgnn Q<L hwn 135 15000 2025.0
33191650/505 pdslulut hwgniun q< hwwn 6 7000 42,0
33691423/501 (wpnpwnnp warwbynyebp (nbwgbunubp) puqdwlndwntbun 9< Inwlugy 2600 100 260.0
38411200/509 gbpdwswithbp g< hwn 600 50 30.0
38431720/513 YwpnghYutiph dwipwlwutp QL hwin 1.59 80000 127.2
38431720/514 Yupenghlubinh dwpulwitbp qc hwin 0.63 350000 220.5
24311530/503 opwdth whpopuhn L {hunp 599 300 179.7
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31651200/506 E4S dwwjwdbl prinpe q< huwin 639 600 383.4
33141110/511 Uhpwlwuybp 9L hwn 850 3000 2550.0
33141111/502 Yuysnit uwybinuiihubp < hwin 140 15000 2100.0
33141111/503 Luysnit uwybinuiuhtiin QL huwin 83 1000 83.0
33141118/506 wudbnnghlubp G hwin 9.3 60000 558.0
33141118/507 wudbinnghlubip 9L hwin 4.1 70000 287.0
33141143/501 uljwph$hlywnnp gL hwiun 3.33 30000 99.9
33141144/514 pdoljwlwt wubnubip gL hwwn 1130 1000 1130.0
33141144/515 pdoljuilw wubnubp qL huin 6800 300 2040.0
33141144/516 pdoljwliut wubnubp ac huwin 10000 200 2000.0
33141144/517 pdalywlbiwl wubinubp QL huwin 7500 25 187.5
33141144/518 pdsluiljw wubnubp g hwtn 4750 800 3800.0
33141144/520 pdolwilust wubinubp L hwwn 1500 1000 1500.0
33141144/525 pdoywlwl wubinubp Gl huwin 1500 300 450.0
33141144/526 pdoluwiluits wubintibip q< hwin 1500 300 450.0
33141144/527 pdolwlwl wubnubp 9L hwwn 250 1000 250.0
33141144/528 pdolwlwl wubinubp 9L hwiwn 400 50 20.0
33141211/710 pdowljwl wy gnpdhpubip — wwpwgwubp 9L hwn 1960 15000 29400.0
33141211711 pdoliwlwit wy gnpdhpubp — wwpwgwbp 9L hwtn 1345 1000 1345.0
33141211/712 pdolwlwl wy gnpdhplbp — wwpwgwubp Q<L hwwn 6280 96 602.9
33141211/713 pdowlwts wy) gnpdhpubip — wwnwqwbbn < hwwn 1680 200 336.0
33141211/714 pdoliwlwt w) gnpdhpubp — wwpwgubp < hwwn 200000 72 14400.0
33141211/715 pdolwlwts wy) gnpdhpubip — wwnpwgwbbin L hwn 100000 300 30000.0
33141211/716 pdoljwlpwt wy gnpdhpubip — wwpwqwbp L hwwn 6800 500 3400.0
3341211/717 pdoliwliwl w)) gnpdhpubip — wwpwquubp qL huwin 8800 500 4400.0
33141211/719 pdolwlwt wy gnpdhpubp — wwpwqubp G hwun 425 3000 1275.0
33141211/721 pdoljwiljwt w)) gnpdhpubip — wwpwquubn QL huitn 179.41 5000 897.1
33141211/722 pdoluilpwt wy gnpdhpubip — wwpwquwbp Q<L hwiwn 67 15000 1005.0
33141211/729 pdoliljwt w)) gnpdhpubip — wWwipwguwubp QL hwn 3300 100 330.0
33141211/730 pdolwliwl w) ghpdhpubn — wwpwgqubp 9L huwwn 102000 1 102.0
33141211/731 pdolwiljwt w)) gnpdhpubin — wWwpwguwbp L hwwn 160000 3 480.0
33141211/732 pdolwilwi wy gnpdhpubip — wWwpwguwbp Q<L hwn 99.48 4000 397.9
33141211/733 pdolwlywl wy gnpdhpubip — wwpwguwubp <L hwn 696 100 69.6
33141211/734 pdolwlwl wy gnpdhpubp - wwpwgwlbp Q<L hwun 104 1000 104.0
33191310/532 thnpéwunpubp 9L huwitn 11.5 40000 460.0
33191310/533 thnpdwunpubp 9< hwwn 14 18000 252.0

Utnhwuppht MediScreen 10/Utigh ubig qyniyngh, wpjwu,

uwhuinwlynigh, pH, Yawmnuubiph, wbuwlwpwp Uanh,
33211110/502 Upuphuntitinh, (Eilnghubnh, ninninphtihghth — - i hwin 2472 40 98.9

npnoduwl phue unphutibinh hwdwpwdnt
33631241/504 pinphbipuhnhtuh Jnwnyp SL |htnp 1350 800 1080.0
33631241/505 pinphbipuhnhh [ndnye G [hwp 1150 400 460.0
33631250/504 tpwlng d08ax08, v03ab16, v03az01 G |hinp 1100 700 770.0
33631250/505 kpwiting d0Bax08, v03ab16, v03az01 qc (hinp 970 1000 970.0
33691167/501 \wpnpuwinnp odwnwl — ghunwlw Unyetin Q<L hwn 15000 120 1800.0
33691167/502 jwpnpunnp odwlnwl — ghnwlwu Ynyatbin QL hwin 12000 180 2160.0
33791300/522 |WRNpWNND Wwljw wpnwnputp Q< hwin 14200 500 7100.0
38431491/501 wwywljs whinphh pwu q<c hwin 33.7 10000 337.0
39821100/501 dwppnn Unyebp wdnuhwyh hhdph Ypw QL hwwn 100 30 3.0
44423600/503 Luysniu dwwjwybuubp Q<L hwin 3.28 20000 65.6
18311190/503 fuwjwp G< hwin 447 100 44.7
33141114/501 pdoljwljwy pwlghd (Gwppgw) jwitnyzgniup' 90ud < Ubnp 68 2000 136.0
33141121/503 yhpwpnidwlwl phbp 9< hwin 315 30 9.5
33141121/504 Uhpwpnidwlwl phibp 9L hwn 315 30 9.5
33141121/505 Upnwpnidwilut phjbp q< hwitn 315 100 31.5
33141121/506 Uhpwpnidwlut phibp < hwin 315 100 315
33141121/507 Uhpwpnidwlwl phibp Q<L hwin 140 30 4.2
33141121/508 Uhpwipnidwlyw phjbp L hwun 140 30 4.2
33141121/509 Uhpwpndwlwl phibp QL hwtn 140 300 42.0
33141121/510 Uppwpnidww phibp < hwin 140 300 42.0
33141121/511 Uhpwpnidwlywt phibp 9L huwin 140 50 7.0
33141121/512 Yppwpnidwljwl phjbp QL hwiwn 20 0.0
33141121/513 yppwpnidwlywt phbp Q<L hwwn 20 0.0
33141121/514 yhpwpnidwlwl phbp < huin 30 0.0
33141136/534 Ywpbwnbpubp Q< huwin 50 0.0
33141157/502 Uptnwipubin — uwnbip q< hwtn 23 200 4.6
33141157/503 bztnwplibn — uwypbip qc huwtn 23 200 4.6
33141173/501 dbigh innwpwlubp QL hwtn 102 700 71.4
33141173/502 dbgh wnwpwyubp q< hwin 32 500 16.0
33141182/503 Uppuwihnnbp (npbtwdubn) 9L hwwn 20 0.0
33141182/504 Uhpwihnnbip (npbuwdubin) < hwn 15 0.0
33141182/505 Uppwthnnbp (npkuwdubn) QL huwtn 15 0.0
33141182/506 Uppwithnnbp (npbtwdutin) 9< huitn 18000 20 360.0
33141184/501 dhpwithnnbiph (npGuwdlbph) Wwpwgwlbp Gl hwtn 4000 50 200.0
33141202/504 Pdoluwlwl blainpniubp o< huitn 2 0.0
33141211/735 pdolwlwit wy) gnpdhpubip — wwpwqubip Q< huin 550 30 16.5
33141211/736 pdoljwlwt w) gnpdhpubip — Wwpwgquibp 9L hwn 550 30 16.5
33141211/737 ndolwlwl w) gnpdhpubp — wwpwgquubn 9L huwtn 5000 10 50.0
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33141211/738 pdoywlwl wy gnpdhpubip — Wwpwgqwubp Q<L hwn 10500 5 52.5
33141211/739 pdolywlwt wy gnpdhplibip — wwpwgqulbip L hwwn 11000 2 22,0
33141211/740 pdolpwlwl wyj gnpdhpubip — wwpwguubp QL hwn 45000 1 45.0
33141211/741 pdolwlwl wy gnpdhpubp — wwpwgwubp QL hwwn 1790 20 35.8
33141211/742 pdolwlwt wy gnpdhpubip — wwpwgwubp 9L hwtn 1795 30 53.9
33141211/743 pdoywlwl uyj gnpdhplibip — wwpwquwubp <L hwn 5 0.0
33141211/744 pd2lwlwt wy gnpdhptbp = wwpwgwbp 9L hwwn 1300 5 6.5
33141211/745 pdolwljwt wy gnpdhplbip — wwpwgqulbp 9L hwn 800 150 120.0
33141211/746 pdolywlwt wy gnpdhplbip — wwnwqulbp L hwiwn 64920 24 1558.1
33141211/747 pdolwlwu wy gnpdhpubp — wwpwgwubp Q<L hwun 54960 24 1319.0
33141211/785 pdolwlwl wy gnpdhpubp — wwpwgwubp Q<L hwun 49920 24 1198.1
33141211/786 pdolywljwts wy) gnpdhpliip — wwpwqubip QL hwun 45000 24 1080.0
33141211/787 pdoljwlwt wy gnpdhpubip — wwpwqwubip q< hwwn 3 0.0
33141211/788 pdolwlwl wy gnpdhpubp — wwpwqwbp QL hwwn 200 0.0
33141211/789 pdolwljw wy gnpdhpubin — wwpwagwubp < hwwn 100 0.0
33141211/790 pdolwlwl wy gnpdhpubp — wwpwguubp QL hwun 6960 100 696.0
33141212/512 pdoljuilul wyp Wynipbp q< hwn 30 0.0
33141221/501 dnpwthnnbip (npbuwdubinh) pwquwyndynubn wupwguubp q< [nwlugu 1992.43 40 79.7
33141223/545 pdolwlwits wy gnpdhpubp — wWwpwqwibn pugdulndwntbn q< Inwljugu 3500 100 350.0
33171400/521 Ybpwlbunwuwgdwl nhdwy 9L huwin 1 0.0
33171400/522 Ybpwybtnutiwgdw nhdwly QL hwwn 1 0.0
33171400/523 Ybpwlybunwliwgiwl nhdwy QL huin 1 0.0
33171500/503 tujhnnpw) wuqgujwgdwl hwdwpwsdnitn Yud huwpbpubn G hwin 2706 10 27.1
33791300/523 |WRRPWNND Wyjwljw wpnwnputp 9L hutn 6 15000 90.0
33791300/524 |wphpuwinng wwwljw wpinwnpup QL hwin 1.26 100000 126.0
39299110/501 wuywlyls upuwlybp QL hwin 142 5000 710.0
33141136/536 Yuwpbnbptbp q< hwtn 167 20 3.3
33141136/537 Luwpbwbputp qc huwn 167 20 3.3
33141136/538 Yupbunbplbp 9< huwin 167 20 3.3
33141136/539 Ywpbnbpubp GL huwin 167 150 25.1
33141136/540 Ywphnbptbp 9< hwwn 167 200 33.4
33141136/541 uwpbunbptbp q< hwin 167 180 30.1
33141136/542 uphinbptbp q< hwwn 167 20 3.34
33141136/561 Ywpbnbpubp 9L hwitn 202 20 4.0
33141183/518 gnunbp L hwn 65 20 1.3
33141183/519 qnuntp L hwn 65 30 1.95
33141183/520 qnuntp q< hwtn 65 30 1.95
33141183/522 gnunbp 9< hwn 65 30 1.95
33141183/524 qnunbip Q<L hwn 65 30 1.95
33141183/525 qninbip q< hwitn 65 40 2.6
33141183/526 gnuntip < hwin 65 5 0.3
33141202/505 Pdoywlwu BEhnpnnubip q< huwwn 29.5 6000 177.0
33141207/522 blwnnipwghwih wwpwgwlibp < hwwn 10 0.0
33141207/523 btunnipughwih wwpwgwubp QL hwwn 10 0.0
33141207/524 hunnipwghuwih wwpwagwubp < hwwn 20 0.0
33141207/525 htwnnipwghuwih wwpwgwubp L hwwn 1000 10 10.0
33141207/526 blunnipwghwih wwpwquwibp QL hwn 1000 20 20.0
33141207/527 hnnipwghwih wwpwgubp 9L huwin 1000 20 20.0
33141207/528 huwnnipwghuwih wwpwgwbp 9L huwin 1000 20 20.0
33141207/529 blunnipwghuwh wwpwgqwbp < huwin 1000 20 20.0
33141207/530 hlunnipwghwih Wwpwguwlbp QL huwun 1000 50 50.0
33141207/531 hlwnnipwghwih wwpwqubp L huwn 1000 100 100.0
33141207/532 hluwnnipwghwih wwpwquibp QL huwin 1000 10 10.0
33141211/791 pdolwlwl wy) gnpdhpubp — wwpwqwbp QL huin 15000 30 450.0
33141211/792 pdolywlwts wy) gnpdhpubip — wwnwgqwbp QL huin 18000 50 900.0
33141211/793 pdoljuwlw wy gnpdhpibip — wwpwaqwubn Qg huwin 549 500 274.5
33141211/794 pdoluiliwits wy gnpdhplbip — wwpwiqutn a< huwin 549 1000 549.0
33141211/795 pdolwlwl w) gnpdhpubp — wWwpwquubn QL hwn 549 500 274.5
33151220/501 rRYwduwhy nhiwl L hwin 260 500 130.0
33151220/504 rRYwWdUWhU nhdwl L hwin 350 100 35.0
33151220/505 pRwduwht nhuwl q< hwn 480 100 48.0
33171400/527 Yhpwhbunwwgdwl nhiwy L hwn 7000 2 14.0
33171400/528 UbpwlEunuiliugiul nhuwl q< huwin 7000 2 14.0
33171400/529 Ubpwlbunwwgdwy nhdwl G< huwin 7000 20 140.0
37411330/502 nhdwlubp, jwunbn Yud suswnwlwl funqndwyubn Q<L hwin 800 10 8.0
37411330/503 nhuwlubp, (wunbp Yud suswnwlw unqngwyubn L hwwn 800 10 8.0
37411330/504 nhuwlubp, jwunbp Yud suswnwlw unqndwyutn 9L hwwn 800 10 8.0
15991700/501 $hpnph poune q< Yhingpuwd 2 0.0
24311530/504 opwduh whpopuhn G (htnp 10 0.0
24311570/502 pnpwsd enip Q< (htnp 500 0.0
31651200/502 E4S dwuyuil phne SL huwin 15 0.0
33141110/502 Yhpwlwuwbip QL hwin 20 0.0
33141136/501 Luwpbnbptbp q< huwitn 100 0.0
33141136/511 Yuwpbinbpubn G huwwn 100 0.0
33141136/512 Ywphnbipubip < huwin 250 0.0
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33141136/513 Ywpbnbpubp 9L hwwn 50 0.0
33141136/514 Ywpbnbpubp 9 hwwn 100 0.0
33141136/515 Yupbwnbpubp L hwin 100 0.0
33141142/504 ubpwplhsubp 9 huwtn 1000 0.0
33141144/501 pdoljwlwl wubinubp L hwin 2000 0.0
33141144/502 pdolwlwl wubinubp < hwun 100 0.0
33141154/501 pdolwlwl Ygwpguwiibp 9L hwiwn 2 0.0
33141202/502 Pdoywlwl bwnpnnubp 9L hwn 2000 0.0
33141211/502 pdolwljw wy| gnpdhpubip — wwpwqulbp Q< hwwn 400 0.0
33141211/503 pdolwljwt wy| gnpdhplbip — wwpwqulbp QL hwin 10 0.0
33141211/504 pdowljwl wy| gnpdhplbin — wwpwguwbp G hwwn 500 0.0
33141211/505 pdoluiljwi wyy gnpdhpubip — wwpwguwbp Q<L huwwn 5000 0.0
33141211/506 pdolwljut wy ghpdhpubp — wwpwgwbp G huin 5000 0.0
33141211/507 pdoljuljwit wy gnpdhpubip — wwpwguwtn L hwiwn 1000 0.0
33141211/508 pdoljuljwts wy gnpdhpubip — wWwpwguubp QL hwwn 3000 0.0
33141211/509 pdolwluwl wy gnpdhpubin — wwpwgwbp QL hwin 200 0.0
33141211/510 pdolwiliw wy) gnpdhputip — wWwpwgubn Q<L huwwn 200 0.0
33141211/511 pdolwluwit wy gnpdhpubip — wwipwgutbp Q<L huwwn 200 0.0
33141211/512 pdaljwlyuwt wy gnpdhpubp — wwpwagutibip QL huwn 2 0.0
33141211/515 pdolwliwt wy gnpdhpubp — wwpwgquubp G< hwin 7000 0.0
33141211/516 pdoliwlwt wy gnpdhpubin — wwpwgwbp 9L huwin 7000 0.0
33141211/517 pdoluiyws wy gnpdhpubin — wwpwgqwubp SL huwin 1000 0.0
33141211/518 pdolwliwt wy gnpdhpubip — wwpwquibip G huwin 2 0.0
33141211/519 pdolwljwl wy gnpdhpubin — wwpwgwibip 9L huwiwn 1 0.0
33141211/520 pdoljulw wy gnpdhpubp — wwpwgwtn QL hun 6000 0.0
33141211/521 pdoljwlwt wy gnpdhpibip — wwpwgwbp QL huwin 15000 0.0
33141211/522 pdolwlwt wy gnpdhplbin — wwpwawbp 9L huwitn 30 0.0
33141211/523 pcoljwlw wy gnpdhpubip — wwpwgwbp GL huwwn 800 0.0
33161250/501 Uhpwpnidwluw gnpdhpubiph ulnunbinutip < hwiwn 4 0.0
33161250/502 Uhpwpnidwlyw gnpdhpubph ulnunbinutip 9L hwn 4 0.0
33191310/504 thnpdwunpubp SL huwin 6000 0.0
33191310/505 thnpawnpubp 9< hwwn 7000 0.0
33191310/506 thnpawtinpubp < hwin 2100 0.0
33191310/507 thnpadwunpubp 9L huin 500 0.0
33191310/508 thnpawitinplbp (Y hwtn 500 0.0
33691160/684 phdpwlwl wgnwuynpbp (nbwgbunubp) G huiwn 100 0.0
33691160/685 phihwiwl warnuwunyebp (nbwgbiunubn) aL hwwn 300 0.0
33691176/584 wy| nnnpw)p QL huwin 100 0.0
33691176/585 wy| nbnnpw)p QL hwwn 8 0.0
33691176/586 wy| nbnnpwip QL hwwn 10 0.0
33791300/504 |Wpnpuwnnp wuwlyw wpnwnputp GL hwwn 16000 0.0
33791300/505 |wpnpwuwnp Wwywljw wpnwnpuwup 9L huwiwn 12000 0.0
33791300/512 |Wpnpwiwnnp wujlyw wpnwnputp 9L hwwn 5000 0.0
35111320/501 dhontlywhts — nwnhninghwlwt wwaunwwunyzjwl hwgnun q< hun 3 0.0
38431491/502 wuwlyb whwnphh pwu L huwiwn 500 0.0
38431710/502 Yuwpnghlubip QL hwin 8000 0.0
38431710/503 Yuienghlubip QL hwwn 6 0.0
38431710/504 Ywpenghlubp < hwin 6 0.0
38431710/505 Lwpenghlutip _ q< hwiwn 6 0.0
38431720/501 Ywenghlutiph duypwljwiutip L hwin 42240 0.0
38431720/502 Yuwpnghliubph duypwluwubp q< huwin 42240 0.0
38431720/503 LwpnghYubph dwipwyuubp 9L hwn 1920 0.0
38431720/504 Yuwpnghlubph duypwlwiubp 9L hwwn 30000 0.0
38431720/507 Yuwpnghlubiph dwjpwlwiubp QL hwin 25000 0.0
38431720/508 YwpnghYubiph duypwljwiubp QL hwwn 19200 0.0
15991700/502 $hiinph pnine QL Uhingpwd 0.5 0.0
33131220/501 wunwduwpnidwlwl mubhubp QL hwin 3 0.0
33141121/515 Yhpwpnidwlwl pbbp QL hwn 20 0.0
33141121/516 Jhpwpmdwlwl phiap 9 huin 20 0.0
33141121/517 Uhpwpmdwlwl phbibp q< hwn 30 0.0
33141136/516 Ywphbwnbpubp QL hwwn 20 0.0
33141143/502 uljwph$hlywinnp QL hwn 1000 0.0
33141157/504 Usinwpubp — uwypbp QL hwn 2 0.0
33141182/507 Yhpwihnnbp (npbwdubn) L hwwn 15 0.0
33141182/508 Uhpwithnntp (nphuwdubp) qc hwn 15 0.0
33141183/501 qnunhp ; q< hwwn 20 0.0
33141183/508 gnunbp 9< huwin 20 0.0
33141183/509 gnunbp qc hwn 20 0.0
33141183/510 qnntp a9 hwin 10 0.0
33141183/527 gnunbip 9< huwin 10 0.0
33141202/506 Pdoljwlw biabyunpnnubp < huwitn 2 0.0
33141206/501 Funnppnufubiwg fjunnndwliubp 9L hwn 10 0.0
33141206/502 tunnppnufutiwg funnnywlubp G< huwin 10 0.0
33141206/503 Funnppnutubiwg funnnyuwlubp 9 huwin 20 0.0
33141206/504 Funnppnufubiwg funnnywlubn G< huin 20 0.0
33141206/505 Funnppntfubwg funnnqwlubp < hwin 20 0.0
33141207/514 buinnipwghwh wwpwgwubp QL hwin 10 0.0
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33141207/515 huwnnipwghwh wwpwgwlbp L hiuwn 10 0.0
33141207/533 hunnipwghwh wwpwgqubp 9L huwin 10 0.0
33141207/534 huwnnipwghwih wwpwgwubp QL hwn 10 0.0
33141207/535 Puwnnipwghwih Wwpwgwubp QL hwin 20 0.0
33141211/525 pdoyuluils wy gnpdhplbip — wwpwqwlip QL hwn 5 0.0
33141211/526 pdolwlwt wy| gnpdhptibip — wWwpwaqubp QL hwn 3 0.0
33141211/527 pdolwlw wy gnpdhputin — wwpwgultn Q<L huwin 200 0.0
33141211/528 pdoljuljwl wy| gnpdhptibp — wwpwqwlbp 9L hwwn 100 0.0
33141211/529 pdolwiljuit wy gnpdhplbip — wwpwgwubp G huwin 300 0.0
33141211/530 pdoljlyuit wy| gnpdhpubip — wWwpwgquwbp G huuwn 5 0.0
33141211/531 pdoluiljwi wy gnpdhpubip — wWwpwquwubn Q<L hwtn 2000 0.0
33141211/532 pdolwilwi wy) gnpdhputip — wWwpwgqulbn Q<L hwwn 1 0.0
33141211/533 pdolwliwl wy gnpdhpubip — wWwpwguwbp QL hwtn 2 0.0
33171400/501 Ybpwlbunwiwgdwl nhdwy QL hwn 2 0.0
33171400/502 Ybpwlbunwlwgdwl nhdwy Q<L hwwn 2 0.0
33171400/503 Yhpwybunwbiwgdwt nhiwl QL huwtn 2 0.0
33171400/504 Ybpwybunwwgdwl nhdwly G hwn 20 0.0
33191310/509 thnpawtinplbp q< hwtn 2500 0.0
33191310/510 thnpdwnpubip QL hwwn 600 0.0
33191310/511 thnpawtnpubp G huwin 100000 0.0
33191312/501 wuywlb Ynpw Q< huwn 3 0.0
33191312/502 wwwyb Ynpw 9L hwwn 3 0.0
33191312/503 wiywlb Ynjpws Q< hwun 3 0.0
33191316/501 wiywlh swihhs dhugniplu' hnldwd Jghlng Q<L hwwn 4 0.0
33191318/501 wwwyb swihhs pwdwly pudubywihng 1004] QL hwn 2 0.0
33191318/502 wiwywly swithhs pwdwl pudubswihng 1004} QL hwn 2 0.0
33191318/503 wiwywyb swihhs pwdwl pwdubswihny 1004) L hwtn 2 0.0
33191318/504 wiwll swiphs pwdwl pwdubiswihng 1004) G< hwin 2 0.0
33191318/505 wiwwlyb swihhs pudwly pwdubswhng 1004 L hwwn 2 0.0
33191318/506 wwwlyb swihhs pwdwly pwdubswihng 1004 Q< hwin 2 0.0
33191318/507 wiwwlt swithhs puwdwly pudubiswiing 1004 QL hwitn 2 0.0
guswinnipwl gnigwuwppbip (Quswnnipjwl uljwundwdp
33191560/501 ulionnpinit hulubuighbyn: hudun) q< hwwn 30 0.0
33691160/691 phuhwljwt wgnuwnipbp (nbwgbunubp) 9L huwin 20 0.0
33791300/513 |wpnpwunp wwwlyjw wpunwnpuip 9L huwin 2 0.0
33791300/514 (wpnpwwnnp wwwljw wpnwnputp 9L huwin 2 0.0
33791300/515 |wpnpwunnp wywlyw wpunwnpuup QL huwin 4 0.0
38311100/501 blaYwnpnliwihu Yobnplbip — wwpwgwubp QL huin 2 0.0
38411200/501 obpdwswthbip < hwwn 20 0.0
38431710/506 Luwpnghlubp 9L huwin 2000 0.0
38431720/509 Yuwpnghlubph dwypulwiubp q< hwtn 500 0.0
44163112/502 npbtwdwiht hwdwlwpgbp G< huin 20 0.0
q< 0.0
quiquipl tynipbip
24111160/501 pdolwljwt hbinnly wgnwn QL fud 470000 9 4230000.0
33691141/502 pRYwshu v03an01 &< hwwn 2300 3000 6900000.0
ntnnpwyp
33611130/504 wunpnujhti a03ba01, s01fa0l Q< hwwn 69.9 1500 104.9
33611170/501 rpnnwiybpht a03ad02 < huwitn 37.5 1500 56.3
33611170/502 npnunwybpht a03ad02 S huwin 6 500 3.0
33611310/507 hunyht Q< hwwn 4599.8 10 50.0
33611320/501 ubpwpldw huunyhu (néynn) alOab QL huwtn 5199 60 311.9
33611320/502 ubpwpldwl huunyht (jnidynn) alOab QL hwin 5499 30 165.0
33611472/504 Yhgbipng, dndpyubp Q<L huwn 90 400 36.0
33611472/505 Ghghipny, Undhlubp q< hwiin 87 200 17.4
33621160/501 wihbwlwwpnbwpent b02aa0l qc hwitn 800 200 160.0
33621360/506 g{hatiphy inuhuipwwn (Uhwnpnghgbipht) c01da02, c05ae01 L huwin 799.8 200 160.0
33621390/501 wdhnnwpnt c01bd01 L hwn 196 150 29.4
33621720/501 phunwpnin c07ab07 YL hwn 9 400 3.6
33621740/501 wdjnnpuht c08call L hwn 5.6 800 4.5
33621761/501 wgbwnhjuwihghjwpent, dwgubghnwih hhnpepuhn BOTAC30 QL hwn 10.5 10000 105.0
33631180/501 wpdwph unybunhughtid06ba0! q< hwin 1080 20 21.6
33631370/501 winpwyniphnu! pighjwwn m03ac04 L hwn 270 150 40.5
33631410/501 winwniphung m04aa01 L hwin 44 20000 880.0
33631430/505 nbpultitinwpndbt (nbpultnnupndbuh wpndbnwdng MOTAET7 9L hwwn 187 2400 448.8
33631430/506 nbpuljinnupndbl (nbpulitunnwpnbuh tpndbunwdng MOTAET7 9L hwun 129.9 300 39.0
33651111/501 wiopuhghihu j01ca04 < huwiwn 168 500 84.0
33651112/503 widopuhghyhu+pjwyni-juwiwpeent j01cro2 L huwun 1480 5 7.4
33651125/501 wghpepnihghu j01fal0, s01aa26 L hwiwn 258 500 129.0
33651163/502 wihlwght d06ax12, j01gb06, sO1aa2i 4L hwwn 1520 700 1064.0
33661115/503 pnughdwluht n01bbOT < hwtn 229 70 16.0
33661142/501 wihinphuyinhjhtu n06aa09 q< hwtn 9 300 2.7
33661151/501 wghbynyhp d06bb03, j05ab01, s01ad03 L hwin 14.6 40000 584.0
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33661151/502 wghlynyhp d06bb03, j05ab01, s01ad03 QL hwin 2499 100 249.9
nbpuwdbpwgnu allac02, c05aa09, d07abl19, d07xb05, d10aal3,
33661153/503 hgzab(’j& +01ad03. s01ba0] gU'CbO'HS?Efgﬁégfﬁgg‘ 9L hwin 21.3 30000 639.0
nbpuwdtipwgnt allac02, c05aa09, ab19, xb05, d10aa03,
33661153/504 hglabﬁfﬁ 101ad03. s01baO1 %01%301632221&363523@01 9 hwwn 36.8 50000 1840.0
nbipuwdbipwgnu a0lac02, c05aa09, d07ab19, d07xb03, d10aa03,
el h02ab02, r01ad03, s01ba01, s01cb01, s02ba06, s03ball *< hun 249 300 i
33671114/501 wuhtnghihti r03da0s G huin 35.72 1500 53.6
33671125/502 wippopun| (wdppopunih hhnpnpinphr)  ROSCB06, ROSCB QL hwin 15 300 4.5
33671130/501 nhbbuhpnnwdhu d04aa32, d04aa32 q< huwtn 21.9 20000 438.0
33691121/501 wphitinwaqnp02cal3 9L hwn 171 30 5.1
33691136/504 uwwphnwip pinppn al2ca0l, b05c¢b01, b05xa03 < hwwn 213.9 1000 213.9
33691136/505 Lwwnphnuih pinphn al2ca0l, b05cb01, b05%a03 q< hwwn 220.9 4000 883.6
33691136/506 twwphnwh pinphn al2ca01, b05cb01, b05xa03 QL hwiwn 226.8 90000 20412.0
33691136/507 twnnppnuwih pinphn al2ca01, b05cb01, b05xa03 G hwwn 1300 2000 2600.0
33691136/508 twwphnuwh pinppn al2ca0l, b05¢b01, b05xa03 9L hwtn 237.8 4000 951.2
33691136/509 twwnphnuih pinppn al2ca0i, b05¢b01, b05xa03 QL hwin 1400 5000 7000.0
33691136/510 uwwnppnwih pinphn al2ca0l, b05cb01, b05xa03 Gl huwtn 530 200 106.0
33691138/504 gyiniyng b0Scx01, v04ca02, v06dcOl L hwtn 237.9 9000 21411
33691138/505 gyniyng b05cx01, v04ca02, v06dcOl QL hwin 231.9 2000 463.8
33691176/569 wy| nbnnpwp < hwin 29980 150 4497.0
33691176/571 wy| nhnnpwp 9L hwtn 4200 500 2100.0
33691176/572 wy| nhnnpwp <L hwn 88.8 1000 88.8
33691176/573 wi| nEnnpugp Q<L hwwn 2200 700 1540.0
33691176/574 wj| nbnnpuwp Q<L hwwn 516 2000 1032.0
33691176/575 wy| phnnpwyp QL hwin 227.8 1500 341.7
33691198/503 wnbdtnpnupu - AI6AAQ2 L hwn 1899 5000 9495.0
33691727/501 nkpuwnpng (niputnpngh dnunhhnpwn) VO6DCO1, BOSCX01 L hwin 36.22 10000 362.2
33691731/501 nhnudblnpin AO7BCO5 QL hwiwn 149 2100 312.9
33691811/501 phuwlnnhy q< hwwn 36 700 25.2
33141166/501 hbujwpht < hwiwn 974 1000 974.0
33611100/501 odbwpuwgn| a02bcOl b hwun 9.2 70000 644.0
33611120/503 $pwdnnpnhtu AO2BAO3 QL huwn 368 3000 1104.0
33611140/503 otnwuubinpnu a04aa01 < huwin 270 30000 8100.0
33611140/504 ounwuubtnpnu a04aa01 < hwin 649 2000 1298.0
33611160/501 dbwnnlynypwihn a03fa01 L hwwn 40.98 1500 61.5
33611420/507 Yughnuih gyniyntiun al2aa03, dilax03 a< huwiwn 87 10000 870.0
33611420/508 Yuwighnuih gyniyntiwin al2aa03, dilax03 9L hwwn 129 10000 1290.0
33611470/502 wwiinnwpuwigni QL huin 33.21 2000 66.4
33611470/503 wwltnnwpigny QL huin 1290 800 1032.0
33621120/501 Fuopuwwwphu b01ab05 < hwn 1069 13000 13897.0
33621230/503 bnjwpent b03bb0 9< hwn 5 1500 7.5
33621590/501 $nipnutidhry c03call QL huwwn 22.286 20000 445.7
33621610/504 dwbhwnn| a06ad16, b05bc01, b05cx04, r05chl6 qL huwn 512.7 1500 769.1
wpbnuhgninu a07ea01, c05aa04, d07aa03, d07xa02, h02ab06,
AReaa0m02 r01ad02, s01ba04, s01cb02, s02ba03, s03ba02 i b 497 1Ioge 5964
33651118/501 gbunphwpunt j01dd04 ac hwtn 103 8000 824.0
33651131/504 ;’&i;“f“'m”“‘q"l +uptpouipd Ieedl, 101eeta, U1e00%, | g hutn 13.2 40000 528.0
33651131/507 f.lor';qﬂn;.;;lhpogqun[ + nphubpnwphu jOlee0l, j01ee02, j01ee05, ac hutn 567 50 28.4
[Olee
33651134/502 ghwpndlopuwight j01ma02, s01ae03, s02aal5, s03aa07 9L hwn 27 10000 270.0
33651138/501 |=h$joputughts j01mal2, s01ae05 9L huwn 79.8 5000 399.0
33651140/502 ghiphiyhd j01de01 9L huwin 399.8 10000 3998.0
33651143/504 dbpnwbubd j01dh02 QL hwn 2132 200 426.4
33651143/506 ubipnuybubd j01dh02 < hwiwn 1970 1000 1970.0
33651150/503 Byniynuwgn d01acl5, j02ac01, j02ac01 9 huin 3390 500 1695.0
33651150/504 $yniynuwgn) d01acl5, j02ac01, j02ac01 QL hwin 54 30000 1620.0
33651150/505 Synijnuwgny d01aci5, j02ac0l, j02ac01 qc huwtn 99 8000 792.0
33651318/503 Liubgnihn. q< huwn 4500 400 1800,0
33661112/501 upnundn| n01ax10 9L hwn 444.9 1500 667.4
33661114/502 $buwnwuhy n01ah01, n02ab03 Q<L hwn 450 400 180.0
33661116/505 u;?;u;uhu c01b[l)o101, c05ad01, d04ab01, n01bb02, r02ad02, ac KA 720 200 144.0
s!
33661116/506 mnnawjh'u c01bb0T, c05ad01, d04ab01, n01bb02, r02ad02, ac hutn 2694.9 20 53.9
s01ha07, s02da01
33661116/507 [hnnbwjht c01bb01, c05ad01, d04ab01, n0Tbb02, r02ad02, ac i 04.8 200 19.0
s01ha07, s02da01
33661116/508 (hnnluwjht c01bbO0T1, c05ad01, d04ab01, n01bb02, r02ad02, ac hun 7.8 3500 1323
s01ha07, s02da0l
33661120/504 Unp$hu n02aa0l < huwiwn 450 400 180.0
33661120/505 Unp$ht n02aa01 QL huwiwn 6000 150 900.0
33661122/506 wwpwgbinwidng n02be01 L huwin 2200 1000 2200.0
33661122/507 wwpwgbnwidng n02be01 L hwin 6.78 2500 17.0
33661127/501 dbinwihgny (Ubinwdhgnih bwnphnud) NO2BBO2 QL hwn 347 10000 347.0
33661135/503 dhnwgnjwy n05cd08 YL hwtn 511 300 153.3
33661185/501 Yawnnpnjwy (Yewnnpnjwlh wpndbunwdng) QL huwn 89 1500 133.5
33691112/505 dtwnpnuhrwgny a0labl7, d06bx01, g01af01, jO1xd01, pO1abO1 Q< hwn 212 2500 530.0
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33691112/506 dtiinpnupnwani a01ab17, d06bx01, g01af01, jO1xd01, pO1ab01l QL huwin 5.02 800 4.0
33691112/508 utitnpnpnwgng a0lab17, d06bx01, g01af01, j01xd01, pO1abOi G hwtn 1600 150 240.0
33691135/502 uwwnphnwh phywppnlwn b05xa02 9 huwn 960 20000 19200.0
33691145/501 Sau;'{::gczghmdh unipwin a06ad04, al2cc02, b05xal5, difax05, 9¢ husn 29.8 3000 89.4
33691154/501 hnhbpunv08ab02 9L hiun 8700 700 6090.0
33691176/576 w)| Rannpwjp QL huwn 6888.8 400 2755.5
33691176/577 wy| nbnnpwp QL hun 333.8 5000 1669.0
33691176/578 wy| nknnpw)p QL hwwn 77 1000 77.0
33691176/579 w)| nbnnpwjp < huwin 147.85 2000 295.7
33691176/580 w)| nEnnpw)p 9L huwin 1388.8 1500 2083.2
33691176/581 wj| nhnnpwp 4L hwwn 1857 150 278.6
33691176/582 wy| nEnnpwp <L huwin 89 2100 186.9
33691202/502 kinwidgh|wwn - BO2BX01 QL huwiwn 154 15000 2310.0
33691202/503 Funwdghpwwn - BO2BX01 GL huwwn 34.8 6000 208.8
33691226/507 wnpwdwnn (pwdwnngh hhnpnginphn)-NO2AX02 Q<L huwn 117 100 1.7
33691226/508 wnpwidwnn| (npwdwnnih hhnpnpinphn)-NO2AX02 QL hwn 56.7 200 11.3
33691226/509 unpwiwnng (npwdwnnih hhnpnpinphn)-N02AX02 QL hwwn 154 1500 231.0
33621290/503 Lwhub$pht (wnpbw ht) a0Tad01, b02bc09, cOlca4, r0laald, ac i o4 1000 04.0
r(3aa01, sO1eall
33621330/502 upytpwihn  RO7ABO2 q< hwn 152 50 7.6
33621360/502 qihgbiphy bnuhunpwn (Uhunpngihgbpht) c01da02, c05ae01 QL hwin 660 100 66.0
33621730/501 Ybpwuwwidhy c08da0t QL hwn 88 50 4.4
33651124/501 ghbunwghnhd j01dd02 9L huin 2997 100 299.7
33651126/505 ghunwidhght d06ax07, j01gb03, sO1aall, s02aal4, s03aa06 9< huwwn 67 3000 201.0
33651137/501 Yuwuynihght a07aa09, j01xa01 Q< hwin 1420 800 1136.0
33651224/501 Ubpninpbpuwn 101ba01, 104ax03 Q< hwn 90 100 9.0
33651224/502 dbpninpbpuwwn 101ba01, 104ax03 QL huwin 3990 100 399.0
33651224/503 dbpninpbipuwn 101ba01, 104ax03 QL hwin 13999.8 600 8399.9
33651224/504 dbpninpbpuwn 101ba01, 104ax03 L huwn 22500 100 2250.0
33651227/502 nwlwppwght 101ax04 qc huwwn 2000 0.0
33651230/503 nopunnniphght 101db01 QL hwin 13397 200 2679.4
33651230/504 nopunnniphght 101db01 < hwin 5724 500 2862.0
1800 0.0
33651231/501 buinuynghn 101cb01 9 hwn 350 200 5300
33651232/501 Ywppnwjwinht 101xa02 9 hwin 800 0.0
33651238/502 ghlyn$nudbwiipn 101aa01 q< hwitn 1000 0.0
33651238/503 ghlyn$nubwidhn 101aa01 < hwn 2000 0.0
33651238/505 ghlyn$nubwidhn 101aa01 QL huwiwn 700 0.0
33651239/502 ghtnwpwpht 101bc01 9L huwtn 1999.8 300 599.9
33651239/503 ghtnwpwpht 101be01 G hwin 4190 2000 §380.0
33651242/501 nngbunwpuby 101cd02 4L hwtn 300 0.0
33651243/501 wuwlyhuinwpuby 101cd01 G huwn 14899.8 500 7449.9
33651245/502 gbdghunwpht 101bc05 QL hwin 6588.8 600 3953.3
33651248/503 opuwijhuyjwwnht [01xa03 < hwtn 17499.9 800 13999.9
33651248/504 opuwjhwjwwnhu 101xa03 9L huwin 3160 100 316.0
33651251/501 Yuwighnwih $njhuwnl01cb0i 9L hwin 1000 0.0
33651256/502 ghljnuwnppti 104ad01, s01xal8 QL huwin 60999.9 40 2440.0
33651312/502 $yninwpwpht QL hwtn 28300 20 566.0
33661115/502 prwghywluwiht n01bb01 q< huwn 319.8 70 22.4
33661115/504 prwyhywlwiht n01bb01 QL hwin 1999.8 50 100.0
33661136/503 nhwqbwjwd n05ba01 G< hwn 101 200 20.2
nbpuwdbpwgn allac02, c05aa09, d07ab19, d07xb05, d10aal3,
el h02ab032, r01ad03, s01ba01, s01cb01, 502ba06, s03ba0 o P 2 ol
33661159/501 phuhitpphu (bauhkdphup hhnpnpinphry) CO1CACE QL huwwn 77 150 11.6
33691133/502 ubpwpldwt onip v07ab QL huitn 22.9 6000 137.4
33691176/505 wj| nnnpwp q< huwwn 15297 100 1529.7
33691176/506 wy| nEnnpwp Q< hwwn 25900 90 2331.0
33691176/507 wy| nannpwip QL hwin 262.5 800 210.0
33691176/508 wy| nhnnpwp QL huwiwn 200 0.0
33691176/509 wj| nhnnpwip L hwn 45000 350 15750.0
33691176/510 wy| nhnnpwp Q<L hwwn 600 1000 600.0
33691176/514 wy| nhnnpwp QL hwun 6840 500 3420.0
33691176/515 wy| nhnnpwp QL hwn 8460 600 5076.0
33691176/516 wj| nhnnpwp QL hwun 13299 800 10639.2
33691280/501 ghuwjwnh 1 dg/d} 50 U q< hwin 6800 450 3060.0
33691500/504 inpuwlbpuwdwppnt 9< hwtn 375 1500 562.5
33691500/505 unpwbpuwdweent < hwn 1899 3000 5697.0
33611110/504 wumdhhhmdh hhnpopuhn + dwqutighnuwih hhnpopuhn, a02aa04 qc i 40 0.0
a02ab01 g04bx01
33611150/501 wwuypbwwnhu a09a 9< huwin 500 0.0
33611180/502 |wywnnyng a06adil < huwin 1500 0.0
33611360/502 funjblwigh$bipn) aficc L huwin 300 0.0
33611370/501 rhwihu alida01 9 huwin 300 0.0
33611390/502 whphnopupt: al1ha02 q< huwin 1000 0.0
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33611474/502 Uhdtiinhlynt QL hwiwn 1000 0.0
33611474/503 Updtinhlynt G hun 150 0.0
33621100/502 hbwwphu bwwinphnui b01ab01, c05ba03, sOixal4 3L hwin 30 0.0
33621240/501 ghwtnynpuwjuwidht b03ba0l < hwwn 500 0.0
33621250/501 nbpunpwl b05aa05 Q< hwwn 250 0.0
33621340/501 Un$bht Uwinphndh phugnwn NO6BCO1 < hwwn 100 0.0
33621510/501 Ywuinnwphy c09aa01 QL hwn 2000 0.0
33621620/502 uwhpnunjwlnnt c03da0i q< hwwn 1000 0.0
33621620/504 uwhpnunjwlwnnt c03da0i <L hwwn 100 0.0
hhnpnlnpinhgnt a01ac03, a07ea02, c05aall, d07aa02, d07xa0l,
93621640/ h02ab09, s01ba02, s01cb03, s02ba0! s huan i 0.0
33621690/503 Ywpybnhin| c07ag02 < huwiwn 1170 0.0
33621760/503 Fuwwwyph| c09aa02 9L huwwn 100 0.0
33621777/502 Mthywpopuwpw < huin 252 0.0
33621783/501 Unpunpbuwiht wnwpunpwn 9L hww 100 0.0
33631200/501 pinpwddbupyny, dbphinihwgh; DO6C 9L hww 120 0.0
33631230/501 :g:ji;n;b jnn d08ag02, d09aa09, di1ac06, g0laxil, r02aal5, ac iy 70 0.0
33631290/501 hpniwypndbu c01ebl6, g02cc01, mO1ae01, m02aal3 9L hwn 1000 0.0
33631290/502 hpnLpn$bl cOlebl6, g02cc01, mOlae01, m02aal3 q< huiwn 50 0.0
33631310/502 nhlyndtuwl dilax18, m01ab05, m02aals, s01bc03 Q< hwn 150 0.0
33631310/503 nhlyn$btwy ditaxi8, m01ab05, m02aal5, s01bc03 < hwin 200 0.0
33631350/501 whwblnipnupnwih ppndhn m03ac06 L hwwn 75 0.0
33631360/501 unipuwdbipnupnid m03ab01 < hwun 200 0.0
33631460/501 THipuwwbipbung DO3AX03,RO1AXI0 q< hwiwn 50 0.0
Phnwibipwgnt (phnwdbpwgnuh nhupnughntiwn),
SEIHT0R02 ljningitiduidoy, Gblinusdfiahis (qBtanuidhorin uisa Dozeeer | T Lol L 0.0
33642220/503 Ubphjwpbnupgnint d07aa01, d10aa02, h02ab04 L hww 500 0.0
33642220/504 Ubiphjwpbnuhgninu d07aal1, d10aa02, h02ab04 9< huwin 10 0.0
33642220/505 dbphjwnbnuhgnint d07aa01, d10aal2, h02ab04 L hwwn 10 0.0
33642250/503 Unbinbniljuun < hwun 150 0.0
33651117/501 ghbhpuhd jO1dd08 q< hwtn 1000 0.0
33651128/501 upwnpn$nipwnnght j01xe01 < hwin 200 0.0
33651134/503 ghujpn$jopuwighti j01ma02, s01ae03, s02aal5, s03aa07 L hwwn 300 0.0
33651134/504 ghupndjopuwight j01ma02, s01ae03, s02aal5, s03aa07 G< hwun 30 0.0
33651148/501 ynuiphdwgny a0lab18, d01ac01, g01af02 S hwwn 10 0.0
33651148/502 lyjnuinphudwgny a0lab18, d01ac01, g01af02 9L hwwn 10 0.0
33651149/501 Uhuwmwwnhu a07aa02, d0laa01, g0laa0l g hwin 6000 0.0
33651195/501 Uwpnnt unpdw) hdniunggnpnuyht j06ba Q<L hwn 50 0.0
33651280/503 Uh$nipopuwghn AO7AX03 q< hwun 1000 0.0
33651280/505 Uhbnipopuwighn AO7AX03 q< hwwn 70 0.0
33661110/501 pgndinipw n01ab06 < hwn 10 0.0
33661113/501 phnuwbtnw) n01af03, n05cal9 Q< hwwn 100 0.0
33661122/501 wwpwgtitnuiing n02be0t < hwwn 400 0.0
33661122/504 wwpiughnwidng n02be01 < hwwn 50 0.0
33661128/501 Ywppwiwgbuwht n03af01 < hwin 1000 0.0
33661137/501 inpwgtwwd n05ba06 9L hwn 100 0.0
33661147/502 Ubnuinhgquht n07aa01, s01eb06 q< hwin 150 0.0
33661149/501 wgbtnwgnwidhnsOiecOl < hwwn 300 0.0
33661170/502 Mpnbuwht (wpnbuwhth hhnpnpinphg) NO1BAO2 9L hwn 100 0.0
33661181/502 Uling|nipwt L hwn 15 0.0
33661183/502 ghuwwnpwyniphnud {(ghuwwpwlniphmyd phghjun) L hwin 100 0.0
33671113/502 ulupnunwing r03ac02 < hwwn 400 0.0
33671113/503 upnunwing r03ac02 < hwiwn 15 0.0
33671116/504 puhjndbnwgniht r01aa07, r01ab06, s01ga03 < hwin 10 0.0
33671116/505 pupjndbinwgniht r01aa07, r01ab06, s01ga03 QL hwun 100 0.0
33671124/502 wnppwihght, nbpuwdbpwgnt  SO1CAO1 < hwn 50 0.0
hwpwnpnwhnwh ppadbn. (hwpuwwnpnuhbnwh ppndhnh
R ununhhnpwin), huninbipn ($tiunwnbipnih bhnpnppndhn) e hign 1 —
33691112/504 Utnnpnupnwgny aOlabl7, d06bx01, g01af01, j01xd01, p0l1ab01 9L hwwn 30 0.0
33691112/507 ubwpnuhnwgny a0labl7, d06bx01, g01af01, jO1xd01, pO1ab01 q< huwin 20 0.0
33691136/503 twwnphnwh pinphn al2ca01, b05cb01, b05xa03 9L hwwn 50 0.0
33691176/517 w)j nhinnpw)p 9L hwin 40 0.0
33691176/518 wy| nbnnpw)p < hwuwn 10 0.0
33691176/519 wj| nbnnpwip q< hwtn 10 0.0
33691176/521 wj| phnnpw)p QL hwwn 150 0.0
33691176/524 wy| nbnnpuw)p qL hwin 5 0.0
33691176/526 wj| nhnnpw)p QL hwin 4 0.0
33691176/527 wy| nbnnpup QL hwwn 100 0.0
33691176/529 wj| nbnnpwp < hww 100 0.0
33691176/530 wy| nbnnpw)p Q< hwwn 170 0.0
33691176/559 w) nhnnpwjp G< huwin 20 0.0
33691176/560 wj nhnnpwp G< hwin 300 0.0
33691176/561 wy nknnpw)p G< hwin 10 0.0
33691176/583 wy| nbnnpw)p QL hwn 560 0.0
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33691191/503 $nudnjhuhnubp (fubughwy)-ESL A0SC L hwtn 280 0.0
33691198/504 wnbdbiwnhnup - A16AA02 q< hwin 1500 0.0
33691199/501 uhlhdwppu - AOSBAD3 L hwin 5000 0.0
33691200/501 ubtnghnutp A,B - AO6ABO6 pnuwljwl dwgdwl nbn QL hwn 1000 0.0
33691201/501 uwinjuwiuninh ngbpnipd - NOSCMO9 pniuwljwts dwqlwu nbin 9 hwin 100 0.0
33691212/502 nhnudht, hbuwbphnhu-CO5CA53 Q< hwtn 120 0.0
33691223/501 twnpnuywphtih Gujghnudwlwl wn- BO1ABO6 9 hwwn 100 0.0
33691223/502 uwnpnuwphuh Yuighnuwwlwl wn- BO1ABO6 < hwn 100 0.0
33691231/503 Yughnuwih Ywppnuww, funjiluigh$linng A12AX QL hwn 2000 0.0
33691236/502 pinpnuhpuwidht /pinpnujhpuwdhuh hhrpnpinphn/ ROGACOS, a¢ — 500 0.0
DO4AAQ9
33691600/501 |=bwnhpwgbunwd G< hwin 1000 0.0
33691730/503 bplwpeh hhnpopuhnh nbipunnpwwihu hwdwjhp BO3AC QL hwn 200 0.0
GL hwn 0.0
jwpnpunnp b phihwlwl wqnwipnebp (nbwqbunubp)
33141211/689 pdolwlwl wy gnpdhpubip — wwpwgubp < hwwn 84000 4 336.0
33141223/529 pdolwljwl wy| gnpdhpubip — wwpwqutp puquulndunubun Q< Inwlwqd 40000 60 2400.0
33141223/530 pdslwlwt wy gnpdhplbp — wwpwqwubp pwqdwlndwynubln QL Inwluqy 39999 2 80.0
33141223/531 pdolwlwl wy) gnpdhpubp — wwpwgwbp puqiwlndynubun 9< Inwlwqd 39999 2 80.0
33141223/532 pdolwilpwt wy gnpdhputip — wwpwqwbp puquwlndwnubin q< (g 849999 2 1700.0
33141223/533 pdoliwlwl w)) gnpdhpubp — wwpwgwubp puqiwyndynubun QL (nwljuqu 240000 2 480.0
33691162/1136 |wpnpwnnp wgnwiynyestn (nBwgbunlbn) QL huwin 72999 2 146.0
33691162/1137 jwpnpwinnp wgnwnipbp (nbwgbunubp) QL huin 51999 2 104.0
33691162/1138 |wpnpwwnnp wgnwnyebp (nbwgblnubn) Q< huwin 63999 4 256.0
33691162/1139 jwpnpwwnnp wgnwtyniebp (nbwgblnbn) Q<L huwin 89000 80 7120.0
33691162/1140 Jwpnpwwnnp wgnwuniehp (nbwgblnbp) QL hwtn 130000 80 10400.0
33691162/1141 {wpnpwinnp werwnebp (nbwgklnubp) QL hiuwn 50000 80 4000.0
3369116211142 |jwpnpwinnp wgnwunyetp (nbwgbuwnubn) Q<L hwn 59000 80 4720.0
33691162/1143 |wpnpwinnp wgnwunyebp (nbwgblnutn) Q< huwn 138999 2 278.0
33691162/1144 |{wpnpwinhp wgnwiunypbp (nbwgbunbp) QL hwn 91999 4 368.0
33691162/1145 (wpnpwnnp wanwnysbn (nbwgbUnutp) QL hwun 67998 2 136.0
33691162/1146 |wpnpwnnp wgwiynysbp (nbwgbUnubp) q< hwn 104000 3 312.0
33691162/1147 (wpnpwwnnp wgnwiynyebp (nbwgbnubp) < hwin 64999 5 325.0
33691162/1148 Jwpnpwwnnp wgrnuwnehip (ntiwgbnubn) QL hwwn 61999 4 248.0
33691162/1149 |Wpnpwinnp wgnutnebp (nbwgbnubp) Q<L hwn 798000 4 3192.0
33691162/1150 jwpnpwinnp wgnwyngebp (nbwgbwnutbp) <L hwn 60000 3 180.0
33691162/1151 wpnpwnnp wgnwiynyabip (nbwgblnubn) Q< hwwn 84999 2 170.0
33691162/1152 jwpnpwinnp wanwiynyabp (nbwgbnutbp) 9L hwwn 84999 2 170.0
33691162/1153 |wpnpwnnp wgrputynyatip (nbwgbunubn) 9L hwn 84999 2 170.0
33691162/1154 |wpnpwnnp wanuwiynypbp (nbwgbnttbp) L hwuwn 33075 2 66.2
33691162/1155 jwpnpwnnp wgnuwnyekip (nbwgbnubin) 9< hwin 84000 2 168.0
33691420/639 |wpnpwinnp wagnwunetn (ntwgbtnutp) puqdulyndwnubun q< by 69000 1 69.0
33691420/640 |wpnpwnnp wanuwitgnpbp (nbwgbtnbbn) pugdwlyndwynublion QL nuwljwgd 42000 3 126.0
33691420/641 |wpnpwnnp wanwtynyebp (nbwgblntbp) puqdwlyndwynubun 9L Inwlwqy 69000 3 207.0
33691420/642 |wpnpwwnnp wgnuwynietip (nbwgbunbp) pugqiwyndunublbn 9< [nuljwgd 69000 3 207.0
33691420/643 (wpnpwwnp waruwiynpbp (nbwgblnttp) pugdulyndynubun 9< [nwlwqu 40000 3 120.0
33691420/644 |wpnpwwnp waruwiymetn (nbwgbtnbibp) pugquulndynubun < Inwluqu 108000 2 216.0
33691420/645 |wpnpuwwnnp wqnwtynipbp (nbwgblnubn) puqiwyndynublun L Inwljwgy 214998 2 430.0
33691420/646 |wpnpwitnnp wgnwuniebn (nbwgbunubn) puqiwlndwnubun qL Inwljuga 36999 2 74.0
33691420/647 |wpnpwwnnp warwnietp (nbwgbuntbn) puquwyndynutun Qg [nwlwqd 33000 2 66.0
33691420/648 \wpnpwitnnp wgnwuyniphbn (nbwgblnubn) pwqiwyndunubiun < [nwlugy 69000 5 345.0
33691420/649 |wpnpwtnnp warwbgnebp (nbwgbunubp) pugdwlndwnttun QL [nwlwgd 32499 5 162.5
33691420/650 |wpnpwinhp wanwnebp (nbwgbunubp) puqdulndwynubun QL [nwiljugqd 32499 5 162.5
33691420/651 |\wpnpwinnp warptynipbp (nbwgbinbn) puquiwlnduynttiun q< Inwlwqd 42000 2 84.0
33691420/652 |wpnpwtnnn wanutnpbp (nhwgbintbp) pugdwlnduntibiu q< [nwlwuqy 42000 2 84.0
33691420/653 {wpnpwinnp wqnwunebp (nbwgblnutp) puqiulndwnubn q< Inwljwqy 55998 2 112.0
33691420/654 \wpnpwitnnp wgnwunebp (ntwgbunutn) puqiwlndwyntblon Qg Inwlwgy 76998 2 154.0
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33691420/655 |wpnpwnnp warwnyetip (nbwgbunlbn) pwquwyndynubln < (Puljugy 42000 5 210.0
33691420/656 (wpnpwunnp warpwnebp (nbwgbunubn) puquwyndynubun < (nuwiljugy 47000 3 141.0
33691420/657 |wphpwinhp wqnwunipbp (nbwgbinubn) puquwyndwynutun Q< . (nwiljuqd 42000 2 84.0
33691420/658 wpnpuwnnp wanwniebp (nbwgbunlbn) pugquwyndynubun < (nwlwqd 104000 3 312.0
33691420/659 ({wpnpuwwnnp warwbyniebp (nbwgbunubn) pugquuwyndynubtn G [nwiljwqud 202000 3 606.0
33691420/660 ({wpnpwunp wanwnipbp (nbwgbuntbn) puquwlndynubun 4L (nuiljuqd 202000 3 606.0
33691420/661 |wpnpwinnp wanwuniebp (nbwgbtnbn) puqiwyndwyntbun < (nwljuqu 35499 2 71.0
33691420/662 |wpnpwwnp warwynipbp (nbwgblntbn) puquwlndynubun G (nulwgu 103998 2 208.0
33691420/663 |wpnpwiwnnp wgnwmpbp (nbwgbunubn) puqiwyndwyntbun G (gl 58998 2 118.0
33691420/664 (wpnpuwwnnp worwbyniebp (nbwgblnlbn) puquwyndynubin G< [nuwlwqd 354999 4 1420.0
33691420/665 wpnpwnnp wanutynypbip (nEwgBunutn) puquuyndynutiin 9< (g 99999 2 200.0
33691420/666 |\wpnpwinnp warpubnyetn (nbwgbnubp) puqdwlndwntbiun Q< [nwljugd 63000 2 126.0
33691420/667 (wpnpwwnnp wonwiynietn (nbwgblnubp) puqiwynduntbiun G [nwiljusqu 32000 60 1920.0
33691420/668 |wpnpwinnp wgnwunebp (nbwgbunutn) puqiuindunutiun < [nwlwg 32499 10 325.0
33691162/1156 (wpnpwinnp wgnwiynyebip (nbwgbuwnutbip) QL huwin 470 200 94.0
33691162/1157 |wpnpwnnp wgnwtynipbp (nbwgbnubp) QL hwwn 470 200 94.0
33691162/1158 |wpnpwwnnp wgnwtynipbp (nbwgbnubp) q<L hwtn 700 200 140.0
33691162/1159 |wpnpwwnnp wanwtynyebp (nbwgbnlbp) QL hwn 1980 10 217.8
33691162/1160 jwpnpwunnp wgputynyatp (nbwgbntbn) QL hwwn 1650 100 165.0
33691162/1161 |wpnpwnnp wgnwnipbp (nbwgbbnlbp) 9L hwin 900 230 207.0
33691162/1162 |wpnpwnnp wqnutynipbp (nbwgblnlbn) QL hwwn 5280 20 105.6
33691162/1163 |wpnpwinnp wanwtnyphp (nbwgblntbn) QL hwn 2040 20 40.8
33691162/1164 jwpnpwnnp wgrputynyabp (nbwgbtinlibn) 4L hwn 4600 20 92.0
33691162/1165 |wpnpwwnnp wgnuwynyship (nbwgbtntbn) 9L hwn 1150 100 115.0
33691162/1166 |wpnpwwnnp wgnwnysbp (nbwgbntbp) 9L huwin 2800 35 98.0
33691162/1167 |wpnpwinnp wgnwniebp (hbwgblintbn) QL huwtn 12000 30 360.0
33691162/1168 |wpnpwiwnnp wgnwtynyebp (nbwgbtinubp) G< hwwn 67000 10 670.0
33691162/1169 jwpnpwwnnp wgnwynyebn (nbwgblnlbn) QL huwin 6600 2 13.2
33691162/1170 |wphpwwnnp wgnwiniebp (nbwgblnubp) QL hutn 21000 2 42.0
336911621171 {wpnpwinnp wywynyabp (nbwgblnubp) G hwin 30000 2 60.0
336911621172 Jwpnpwinnp wgnwuniehp (nbwgbunubn) QL huin 15600 2 31.2
33691162/1173 {wpnpwinnp wgnwuniphp (nbwgbunubn) G< hwwn 35000 2 70.0
33691162/1174 |wpnpwinhp wgnwunyestp (nbwgbUnubn) QL hwwn 22800 2 45.6
33691162/1175 |\wpnpwinnp wgnwuniphp (nbwgbuntp) G< hiuwn 57000 2 114.0
33691162/1176 |wpnpwiinnp wgnuuniehp (nbwgbunubn) L hwin 47000 2 94.0
33691162/1177 {wpnpwitnnp wognwupnphp (nbwgblnubp) QL hwn 18000 2 36.0
33691162/1178 {wpnpwinnp wgnwuniphp (nbwgbunubpn) QL hwn 48000 2 96.0
33691162/1179 {wpnpwitnnp wgnwuniphp (nbwgbunubn) Q< hwn 34800 2 69.6
33691162/1180 jwpnpwinnp wanuniplp (nbughblnltn) q< huwin 33000 2 66.0
33691162/1181 {wpnpwinnp wanwniehbp (nbwgbunubn) 9L hwn 97000 2 194.0
33691162/1182 Jwpnpwinnp wgnwunehp (nbwgblnubn) QL hwwn 2 0.0
33691162/1183 {wpnpwinnp wgnwuniphp (ntwgblnutng L hwn 20000 2 40.0
33691162/1184 |wpnpwnnp wgnwinystp (nbwgbunubp) Q<L hwun 21600 2 43.2
33691162/1185 Jwpnpwnnp wagnwuniehp (nbwgbnubn) QL hwwn 24000 2 48.0
33691420/669 |wpnpwinnp wanwunipbp (nbwgbnutp) puqdwindwnubun Q< [nuwljwgd 326000 :g at 343 0
1210000 20 24200.0
33691420/670 |wpnpwinnp wanwniptn (nbwgbtnutn) pugiuindunutun < [nwljugy 70 0.0
33691420/671 |wpnpwwnnp warwiynyetip (nBwgblntbp) puquwlyndynubun < Inuiljuigy 215000 8 1720.0
33691420/672 |wpnpwwnnp wanwnyebn (nGwgblinbp) pugqdwyndwynubln < [nwlwqy 151200 4 604.8
33691420/673 Lwpnpuwunnp warwbyniebp (nbwgblnlibn) puquwndynubun 9L Pwlwqd 363000 1 363.0
33691420/674 |wpnpuwinnp warpwbyniebip (nbwgbunubn) puquwlndynubun E1S (nwljwgd 175998 1 176.0
33691420/675 |wpnpwinnp warpwynipbp (nbwgbunubp) puquiwlndyntbitin QL (g 157998 1 158.0
33691420/676 |wpnpwinnp wgnuitpnipbp (nhwgbinubp) pugdwlndwntibiun L nwljwqd 85999 4 344.0
33691421/522 |wpnpwinnp wgnwynysbp (nbwgbiintbip) hbnny L |punp 0.5 0.0
33691422/568 \wpnpwnnp wgrwbyniebp (nbwgbnubn) tingh Yud gpuuniubip qL Uhingpwd 0.5 0.0
33691422/569 |wpnpwinnp wanutyniebn (nbwgbinubn tingh Ywd gpuwunyutip q< Yhnapuwd 1200000 0.1 120.0
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33691422/570 Jwphpwinnp wanwuniebp (nbwgbinubp) tngh ud gputingubp q< Yhingnuad 1140000 0.1 114.0
33141211/690 pdolwiliuls wy gnpdhpubip — wwpuwqutibin QL huwn 246000 8 1968.0
33141211/691 pdolwiljw wy gnpdhpubip — wWwpwquubp L hwn 110300 4 441.2
33141211/692 pdoluwiljwi wy gnpdhpubip — wWwpwgubn 4L hwn 6100 60 366.0
33141211/693 pdoljuilwi wy gnpdhpubip — wWwpwgqubn QL huwin 57100 2 114.2
33141211/694 pdowliwt wy gnpdhplbp — wwpwgquilbn S< hwwn 2500 4 10.0
33141211/695 pdoluljwl wy gnpdhplbip — Wwpwqutibip 9L hwn 1000000 1 1000.0
33141211/697 pdlwlwt wy gnpéhpubp — Wwpwquwubp < hwn 960000 2 1920.0
33141211/698 pdaoljwljwt wy gnpéhplbp — wwpwqubp QL hwwn 246000 6 1476.0
33141211/699 pdolwilwi w) gnpdhpubip — wwpwguubp 4L hwin 1195000 2 2390.0
33141223/534 pdaljwlwt wy gnpdhpubin — wwpwqwbn puguulyndwntbun Qg Inwluqu 44600 6 267.6
33141223/535 pdaluilyuwt wy gnpdhpubip — wwpwqwbp pugqdwyndwnubun G< [nwluigu 33300 12 399.6
33141223/536 pdolwljwt wy gnpdhpubin — wwpwqwbp pugiwyndynublon G Inwlwgu 648300 4 2593.2
33691162/1186 jwpnpwinnp wgnwuniphp (nbwgbunubp) QL hwin 19875 28 556.5
33691162/1187 wpnpuinnp wgnwnyebp (nbwgblwnutp) 4L hwin 7540 75 565.5
33691162/1188 |wpnpwitnnp wanwuniphp (nbwgblnubp) 9L hwn 13846 65 900.0
33691162/1189 |wpnpuinnp wgnwniphbp (nbwgbunubn) QL huin 17143 70 1200.0
33691162/1190 |wpnpwinnp wgnwtniehp (nbwgbunubp) 9L hwwn 14200 60 852.0
33691162/1191 [wpnpuinnp wgnwnyebp (nbwgbunubp) L huin 16800 50 840.0
33691162/1192 |wpnpwnnp wgnuunyetp (nbwgbuwntbn) QL hwn 13875 40 555.0
33691162/1193 |wpnpwwnnp wgnwinyzbp (nbwgbunubip) Q<L huwn 18750 12 225.0
33691162/1194 (wpnpwwnp wanwnipbp (nbwgbwnubp) QL hwn 15800 60 948.0
33691162/1195 jwpnpwwnnp wgnwtyniebp (nbwgbunubp) QL hwwn 15800 60 948.0
33691162/1196 |wpnpwwnp wanwiynyabp (nbwgblntbip) < hwn 20182 55 1110.0
33691162/1197 jwpnpwinnp wgrpwtynyatip (nbwgbtnubp) < hwn 32000 3 96.0
33691162/1198 |wpnpuwinnp wgnuiynyetip (nbwgbiuntbp) QL hwwn 14357 7 100.5
33691162/1199 |wpnpuwitnnp wgnuitynipbp (nbwgblntbp) 9L hwwn 347 18 565.5
33691162/1200 |wpnpwwnnp wanwynyabp (nbwgblntbn) L hwwn 139113 75 10433.5
33691162/1201 |wpnpuinnp wanwynyebp (nbwgbtntbp) L hwwn 11645 55 640.5
33691162/1202 jwpnpwnnp wgrutynyabn (nbwgbtnlibn) < hwwn 46900 55 2579.5
33691162/1203 |wpnpwwnnp wgnwynipbp (nbwgbnlbp) QL hwin 15000 10 150.0
33691162/1204 |wpnpwwnnp wgnwynipbp (nbwgblntbp) < hwwn 93900 6 563.4
33691162/1205 |wpnpuinnp wanwunyebp (nbwgbUnbn) L hwn 14675 60 880.5
33691162/1206 {wpnpwiwnnp wgnwnystip (nbwgbunubp) 9L hwwn 5308 65 345.0
33691162/1207 |{wpnpwwnnp wqrwynyatip (nbwgblnubp) qL hwwn 13333 45 600.0
33691162/1208 |wpnpwinnp wgnwniehp (nBwgblnubp) QL huwin 27300 70 1911.0
33691162/1209 |wpnpwnnp wgnwniehbp (nbwgblnubp) 9L huin 8375 12 100.5
33691162/1210 |wpnpwnnp wanwunipbp (nbwgblnlbn) 9L huwn 40000 5 200.0
33691162/1211 |wpnpwinnp wgnwuniphp (nbwgblnlbn) 4L huwn 27500 8 220.0
33691162/1212 |wpnpwnnp wanwunipbp (nbwgblnbn) G< huin 26700 15 400.5
33691162/1213 |wphpuinnp wanwuniphbp (nbwgbtnubp) 9L huwin 15750 2 31.5
33691162/1214 jwphpwinnp wgnwuniehp (nbwgbunubn) QL huwin 25875 2 51.8
33691162/1215 |wphpwinnp wanwuniphbp (nbwgblnubn) QL huwun 20500 7 143.5
33691162/1216 |wpnpuwiinnn wagnwnuetin (nbwgbunubp) Q<L huiwn 18370 15 275.6
33691162/1217 jwpnpwinnp wanwuniphp (nbwgblnubn) gL huwin 10125 4 40.5
33691162/1218 |wpnpwiinnp wgnwuniehp (nbwgbUnubn) QL huin 43600 3 130.8
33691162/1219 {wpnpwinnp wagnwuniphp (nbwgbnutn) QL huwin 77400 1 77.4
33691162/1220 jwpnpwwnnp wqnuiynyebp (nbwgblnubp) Q< hwin 50500 4 202.0
33691162/1221 (wpnpwnnp wanwynyebp (nbwgbiinubp) < hwn 40100 6 240.6
33691162/1222 wpnpwnnp wgrpwtynyabn (nbwgblnubp) QL hwn 133100 6 798.6
33691162/1223 |wpnpwnnp wanwiyniehp (nbwablnubp) Q< hwwn 263400 6 1580.4
33691162/1224 |wpnpwnnp wgnwtynysbp (nbwgbuwnubip) QL hwun 329400 6 1976.4
33691162/1225 |wpnpwinnp wgnwiynpbp (nbwgbnubp) QL hwn 159900 16 2558.4
33691162/1226 |wpnpuwinnp wgnwiynyebp (nbwgbuwntbp) < hwn 138600 8 1108.8
33691162/1227 (wpnpwwnnp wgrnuwtynyebp (nbwgblntbp) <L hwn 120800 8 966.4
33691162/1228 |wpnpwwnnp wgrutgnystp (nbwgbunubn) L hwtn 124400 8 995.2
33691162/1229 |wpnpwinnp wanuwyniabp (nbwgbunubp) L hwwn 172400 72 12412.8
33691162/1230 |wpnpwnnp wgnuwiynipbp (nbwgblnlbp) L huwin 15100 6 90.6
33691162/1231 |wpnpwwnnp wanwynypbp (nbwgblnlbp) QL hwwn 24720 2 49.4
33691162/1232 |wpnpwinnp wgnwtynipbp (nbwgbntbn) < hwin 22500 2 45.0
33691162/1233 |wpnpwinnp wgnuwtynysbip (nbwgblnlbn) Q<L hwn 41550 10 415.5
33691162/1234 |wpnpwinnp wgnwiynuyatp (nbwgbunlbp) G4 hwwn 66000 5 330.0
33691162/1235 |wpnpwnnp wgnwnpkp (nbwgblnbn) qL hwun 38000 15 570.0
33691162/1236 jwpnpuwiwnnp wgrnwnyatip (nbwgbkunubp) QL hwiwn 67000 1 67.0
33691162/1237 |wpnpwinnp wgnwniehp (nbwgblnubp) 9L huwin 115000 4 460.0
33691162/1238 Jwpnpwinnp werwnyetp (nbwgblnubp) L hwin 73000 8 584.0
33691162/1239 \wpnpwinnp wqnuuniehp (nbwgblnubn) < huin 250000 50 12500.0
33691162/1240 jwpnpwnnp wenwunypbp (nbwgblnubpn) 9L huin 100000 1 100.0
33691162/1241 |wpnpwinnp wanwuniphp (nbwgbunutn) L hwin 58000 3 174.0
33691162/1242 (wpnpwnnp wgnwinyebp (nbwgbunubp) QL hwwn 58000 10 580.0
33691162/1244 {wpnpwinnp wgnwniphp (nbwgbnubng QL hwn 27000 8 216.0
33691162/1245 {wpnpwnnp wgnwniehbp (nbwgblnutng QL hun 40000 5 200.0
33691162/1246 |wpnpwinnp wgnwuniehp (ntwgblnubn) Q< hwin 103000 2 206.0
33691162/1247 {wpnpwnnp wgnwuniehbp (nbwgbiinutng Q< hwn 29000 12 348.0
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33691162/1248 |\wpnpwnnp wgnwuniphp (nbwgblnutn) QL huutn 18000 40 720.0
33691162/1249 {wpnpwnnp wgnwuniphn (ntwgblnutn) Q< hwn 18000 40 720.0
33691162/1250 {wpnpwwnnp wgnwnipbp (nbwgbtnubn) Q< hwn 86000 4 344.0
33691162/1251 |{wpnpwinnp wgnwuniehp (ntwgblnutn) QL hwn 53000 7 371.0
33691162/1252 {wpnpwwnnp wgnuwynebp (nbwgbunubn) QL hwin 77000 9 693.0
33691162/1253 {wpnpwinnp wgnwuniphp (ntwgblnutng Q< hwn 40000 9 360.0
33691162/1254 |wpnpwinnp wgnwgniabn (nbwgbuntitin) 9L hwtn 20000 15 300.0
33691162/1255 {wpnpwnnp wanwiynyebp (nbwgbnutp) GL huwin 21000 6 126.0
33691162/1256 |wpnpuwwnnp wgnwiynysbp (nbwgbuntbp) Q<L hwn 165000 3 495.0
33691162/1257 |wpnpwinnp wgnwynipbp (nbwgbunubp) Q< hwn 89000 3 267.0
33691162/1258 [wpnpwinnp wqrbjniebp (nbwgbnutp) gL hwin 21000 4 84.0

33691162/1259 |wpnpuwwnnp wanuwtynyabip (nbwgbinlbp) Q< huwn 36000 1 36.0

33691162/1260 |wpnpwwnnp wanwiynyebn (nbwgblnubp) QL huwwn 67000 1 67.0

33691162/1261 jwpnpwnnp wqnuwiyniebp (nbwgblntbp) G hwn 157000 2 314.0
33691162/1262 |wpnpwnnp wanwynyehp (nbwgbunubp) Q<L hwun 170000 1 170.0
33691162/1263 (wpnpwwnnp wgutynebp (nbwgblntibp) Q<L hwin 22500 1 22.5

33691162/1264 |wpnpwinnp wgnwiynyatbp (nbwgbtnubp) 9L hwn 40000 1 40.0

33691162/1265 (wpnpwwnnp wanuwnyebip (nbwgbtnubp) Q< hwin 131000 1 131.0

33691162/1266 jwpnpwnnp wanwiyniphp (nbwgbuntibip) 9L hwtn 11000 15 165.0
33691162/1267 |wpnpwnnp wanwtynipbp (nbwgbntbp) L hwin 43000 2 86.0

33691162/1268 |wpnpwinnp wgnwtynyebp (nbwgbtunubp) < hwin 20000 60 1200.0
33691162/1269 |wpnpwwnnp wgnwnipbp (nbwgbtnbp) < hwwn 4000 60 240.0
33691162/1270 |wpnpuwwnnp wanwnipbp (nbwgblnbn) L hwwn 6000 5 30.0

33691162/1271 jwipnpwwnnn wgrwtynyatip (nBwgbnlibn) QL hwun 8000 2 16.0

33691162/1272 |wpnpuinnp wgnwtnipbp (nbugbUnbn) &< hwun 17000 35 595.0
33691162/1273 |wpnpwinnp wgnuiynipbp (nbwgblnbp) L hwn 277000 1 277.0
33691420/677 {wpnpwiwnnp wanwnipbp (nbwgbtnubp) puqdwyndwnubun qg [Pwlgd 44100 1 44.1

33691420/678 |wpnpwinnp wanwuniebn (nGwgbunubn) puqiwlyndwynubUn &< (nwiljugy 21400 4 85.6

33691420/679 \wpnpwitnnp wgnwuniehp (nbwgbunutn) pwquwndwnubUn Q< (g 47800 6 286.8
33691420/680 |wpnpwinnp warutynphbp (nbwgbunubp) puqiwlndwnttiin QL Inwlug 42500 12 510.0
33691420/681 (wpnpwunp warputyniebn (nbwgblnttip) pugdwlndynubiun < (Nl 21700 6 130.2
33691420/682 |wpnpwwnnp warutynietip (nBwgbunttip) pugiwlyndynubun Q< Inwluqu 114900 8 919.2
33691420/683 |wpnpwwnp warwtynebp (nbwgbntiin) puguulndynubun q< (nwlwqd 46875 4 187.5
33691420/684 |wpnpwwnnp wanwiynieptp (nbwgbunbbn) pugquwyndynubun q< Inwlgy 185200 8 1481.6
33691420/685 |wpnpwwnnp warwbnetp (nbwgbuntibp) puguuyndynuBun 9< [nwlwuqy 185200 8 1481.6
33691420/686 (wpnpuwwnp warpwtyniepbp (nbwgblinlip) pugquulndynubun < Inwlgy 37500 8 300.0
33691420/687 (wpnpwnnp warwtynipbp (nbwgbuntbn) pugudwlndynubun QL nwlwgd 19568 22 430.5
33691420/688 wpnpwnnp wanwlyniebp (nbwgblnlibp) pugqiwlndwnubtn QL [nwljuqu 35250 2 70.5

33691420/689 Jwphpwinnp wgnwuniebp (nbwgblnubn) pugquwlndwnubln QL nwljwqy 270000 5 1350.0
33691420/690 |wpnpwinnp wgnwunipbp (nbwgbunutn) puquwlndwnutun Q< Inuljuqu 22500 5 12.5

33691420/691 (wpnpwinnp warwynipbp (nbwgbuntbin) puqdwlndwnubn B 1S (pwljuqu 57300 3 171.9

33691420/692 |wpnpwinnp wanwbynipbp (nbwgbunubn) puqiwlndwnutiun Q<L (nwljuwqd 50600 3 151.8
33691420/693 (wpnpwnnp wgnwlnuehp (nbwgbunubp) pwqiwlndwnubun Qg [nwluugd 50600 3 151.8
33691420/694 |wpnpwwnnp wgnuwnpbn (nbwgbunutp) puqdwlnduntbiun 9L (gl 65600 40 2624.0
33691420/695 |WpnpWnnp wanwiynietp (nbwgbtntip) puqiwlndwnubun < nwljuqd 72500 3 217.5
33691420/696 (wpnpwwnnp warwtyngetip (nbwgblnlbin) pugqiwlndynubun Q< Inwlwqy 72500 3 17.5
33691420/697 (wpnpwwnnp wanwtyniyabip (nbwgbtntbn) puqiwlndwntbbn < Inwlwqu 72500 3 17.5
33691420/698 |wpnpwininp wqnwnyebp (hbwgbnubn) pwquwlndwnbbln Qg Inwlwgd 52100 4 208.4
33691420/699 |wpnpwwnp warwbyniepbp (nbwgblnlbn) pugquwyndwnubun q< [nwluqy 67500 2 135.0
33141211700 pdolwlwt wy gnpéhpubin — wwpuwgqubp GL huwitn 44000 1 44.0

33141211/701 pdolwljwt wy gnpdhpubp — wwpuwgquitibp QL huwiwn 261 1000 261.0
33141211/702 pdolwlwt wy gnpéhplbip — wwpwgqubp Q£ hwin 21000 20 420.0
33141223/537 pdolywlwt wy gnpdhplbn — wwpwqubn puquwindwnubun QL [nwljugd 45600 40 1824.0
33141223/538 pdalwiljwt wy gnpdhplbin — wwpwgqubp puquulndwnubun < (nwljugd 46300 20 926.0
33141223/539 pdolwljwl wy) gnpdhplbn — wwpwgwbp puqdwlndwntbiun 9L [nwluqd 24400 2 48.8
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33691160/559 phuhwlwl wonwlnebn (nbwgblwnutbn) L hwin 111600 40 4464.0
33691160/560 phuhwljwu wgnuwniptp (nbwgbluntbp) Q<L hwn 79200 40 3168.0
33691160/561 phipwlwl wanwlniptip (nbwgbunttip) 9< hwwn 252000 40 10080.0
33691160/562 phuhuwiljwy wgnuwnipbp (nbwgblnttip) QL hwwn 131400 40 5256.0
33691160/563 phuhwlwl wgnwbnyabn (nbwgblnltp) Q<L hwn 67500 2 135.0
33691160/564 phuhwlwl wonwlniyebp (nbwgblnltp) QL huwtn 67500 2 135.0
33691160/565 phuhwlw wgnwlnyetip (nbwgblwnubp) < hwwn 283500 25 7087.5
33691160/566 phuhwlwl wgnwynystp (nbwgbtnubp) 9L hwin 96300 2 192.6
33691160/567 phuhlwt wqnuwniptp (hbwgbunubp) Q<L hwn 96300 2 192.6
33691160/568 phuhwlwu wgnuwuniptp (nbwgblnlbn) < hwwn 238400 2 478.8
33691160/569 phuhwlwl wgnwnyetn (nbwgbUwnutn) 9L hwwn 490000 10 4900.0
33691160/570 phuhwlwt wgnwiynystip (nbwgblnttn) QL hwwn 75000 2 150.0
33691160/571 phuhwlwl wgnwlnyabn (nbwgbUwnubn) L huwin 75000 2 150.0
33691162/1274 Jwpnpwinnp wgnwuniphp (nbwgbinubn) Q<L hwn 64320 60 3859.2
33691162/1275 |Jwpnpwinnp wgnwupniphbp (nbwgblnubn) 9L huwin 46000 2 92.0
33691162/1276 jwpnpwnnp wgnuwyniphp (nfwgEuwnubip) SL hwin 55200 60 3312.0
33691162/1277 Jwpnpwinnp wgnwuynyebp (nbwgbtnubp) QL huwin 43600 2 87.2
33691162/1278 |wpnpuwitnnp wgnwujniyelp (nbwgbuwnubp) QL huwin 118800 60 7128.0
33691162/1279 |wpnpwinnp wgnwnyatp (nbwgbUwnubn) < hwin 121280 2 242.6
33691162/1280 (wpnpwinnp wgnwbnystip (nbwgbunbp) 9 hiuwn 92950 60 5577.0
33691162/1281 \wpnpwiinnp wanwniehp (nbwgblnutbng QL hwun 58240 2 116.5
33691162/1282 jwpnpwnnp warputynyatip (nbwgblnubp) Q<L hwin 69800 12 837.6
33691162/1283 |wpnpuwunp wgnwiynystip (nbwagbunubp) 9L hun 24000 3 72.0
33691162/1284 Jwpnpwunp wgrutynyatp (nbwgbunubp) < hwn 98500 8 788.0
33691162/1285 |wpnpwnnp wanwngebn (nbwgblnubn) Q<L hwn 25600 2 51.2
33691162/1286 |wpnpwinnp wgnwiynyatin (nbwgblnmubp) Q<L huwn 84000 3 252.0
33691162/1287 |Wwpnpwnnp wanwinyebn (nbwgblwnubn) QL huwin 56560 2 13.1
33691162/1288 |wpnpwwnnp wanwtnpbn (nbwgblwnbbn) Q<L huwn 84000 3 252.0
33691162/1309 jwpnpwinnp wgwtynyatin (nbwgblnubp) 9L hwn 53040 2 106.1
33691162/1310 Jwpnpwnnp wgnuwunetn (ntwgbtnttbng 9L hwin 71680 40 2867.2
33691162/1311 [wpnpuiwnnp wgnwnyebip (nbwgbiunutip) 9L hiutn 24850 3 74.6
33691162/1312 wpnpwuwnnp wanwtynystin (nbwgbunubn) < hwtn 49840 2 99.7
33691162/1313 |wpnpwwnnp waruwtgnyetip (nbwgbunubn) 9L hwn 24300 2 48.6
33691162/1314 |wpnpwwnnp wgruwtnyatn (nbwgblnubn) 9L hwiwn 70800 & 141.6
33691162/1315 jwpnpwinnp wanwnyebin (nbwagbunutip) 9L hwiwn 24300 2 48.6
33691162/1316 Jwpnpuwwnnp wanutnietip (nbwgbunbn) Q< hwn 66880 3 200.6
33691162/1317 |wpnpwuinnp wgnwinystin (nbwgblnubn) Q< hwwn 23680 2 47.4
33691162/1318 |wpnpwuinnp wanwtnphbn (nbwgblunubn) 9L hwwn 46800 8 374.4
33691162/1319 |wpnpwwnnp wynuwiynuyabn (hbwgbtinlibp) qL hwn 24600 2 49.2
33691162/1320 |wpnpwwnnp wgruwitynpbp (nbwgbtintibp) qL hwn 54240 2 108.5
33691162/1321 |wpnpwnnp wanuwynabp (nbwgbtunlibp) L hwin 24600 2 49.2
33691162/1322 |wipnpwwnn wgnwtniptn (hbwgblnbn) L huwiwn 14240 2 28.5
33691162/1323 |wpnpwwnnp wgnuwtnyebip (nbwgblinbn) 9L huwtn 5400 15 81.0
33691162/1324 |wpnpwnnp wgrwtgnebn (nBwgbtuntibp) GL hwin 225000 8 1800.0
33691162/1325 |wpnpwwnnp wgnwujnipbp (nbwgbtnlbp) 9L hwwn 26500 2 53.0
33691162/1326 |wpnpuwwnnp wgnwniphp (nBwgblnubn) 9L hwwn 59760 2 119.5
33691162/1327 |wphpwwnnp wgnwnipbp (nbwgbtintbn) SGL huwitn 349200 b 1746.0
33691162/1328 |wpnpuithnp wgnwunyetp (nBwgbunlbp) qL hwin 36800 6 220.8
33691162/1329 jwpnpuinnp wrwtngebn (nbwgbtntbn) G< huwn 81440 3 244.3
33691162/1330 |wpnpwwnnp wgnwunipbp (nbwgblnubp) GL hwwn 24800 2 49.6
33691162/1331 |wpnpwinnp wgnuuniebp (nEwgblnbn) QL hww 25280 2 50.6
33691162/1332 |wpnpwnnp wgnwlnipkp (nbwgblnubp) QL hwwn 216554 20 43311
33691162/1333 |wpnpuwiinnp wgnwnyabp (nbwgbunbp) GL hwwn 264410 20 5288.2
33691162/1334 |wpnpwinnp wgnwunipbp (nbwgbunubn) QL hwwn 357000 20 7140.0
33691162/1335 Jwipnpuwinnp warwbynisbp (nbwgblinlbn) < huwwn 239198 20 4784.0
33691400/563 phihwlwu wqnwunpbp (nbwgbunubn) puqiulnduynubiun ag Inwlwgd 96300 2 192.6
33691400/564 phihwlwy wanwunpbn (nbwgblnubn) puqiulndwynutiun G nulwgd 96300 2 192.6
33691400/565 phipwlwu wqnwuniebp (nbwgbunutn) puqdulnduynutun QL Inwlwiqu 108000 2 216.0
33691400/566 phihwlwt wgnwunyatip (nbwgbunubn) pugdwindunubun 4< [nwlwqd 96300 2 192.6
33691400/567 phuihwlwl wgnwynebp (nbwgbuntbp) puqiwlndwnlbun Qg Inwiljuqu 121500 2 243.0
33691400/568 phihwywu wanwynyebp (nbwgbunibn) pugquulndunubun 4L (nuiluqd 121500 2 243.0
33691400/569 phupwlywt warnwiympetp (nbwgbktnbibin) pugqduyndynubun Q<L [nwluqd 106200 12 1274.4
33691400/570 phupwlywt warwiymptp (nbwgbunlbp) puguwyndynubun 9 nwiljugqd 45630 12 547.6
33691400/571 phuhuwljwu wgnwuniebn (nbwgblnlbp) pugquwiyndwynubun Q< Inwywqy 139500 25 3487.5
33691400/572 phuhwljwt wgnwuniyebn (nbwgblntubp) pugdwlndwnubun Qg Inwlwqy 50000 6 300.0
33691400/573 phupwlwt warpwymipbp (nbwgbunubn) puquwyndynutun QL Inwluqy 95400 25 2385.0
33691420/700 |wpnpwnnp warputyniebp (nbwgbUntbp) pwqiwlndunubun q< nuwljgy 26800 40 1072.0
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33691420/701 |wpnpwwnnp warwtynyebn (nbwgbtnubn) pwgiwyndwnubn q< Inwlugd 26800 40 1072.0
33691420/702 |wpnpwnnp wqrwtynyabin (nbwgbtunubp) puqiwyndynubun < nwljugqd 17120 1 17.1
33691420/703 |wpnpwwnnp wqnuniebp (nbwgblnbbn) pugdwlyndwynublun q< [nwiljwgd 59760 2 119.5
33691420/704 [wpnpwnnp wanuwyniabp (nbwgbbnbbn) puqiwlndunubun 9< nwlway 174640 2 349.3
33691420/705 |wpnpwwnp warwiynyetip (nbwgbtntbp) puqdwlndynubn < [nwyqu 119520 2 239.0
33141211/703 pdolwluwits wy) gnpdhpubip — wWwpwgwbip <L hwitn 80000 1 80.0
33141211/704 pealjulwl wy gnpdhpubip — wwpwgwbn 9L hwun 1230000 1 1230.0
33141211/705 pdoljwljwt wy gnpdhpubip — wwpwgwbn < hwtn 215000 1 215.0
33141211/706 pdalwlwt wy gnpdhpubip — wwpwqwbp 9L huwin 215000 1 215.0
33141211/707 pdolwlw wy gnpdhplbip — wwpwgwubp L hwin 90000 1 90.0
33141211/708 pdoljwljwt wyj gnpdhpubip — wwpwgwbp QL hwtn 69000 1 69.0
33141211/709 pdolwlwu w) gnpdhpubp — wwpwgwbp GL hwin 13000 1 13.0
33141223/540 pdolwlwt wy) gnpdhplbin — wwnpwqwubn pwqwyndyntbn G< gy 960000 18 17280.0
33141223/541 pdoljuljwt wy| gnpdhpubip — wwpwaqubtp puqdwlndunubun GL [nwiljqu 103122 2 206.2
33141223/542 pdzlwlwt wy) gnpdhpubip - wwpwquwubn pugdwlndwntbun q< Inwljqu 108528 2 217.1
33141223/544 pdolwlwl wy gnpdhpubp — wwpwqwubp puqiuyndynubun < Inwiljwigd 60000 2 120.0
33691162/1336 jwpnpwwninp wanuwtynyebn (nbwgblnubp) 9L hwwn 38000 3 114.0
33691162/1337 |wpnpuwinnp Wwgnwnysbp (nbwgblnlbp) L hwwn 87700 1 87.7
33691162/1338 |wpnpwinnn wgnwtnystin (nbwgblnubn) QL hwiwn 24000 1 24.0
33691400/574 phihwlwl wanwunpbp (nbwgbunubp) puqiwlndwnutiun 9L Inwilugd 190000 3 570.0
33691400/575 phihwlwl wnwimpetn (nbwgbunubp) puqiulndunutitn 9L Inuilwgd 95000 3 285.0
33691400/576 phihwlwu wgnwyunyebp (nbwgbunubn) pwgduwynduynubun q< (nwlwgd 7400 E: 107'2
33691400/577 huhwluit uynupbin (nbiwghtintibn) pugquwlndyntbl q< uqu 4 o
phuhwlwl wgnwujny nhiwghuwn wquwlndunubln wlw
qrujnipan n) pugq! W n q 37200 ] 372
33691400/578 phupwlwt wonwiympbp (nbwgbktntbp) pugqiuyndynubun QL (g 8 0.0
33691400/579 phupwlwt worwtympbp (nbwgbkuntibin) pugquuyndynubun Q< (nwbjugud 115000 4 460.0
33691400/580 phihwlwt wanwtyniptin (nEwgbntbn) pugqduyndynubun 4L (nwljwqd 1 0.0
3 0.0
33691400/581 phihwywu warnwnyetn (ntwgbnubp) puqduiyndynubin Q< wljugud
53000 1 53.0
33691400/582 phuhwwl wqnuwiynpbp (nbwgbtnibn) pugdwlndwnubunm Q< |nwygd 1 0.0
33691400/583 phupwlwt wonwiymptp (nbwgbkunbbp) pugduyndynubun q< (nwlwgd 1 0.0
33691400/584 phihwlwt wgnuwiynyetin (nbwgbunubn) pugqiwlyndynubln QL [nwluqd 10 0.0
33691400/585 phuhwlwl wgnwnepbp (nbwgbunbbn) pugdwlndwnubun QL [nwiljuqd 446000 4 1784.0
33691400/586 phuhwlwl wgnuiynyetip (nEwgbbntbn) pugiwlyndwnubun Q<L [Nl 189000 1 189.0
33691400/587 phupwlwu wqnwuynyebp (nbwgbnlbn) pwgdwlndwnubun QL [nwiljuqd 145000 1 145.0
33691400/588 phupwlywt warwiynetp (nbwgbunlbp) pugquuyndynubun QL [nwluqu 145000 1 145.0
33691400/589 phuhwljw wgnuwtynyetin (nbwgbtnibn) pugquwlndwnubum 9< nwiljuigd 1 0.0
33691400/590 phupwlwt warwbynipbp (nbwgbunlbp) puguiwyndwnubun QL [nwljwqu 141000 1 141.0
33691400/591 phuihwljwt wgnwuniebn (nbwgbbnubn) pugqdwyndynubiun Q< [nwljwqd 150000 1 150.0
33691400/592 phupwlwy wonwuniebn (nbwgbUnubn) puqiwynduynubun q< Inwljwuqu 205000 1 205.0
33691400/593 phupwlwl warpwynpbp (nhwgbunubn) puqdwlndwnttiun 9< (nwlwqu 180000 1 180.0
33691400/594 phupwlwl wanwunepbp (nhwgbnubp) puqdwlnduntbun q< \nwlwqd 341000 10 3410.0
33691400/595 phihwlwt wgrnwunyetip (nbwgbunutn) puqdwndyntbun 9L [nwljwgd 290000 2 580.0
33691400/596 phipwlwt wqnwiynpbp (nbwgbUunubn) puqdwlndunubn 9L Inwluqu 33800 50 1690.0
33691400/597 phipwlwu wgnwunyebn (nbwgbunutn) puqiuyndwnubun q< [wlugd 32500 2 65.0
33691400/598 phipwlwu wqnwimptbp (nbwgbunutn) puqiuiniynutbn < [Pwilywigu 88000 2 176.0
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33691400/599 phdpwlwt wnwniephbp (nbwgbtntbn) puquwyndynubln 94 [l 32500 2 65.0
33691423/502 |wpnpwnnp wgnuwtynipbp (nbwgblnbp) pugqdwlynduyntbln Qg nwiljuqd 36852 14 515.9
33691423/503 |wpnpuwinnp wqnuitynipbp (nbwgbunubn) puqdwyndynubn < Inwlwuqy 40935 16 655.0
33691423/504 |WpRpwnnp warwyniabip (nbwgbtntbp) puqiwinduntbln 9< (nwljwqd 71400 20 1428.0
33691423/505 |Wpnpwnnp wqnuwtynyebp (nbwgblnubp) pugqdwynduntbun < Inwlwqy 91188 18 1641.4
33691423/506 (wpnpwwnp wgrwtynyetin (nbwgbtinubn) pugdwiynduntbtin QL [nwiljugy 76500 24 1836.0
33691423/507 [wpnpwwnnp wanwignyebp (nbwgblnubn) pugdwyndynubun L& Inwlwqu 121992 24 2927.8
33691423/508 |wpnpwinnp wanubnphp (nbwgbunubn) puqiwlndwnttbiun Q<L [nwluqy 44000 2 88.0
33691423/509 |wpnpwinnp wgnwuniptn (ntwqbnutn) puqiuwlndunubitn Q< [nuwljugd 30000 5 150.0
33691423/510 (wpnpwnnp wanwinysbp (nbwgktnutn) pwgdwlndwntibun 9£ (nwbuqy 255000 7 1785.0
33691423/511 |wpnpwwnnp wanwiynyebn (nbwgbtinubn) pugqiwyndunubun q< [nwiljuqd 140000 7 980.0
33691423/512 |wpnpwwnnp wgnwiynyebn (nbwgbtinubn) puqdwyndwnubn < [nwlwqd 140000 5 700.0
33691423/513 |wipnpwinnp wanwtynyebip (nbwgbintbn) pugqdwlyndwynubln < Inwlwgy 85000 3 255.0
33691423/514 |wpnpwwnnp wanwynyetin (nEwgbtuintbp) puqduyndwnubun q< (nwlwuqd 265000 3 795.0
33691423/515 |wpnpuwwnnp wanwtynipbp (nbwgbtnbbn) puwqdwlyndwnubln G< Inwlwgy 260000 16 4160.0
33691423/516 |wpnpwwnnp wanuwtynpbp (nbwgbtntbn) puqdwyndwynubun 9L Inwlwqy 189000 24 4536.0
33691423/517 |wpnpwnnp wanwtgnyebp (nbwgbtnubn) puqdwyndwynubun 9L Inwiljugd 345000 8 2760.0
33691423/518 |wpnpwwnnp wqnutgnyebp (nbwgblnubn) pugqdwyndwynubUn QL (nwlugd 85000 3 255.0
33691423/519 |wpnpwnnp wanwniebp (nbwgbunubn) puquwyndwynutun QL Inwljuqu 590000 5 2950.0
33691423/520 |wpnpwinnp wanwunipbp (nbwgbnubn) puquwyndwnutun QL Inwlwigud 93000 3 279.0
33691423/521 (wpnpwinnp worpwynipbp (nbwgbunlbp) puquwndynubin G [nwluugd 150000 4 600.0
33691423/522 (wpnpwnnp warwgniebp (nbwgbunubp) puqiwlndwnttiun G (nwiljgd 627000 20 12540.0
33691423/523 |wpnpwinnp warwbnpbp (nbwgbnubn) puqiwlndyntibin QL (nwljuqd 300000 4 1200.0
33691423/524 |wpnpwinnp warpunipbp (nhwgbunubp) puqdwlndwnttiun QL [nwlugd 258000 6 1548.0
33691423/525 lwpnpwinhp warubniebp (nbwgbunubn) puqiwlndwnttiun Qg [nwlugd 890000 4 3560.0
33691423/526 |wenpwnnp wanwtynyebp (nhwgbunubp) puqdwlnduyntbun QL (gl 445000 5 2225.0
33691423/527 |\wpnpwnnp warputynebp (nbwgbtnubp) puqdwlndwyntbiin 9L [nwljuqd 225000 1 225.0
33691423/528 \wpnpwinnp wqrptyniebp (nhwgbunubn) puqiwlndwnttiun QL Inwlwgd 215000 3 645.0
33691423/529 {wpnpwinnp wanwuniebp (nbwgbunutn) puwqdwndwnutun 9L Inwywqd 122298 1 122.3
33691423/530 |wpnpuwnnp warpwtyniebp (nhwgbunubp) puqdwlndwntibiuin QL Inwlqd 108528 2 2171
33691423/531 |wpnpwinnp wgnwunebp (nbwgbnutn) puqdwlniynutun 18 [nwiljuuq 1800000 1 1800.0
24311129/501 quitiwqul wuopgwitiwlwu phuhwlwt bnysbin < aqpuid 20 1000 20.0
24311129/502 quiwqul wiopguwliwlwl phdpwlwu bnyabip < qpuid 90 160 14.4
24311129/503 quitiwqut wuopgwliwlwl phupwlwu bnyatin L aqpuid 15000 20 300.0
33691160/573 phdpwlwt wgnwlyniphp (nbwgblnlbp) q< hwin 45900 80 3672.0
33691160/574 phuhwlwl wqnwlyniplp (nbwqbunlbn) 9L hwn 151200 20 3024.0
33691160/575 phuhululs wgnulynipbp (nbugblnubn) q< hwn 30240 20 604.8
33691160/576 phupwlwl wqnuibyniptip (ntiwghunutin) < hwwn 129600 20 2592.0
33691160/577 phihwlwl wgnuwiynyebp (nbwgblnlbp) QL hwn 45900 140 6426.0
33691160/578 phihwlwy wgnwunipbp (nbwgbunubp) L hwwn 22100 100 2210.0
33691160/579 phupwlwt wgnwtyniphp (nbwgbnubp) L hwwn 22000 10 220.0
33691160/580 phupwlwl wgnuynyebp (nbwgbunbp) L hwwn 21600 100 2160.0
33691160/583 phihwljwl wgnwiynyetp (nbwgbnutn) 4L hww 12996 15 194.9
33691160/584 phupwlwl wgnwynipbp (nbwgblnubp) QL hwwn 340 30 10.2
33691160/585 phubwlul wanuniebp (nbwgbuunubn) q< huitn 44700 40 1788.0
33691160/586 phipwlwl wgnuynipbp (nbwgbunubp) gL hwin 76400 40 3056.0
33691160/587 phupwlwu wgnwunipbp (nbwgbunubp) 9L huwin 44500 20 890.0
33691160/588 phuhwlwt wgnwiynyebp (nbwgbunubp) G< huin 39200 10 392.0
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33691160/589 phipwluit wgruwiynyetip (nbiwgbntbn) < huwin 42480 1 42.5
33691160/590 phiupwlwl wgnuwiynyatin (nbwgbunubn) QL hwwn 248400 2 496.8
33691160/591 phipwlwt wanwiynebp (nbwgblntibp) 9L huwin 25920 30 777.6
33691160/592 phuhwlwl wanuwtynyatip (nbiwgbtintitip G< huwwn 51840 3 153.5
33691160/594 phuhwlwl wgnwlynyatip (nbiwghntibin) 9L huwn 70000 2 140.0
33691160/595 phuhwljwt wgnuwynyatip (nbiwgblntbin QL huwin 762300 2 1524.6
33691160/596 phuhwlwl wanwynyphp (nbwgkunubn < huin 59200 1 59.2
33691160/598 phuhwlwl wanwynipbp (nbwghlntbn) L hwtn 93000 45 4185.0
33691160/599 phupwlw wgnpwiynatp (nGwqbnutip) < hwn 54000 8 432.0
33691160/600 phupwlwt wanwiynyetp (nbwgbuntibip) L hww 27000 156 4212.0
33691160/601 phuhwlwl wqnuwlynyatip (nbwgblntbip 9< huwitn 642000 2 1284.0
33691160/602 phipwlwt wgnwiynatip (nhwgblnubp) < hwin 184800 5 924.0
33691160/603 phupwlut wgnuwympbp (nbwgblnutip) Q< hwwn 184800 5 924.0
33691160/604 phupwlwt wgnwiymptp (nbwgbuntbip) QL hutn 47345 30 1420.4
33691160/605 phipwlwt wgnwiynpbp (nbwgbiinlibip) 9< hwn 51561 25 1289.0
33691160/606 phupwlwl wgnwnptip (nbwgtiuntbip) G hwn 51561 10 515.6
33691160/607 phuhwlwl wqnuwynyatip (nbiwgbtintibn) 9L hwwn 212290 9 1910.6
33691160/608 phupwlwt wanuiynyatp (nbwghbtintbn) q< huwn 12155 2 24.3
33691160/609 phdpwljw wgnwiynyatip (nbwgblnbp) 9< huwtn 67150 2 134.3
33691400/600 phihwlwt wanwiyniebp (nbwghnbbn) puqdwyndynubun G (nuwiljgy 162000 15 2430.0
33691400/601 phupwlwt wonwlmipbp (nbwgbunlbp) puguwyndwnukun Q< [nwiljwqd 97200 15 1458.0
33691400/602 phipwlwt wgrpwlynipbp (nbwgBuntbn) puquwyndwnubun g [nwiljuga 486000 15 7290.0
33691400/603 phuhwlwy wgnwlynpbp (nbwgkunubn) puquwlndynutin 9< nwiljusgqyd 270000 18 4860.0
33691400/604 phupwlwl wgnuwynyebp (nbwgbunubn) puqdwlndwnutiun 9< Inwluqy 129600 12 1555.2
33691400/607 phubwlwl wrutynpbp (nbwgbinubn) puqiwnduwnttiun Q<L Inwlwgd 25000 1 25.0
33691400/608 phupwlwl waruwtynyebp (nbwgbitubp) pugdwlnduntibun < Inwilugd 53040 1 53.0
33691400/609 phuhwlwl wqruwinyebp (nbiwgbunttbn) puqiwlndwnibun G Inwiljuqu 53040 1 53.0
33691400/610 phupwlywt wanwiympetp (nbwgblnbbn) pugquwlyndynubun Q<L (nwljug 53040 1 53.0
33691400/611 phupwlwl wqnuwiyniebp (nbwgbbnibn) pwgquwlndwnubunm QL [nwlwqd 50000 4 200.0
33691400/612 phthwlwt wgnwniptin (nBwgbnubn) pugiwyndwnubln Q<L [nwiljugqd 36000 4 144.0
33691400/613 phuhwljwu wgnwynipbp (nhwgbbnlbn) pugdwlndwnubun QL [Ny 387000 2 774.0
33691400/614 phuhwlwl wanwyniehn (nbwqblnubn) puqdwlndynubn qg Inwlqy 78000 4 312.0
33691400/615 phihwlwl wgnwunpbp (ntwqbunubn) puqdwindwynutun Q<L [nwlqy 78000 4 312.0
33691400/616 phupwlwl wanwbynypbn (nbwgbunubin) puqdwlndwnutiun q< (nuwljwgd 114000 4 456.0
33691400/617 phuhwlwl wgnuwynpbp (nbwqbunubn) puqiwlndwnutiun q< Inwluqu 114000 4 456.0
33691400/618 phipwlwy wanubynyebp (nbwgbunubn) puqdwlndwnutiun Q< Inuwljwgd 240000 3 720.0
33691400/619 phihwlwl wgnwunyetin (nbwgbnubn) puqdwlndyntbun 9L Inwlwqy 600000 1 600.0
33691400/620 phuhwlwl wanwiynpbp (nbwgbunubp) pugquwyndwynubun q< Inwlwqd 270000 3 810.0
33691400/621 phuhwlwl wgnuwuynipbp (nbwgblunibn) puquulndwntun 1S Inuwiljuqd 210000 1 210.0
33691400/622 phipwlwl wqnwiympetp (nbwgbtntbip) puqduyndynubun G (g 16500 1 16.5
33691400/623 phupwywt wanwiympetp (nbwgblnttp) puquwyndynubun 8c (g 51000 1 51.0
33691400/624 phupwlwt wonwtynipbp (nbwgblunlbp) pugqduyndynubun qc [nwlwqy 73920 3 221.8
33691400/625 phuplyw wonwbniebp (nbwgbunlbn pugquwyndwnubun G nwlwgd 85000 1 85.0
33691410/503 phipwlwl wgnwlyniphbp (nbwgblntbp) hinndy < lhup 19900 7 139.3
33691410/504 phihwlwl wqnujnipbp (nbwqblntbn) htinniy q< thinp 1780 10 17.8
33691410/505 phuhwlwl wanwljniebp (nbwqbtintbn) htinnty Q<L thinp 2500 2 5.0
33691410/506 phuhwlwl wgnwtynebp (nbwgbunubip) hinndy < Lhinp 3500 1 3.5
33691410/508 phuhwlwy wgnuwymphbp (nbhwgbunlbip) hinndy <L thuinp 1698 10 17.0
33691160/501 phupwlwl wgnwujnipbp (nbwgblnubp) QL hwn 170100 1 170.1
33691160/502 phipwlwl wgnwunpbp (ntwgblnttn AL hwin 105900 7 741.3
33691160/503 phihwlwu wqnwunystp (nbwgbunbn) QL hwtn 708000 2 1416.0
33691160/504 phupwlwu wanwunipbp (nbwgbunubp) L huin 147800 2 295.6
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33691160/610 phuhwlwl wgnwlyniptip (nbwgbtnlibn) 9L hwtn 162000 5 810.0
33691160/611 phuhwluit wqnwyniptp (nbwghtnubn) 9 huwitn 205400 3 616.2
33691160/612 phubwljwl wqnwlynyatip (nbwghlinlbn) QL huwin 141000 3 423.0
33691160/613 phuhwlwy wqnutynyabip (nbiwghtntbn G hwwn 18000 4 72.0
33691160/614 phdhwlwl wgnwynyatip (nbwgklnubp) 9L huin 220000 12 2640.0
33691160/615 phupwlwt worwynebp (nbwgblnbibin) G< hwtn 39000 40 1560.0
33691160/616 phuhwluit wqnwbynyatin (ntwgblinubpn) 9< hwn 225000 4 900.0
33691160/617 phuhwlwl wgnwlyniptip (nbwgbtntlibn) G hwtn 36000 20 720.0
33691160/618 phuhwlwl wqnwlynyatin (nawgbtntbn) L huiwn 137700 1 137.7
33691160/619 phuhwlwl wgnuityniptp (ntiwgklntbn) G< huwwn 60000 3 180.0
33691160/620 phubwlwl wqnwjnyatin (nGwgbtintitp) q< huin 60000 3 180.0
33691160/621 phihwlwl wgnwlynipbp (nbwgblntbp) 4L huin 495000 3 1485.0
33691160/622 phuhuiluils wqnwlynietin (nbwgblnubp) 9< hwin 480000 2 960.0
33691160/623 phupwlw wgnwniptp (nbwgbunubp) G huwwn 415000 2 830.0
33691160/624 phuhuljwl wqnwlyniptp (nbwgblntbn) 9L hwin 414000 2 828.0
33691160/625 phuhwljwl wqnwlyniptn (nbwqblinltn) 9L huwin 414000 2 828.0
33691160/626 phubwlwl wynwynyetin (nbwgbtinlbp) 9L huwn 415000 2 830.0
33691160/627 phuhwlwl wanwynyetip (nbwgbunubp) < hwin 485000 2 970.0
33691160/628 phupwlwl wgnwyniphp (nbwgbuwnubin) QL hwwn 415000 2 830.0
33691160/629 phupwlwl wgnwiynipbp (nBwgbunubp) G< hwin 415000 2 830.0
33691160/630 phipwlwy wanwunyebp (nbwgblnubp) < hwwn 415000 2 830.0
33691160/631 phuhwlwl wgnwiynipbp (nbwqbunubn) 9< hwwn 525000 2 1050.0
33691160/632 phihwlw wgnuiynipbp (nbwgbnbn) < hwwn 485000 2 970.0
33691160/633 phuhwlwl wanwlynyebip (nbwgbtnutip) Q< hwin 415000 2 830.0
33691160/634 phihwlwu wgnwunystp (nbwgbUnubp) QL hwtn 415000 2 830.0
33691160/635 phihwlwu wqnwunyatp (nbwgbunubp) QL huin 445000 2 890.0
33691160/636 phihwlwu wgnwnyztp (nbwgbiunubp) G huin 415000 2 830.0
33691160/637 phupwywl wgnwunetip (nbwgbtnutin) G hwn 54000 8 432.0
33691160/638 phupwlwl wgnwunyehp (ntwgblnutn) QL hwwn 165600 2 331.2
33691160/639 phupwlwt wanwtyniebp (nbwgbiunltip) G huwin 13000 8 104.0
33691160/640 phuhwlwb wanuwtynietip (nfwgblntbn) QL huwwn 66000 2 132.0
33691160/641 phuhwlw wgnwbynyetip (nbwgklnubn) Q<L huwn 22500 12 270.0
33691160/642 phuhwljwl wqnwljniptip (nawqbtntbn) q< huwn 55000 2 110.0
33691160/643 phuhwlwl wgnujnietp (nhwgblnubnp) < hwiwn 152200 7 1065.4
33691160/644 phipwlwl wgnwlyniphp (nbwgbunlbp) L hwwn 490000 1 490.0
33691160/645 phupwlwl wgnwlynipbp (nhwgblnlbp) < hwin 410000 1 410.0
33691160/646 phihwlwu wanuwuniphp (nbwgbUntbp) 9< hwwn 410000 1 410.0
33691160/647 phipwlwu wqnwunypbp (nbwgbUunubip) < huwin 410000 1 410.0
33691160/648 phihwlwu wgnwuniptp (nbwgbunubip) 9< hwiwn 410000 1 410.0
33691160/649 phupwlwl wgnutynpbp (nbwgbunubp) QL hwwn 410000 1 410.0
33691160/650 phuhwlwt wanwljnyebip (nbugbunutp) < hwuwn 15000 12 180.0
33691160/651 phuhwlwl wanwijniebp (nbwgbtinutn) Q< hwiwn 15000 12 180.0
33691160/652 phipwlwl wgnuwiynyebp (nbwgqbunubip) G< hwiwn 120000 3 360.0
33691160/654 phuhwlwl wgnwiynyabip (nbwgbuwnubp) L huwin 18400 6 110.4
33691160/655 phupwlwl wgnuwiynyetp (nbwgblnttip) &L hwwn 30000 3 90.0
33691160/663 phuhwlwl wgnwiynyetp (nbwghbtinttn) qL huitn 360000 6 2160.0
33691160/664 phupwywl wgnuwunphp (nbwgbinubn) G hwin 86600 1 86.6
33691160/665 phdhwhwl wgnwynyatip (nbwgqblnibp) G hwin 90000 1 90.0
33691162/501 jwpnpwinnp wgnwlyniphp (nbwgbluntbp) Q< hwwn 143100 3 429.3
33691162/502 {wpnpwnhp warwgniphp (nbwgbnubp) G hwin 114000 3 342.0
33691162/503 {wpnpwinnp wgnwupniphp (nbwgbUnubn) GL huwin 124200 3 372.6
33691162/504 (wpnpwnnp wgnwynabip (nGwgbunttip) < huwin 435000 10 4350.0
33691162/505 |wpnpwnnp warputynietip (nbwgbunutp) L huwn 183600 10 1836.0
33691162/506 [wpnpwnnp wqnwijnatp (nGwqblnutip) G huwn 42600 3 127.8
33691162/507 (wpnpwwnnp waputynetip (nbwgblnutip) <L hwwn 39200 4 156.8
33691162/508 |wpnpwwnnp wqrtynebp (nbwgblnttip) L hwn 684000 10 6840.0
33691162/509 |wpnpuwinnp wanuwtynipbp (nbwgblnlbn) 9L hwn 190400 4 761.6
33691162/510 |wpnpuwinnp wanwtyniphp (nbwgblnlbp) 9L hwn 699000 3 2097.0
33691162/511 wpnpwnnp wanwyniptp (nbwgbunttip) GL huwin 699000 3 2097.0
33691162/512 wpnpwnnp wonwiynipbp (nbwgblntbip) 9L hwwn 300000 3 900.0
33691162/513 (wpnpuwinnp wgrwiynyebp (nbwgbuntbip) L hwwn 199800 10 1998.0
33691162/514 wpnpuwinnp wgrnwyniehp (nbwgbtinubn) < hwiwn 197100 2 394.2
33691162/515 |wpnpwinnp wanwniehp (nbwgblnlbn) < hwin 174800 1 174.8
33691162/516 (wpnpwunnp wanwlynietp (nbwgblntbp) L hwwn 143100 6 858.6
33691162/517 Jwpnpwinnp wanwujniehp (nbwgblnbn) 9L hwwn 206600 3 619.8
33691162/518 (wpnpwinnp wanwunyebp (nbwgbunubn) < huin 108350 8 866.8
33691162/519 jwpnpuwwnnp worpwiyniebp (nbwgbunlbp) GL hwwn 180900 4 723.6
33691162/520 jwpnpuwinnp warpwbyniebp (nhwgblnubn) QL huin 52000 2 104.0
33691162/521 jwpnpwwnnp wgnwlyniphbp (nbwgblwntbp) QL husn 330000 2 660.0
33691162/522 (wpnpwnnp wgrwlyniphp (nbwgbntbp) L hwin 190400 6 1142.4
33691162/523 (wpnpwinnp wgnuwlynipbp (nbwgbuntbp) G< hwwn 126000 6 756.0
33691162/524 {wpnpwinnp wgnwynipbp (nbwgbunubin) L huwwn 193800 8 1550.4
33691162/525 {wpnpwinnp wgnwyniphbp (nwgbunubn) L huin 206600 6 1239.6
33691162/526 {wpnpwinnp wqnwuniphp (nbwgbunubn) GL hww 130900 6 785.4
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33691162/527 |wpnpwinnp wanwuniehp (nbwgbunubn) G hwn 197100 5 985.5
33691162/528 {wpnpwnnp wanwnyebp (nbwgblnubn) G huwin 189000 3 567.0
33691162/529 {wpnpwnnp wgnwlnyabp (nbwgblnubp) G< hwin 143100 10 1431.0
33691162/530 (wpnpwinnp wnwyniphp (nbwgbuwnubin) 9L huwin 128900 2 257.8
33691162/531 |{wpnpwnnp wgnwnpbp (nbwgbUnubn) G hwin 345000 10 3450.0
33691162/532 \Wwpnpuwtnhp wanwnipbn (nbwgbunutn) QL huin 136400 10 1364.0
33691162/533 (wpnpwnnp wgnwupnyztp (nbwgblntbp) 9< hwn 124200 10 1242.0
33691162/534 Jwpnpwiwnnp wanutynyebp (nbwgbnubn) < hwin 155900 10 1559.0
33691162/535 |{wpnpwinnp wgnwuniehp (nbwgbunubn) G hwwn 138000 16 2208.0
33691162/536 (wpnpwinnp wygwnuyabp (nbwgblntbpn) < hwwn 39200 10 392.0
33691162/537 jwpnpwinnp wgnuwniphp (nbwgbunubn) Q< hwn 540000 2 1080.0
33691162/538 {wpnpwnnp wgrwnystip (nbwgbunubn) GL hwin 141800 2 283.6
33691162/539 {wpnpwwnnp wyrwnyabp (nbwgblnubp) G hwwn 145000 8 1160.0
33691162/540 {wpnpwinnp warwbynyatip (nbwghblinubp) < hwin 111400 8 891.2
33691162/541 (wpnpwinnp wgrwlynipbp (nbwgblnubp) G< hwin 187700 8 1501.6
33691162/542 \wpnpwwnnp wanwunpbp (nbwgbunubp) G hwiwn 147200 8 1177.6
33691162/543 (wpnpwinnp worwynipbp (nhwgbuntbp) G< hwin 144000 8 1152.0
33691162/544 (wpnpwnnn wanwbngebp (nbwgbunubp) L hwin 168000 5 840.0
33691162/545 |wpnpwnnp wanwnyehp (nbwgblnubn) <L hwn 157900 5 789.5
33691162/546 (wpnpwnnp wanwiynyehbp (nbwgblntlbn) Q< huuwn 126000 3 378.0
33691162/547 Jwpnpwnnp wgnwnehp (ntiwgbnubng QL huwwn 111000 12 1332.0
33691162/573 (wpnpwnnp wonwiynuyestin (nbwgblnubp) G hwtn 178200 5 891.0
33691162/574 (wWpnpwinnp wgwiynyebp (nbwgbnubp) < huwwn 150000 8 1200.0
33691162/575 |wpnpwwnnp wgnwiyniphp (nbwgbtnbp) G huutn 159900 2 319.8
33691162/590 (wpnpwwnnp wanwiynusbn (nbwgbtnubn) G< huwin 58000 3 174.0
33691162/654 (wpnpwnnp wanwiynyehin (nbwgblinbn) < hwin 64000 3 192.0
33691162/666 |wpnpwnnp wanwiynyebip (nhwgblnubn) L hwin 155900 3 467.7
33691162/713 (wpnpwwnp wgnwynysbp (nbwgbnubip) < hwin 148500 3 445.5
33691400/501 phihwljwt wanuwinyetn (nbwgklnlbp) pwgquwyndynubin < Inwyqy 174000 4 696.0
33691400/502 phihwlwt wanwunypbn (nbwgbUnubn) puqiwlyndunubiun 9< Inwlwqy 85000 3 255.0
33691400/503 phuhwlwl wanwniyetp (ntwqbunubp) puqiulndwnutun q< [nwlwqy 195000 2 390.0
33691420/501 |wpnpwwnnp warwtynyebp (nbwgbintbn) puquwyndyntbun aq Inwiljwgy 525000 8 4200.0
33691420/502 |wpnpwwnnp wanwnebn (nGwgblnubn) puquwyndwnutun 9L Inwlwgy 525000 4 2100.0
33691420/503 (wpnpwunp warwbyniebp (nbwgbuntbn) puguwyndynubun ac nwiljwqu 148700 460 68402.0
33691420/504 (wpnpwinnp warpuynipbp (nbwgbunubn) puquwlndynutun QL inwljuqd 46080 400 18432.0
33691420/505 \WpnpWnnp warwneln (nbwgbuinutn) pwqdwyndynubun RS (Mgl 240000 5 1200.0
33691420/506 |wpnpwiinnp wanuuniphp (nbwgbtnutn) puqdwlndynubUn QL Inuwiljuuqu 100000 1 100.0
33691420/507 \wpnpwinnp wanwuympbp (nbwgblnubn) puqiwynduynubiun QL [nwlwg 114000 1 114.0
33691420/508 |wpnpwinhp wanwunipbn (nbwgblnubn) puqiwyndynutitin gL [nwiljugy 210000 8 1680.0
33691420/509 (wpnpwinnp wgnubynipbin (nbwgbunubn) puqdulndwnttiin G nwlwqd 240000 7 1680.0
33691420/510 |wpnpwinnp wgnwunptp (nbwgbunubn) pugdwindunutn QL [nwlwqd 66000 1 66.0
33691420/511 {wpnpwinnp warpubnipbin (nbwgbunubp) puqdulndwyntibun Q<L [nwiljusgqd 416667 3 1250.0
33691420/512 {wpnpwinhp wanwuniebp (nbwgbnubn) puqiwyndwnutn Q< Inwljuqd 416667 3 1250.0
33691420/513 (wpnpwinnp wanwiynyebin (nbugbtitntiin) pugqwlnuyntbn L Inwluqy 288000 1 288.0
33691420/514 |wpnpwnnp wqnwiyniebp (nbwgbtntibp) pugdulndynubun QL [nwlqy 61200 5 306.0
33691420/515 [wpnpwnnp wanwyniebp (nbwgbtnlbp) pugdulndynubun Q< [nwlwqu 61200 5 306.0
33691420/516 |wpnpwnnp warwnieptp (nbwgbunlbp) pugquwyndynubun q< nwlwgd 61200 5 306.0
33691420/517 wpnpwwnnp wanwniebp (nbwgbunlbp) pugquwyndynubun 9L Inwljuqud 36800 5 184.0
33691420/518 (wpnpwwnnp warwbyniabnp (nbwgblnlbin) pugqdwyndwnubun 9< [nwluqu 540000 2 1080.0
33691420/520 (wpnpwwnnp worwnipbp (nbwgbnlbn) pugquwyndynubun q< (nwlwqd 26000 5 130.0
33691420/521 |wphpwinnp wanwjniebp (nbwgbunubn) puqiwlyndwnubUn G< \pwluqud 397500 4 1590.0
33691420/522 |wpnpwnnp worwbniebp (nbwgblnlibn) puqiwyndwntbtn G< inwljuqu 360000 1 360.0
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33691420/706 [wpnpwwnnp wqnwynyetip (nbwgbitnbn) pugqdwyndunubln q< Inwluqy 330400 1 330.4
33141211/501 pdoluilwts wyy gnpdhptibip — wwpwgwbp < huwin 582 12 7.0
33141223/506 pdoljwlwt wy gnpdhpubip — wwpwquwubp pugdwlndwntbn Q< Inwiljgd 51000 15 765.0
33141223/507 pd7lwljut wy gnpdhpubp — wwpwqwbp pugdulyndwntbun 9< Inwugy 25999.5 4 103.998
33191310/503 thnpdwtinplbp qL hwin 116.667 12000 1400.0
33211140/501 Phihnniphts Bilirubin /Cunhwlnip — ninhn phihnniphth npnadwt ac husn 20.28 6000 1917
Rhup-hwywpwdnt
33211150/501 Uhquitynye Urea-Col/Uhquityniah npnpdwl phiup-hwwwpwént 9< hwn 21.3 5000 106.5
33211160/501 Hptuinhibli CREA-Col /4ptunnptiptiy npn2iuit pliue- 9< hutn 9.57 5000 47.9
hwyjwpwdnt
NMMH-Ywppnu RPR CARBON /Uh$hihuh npnpdwl phiupe-

1230/50 i .y
33211230/501 —— 9< hwin 109.375 12480 1365.0
33211320/502 Shibgutnfn B iy wibispaRih spuiiiuchogrsipteug q¢ huwin 105 9600 1008.0

phup-hwywpwdnt
33211321501 Chwuwinhin C yhpnwh wuinhgluh npwlwlwt hwjinuwpbpdwu G kit 97.88 9600 939.6

phup-hwywpwdnt
33211321502 &hnapaaniin C.(bpnddh wisnhat sty hupntaptniib qc hustn 105.36 8000 842.9

phup-hwywpudnt
33691160/666 phupwlwl wgnwunyebp (nbwgbtnutin aL huwin 12.6 2000 25.2
33691160/667 phuhwluwt wanwiynyebp (nbugbunbp) o< hwtn 18.0 30000 540.0
33691160/668 phihwlwu wgnwunyetp (nbwgbunubp) 9L huwn 178.2 1000 178.2
33691160/669 phuhwywl wanwunyestp (ntiwgblnttin) g< hwwn 18.0 5000 90.0
33691160/670 phupwywu wanwunipbp (nbwgbuntbp) QL hwwn 26.4 1400 37.0
33691160/672 phdhwlwt wgnwynyabip (nbwgblnlbp) G hwin 7.536 3000 22.6
33691160/673 phuhwlwl wgnwunyatip (nbuwgbunubp) G huwwn 8.76 2000 17.5
33691160/675 phuhwlwl wanuityniebp (nbwgktntitip) G hiuwn 33 800 26.4
33691160/676 phuhwlw wgnunipbp (nbwgbuttnp) G huwn 26.4 1400 37.0
33691160/677 phihwlwt wgnwuniebp (nbwgbunbn) G< huwwn 26.4 1000 26.4
33691160/678 phuhwlwu wqnuniebp (nbwgbuwnutp) q< huwin 19.68 20000 393.6
33691160/679 phuhwlwt wgrutynyetip (ntiwgblnubnp) 9< huwn 83.28 15000 1249.2
33691160/680 phuhwlw wgnwynietip (nbwgklnubnp) QL hwn 345 192 66.2
33691160/681 phuhwlw wgnuwtynyetip (nbwgklntbnp) 9L hun 345 192 66.2
33691160/682 phupwlwt wgnuwlynipbp (nbwgblintbp) 9 hwin 393.75 960 378.0
33691160/683 phuhwlwl wgnuynietip (nhwgblnubnp) Q<L hwin 393.75 960 378.0
33691162/714 |wpnpwnnp wgnwiyniatn (nbwgblunbn) q< hwiwn 155.13 9600 1489.2
33691162/715 (wpnpwwnnp wqnwiynipbin (nbwgbtunubn) < hwiwn 1120 1152 1290.2
33691162/716 |wpnpwwnnp wanwiynysbp (nbwgbiunubn) < hwiwn 640 480 307.2
33691162/717 |wpnpwnnp wgnwynptin (nbwgbtnbp) q< hwin 640 480 307.2
33691162/718 (wpnpwnnp wqnuwtynpbp (nbwgbitintibin) 9< hwin 640 480 307.2
33691162/719 |wpnpwwnnp wqnutynysbip (nbwgbtntbn) AL hwwn 153.75 5760 885.6
33691162/720 |wpnpwwnp wgnwyniebp (nbwgbtnlbp) 9L hwn 69.36 8000 554.9
33691162/721 |wpnpwwnp wgnutynyshp (nbwgbtntbip) < huwn 405.6 600 243.4
33691162/722 |wpnpwwnp wgnutynipbip (nbwgbunubp) 9L hwun 118 600 70.8
33691162/723 |wpnpwnnp wgnwiynyabip (nbwgbtunubn) < hwin 33.84 1800 60.9
33691162/724 wpnpwwnnp wgrwtynysbip (nbwghnbp) L huitn 1000 60 60.0
33691420/707 |wpnpwwnnp wanwniebp (nGwgbnubn) puqdwyndwnubln < Inwljwgd 74000 25 1850.0
33691420/708 (wpnpwnnp warwtniyebp (nbwgbnubnp) pugqiwlyndwynubln 9L (nwluqd 62000 15 930.0
33691420/709 wpnpwwinp warwtyniebp (nbwgblnltin) pugquwlyndynubun Q< nwlugy 48000 150 7200.0
24311360/502 twwnphnwih pinphwn 9L Uhingpuwd 2 0.0
24321650/501 glhgtphu QL Yhynapuwd 0.1 0.0
33141211/524 pdoliwlwl wy gnpdhpubn — wwpwquubp L hwun 10 0.0
33141223/508 pdoliwlwl w)) gnpdhpubip — wwpwgwubp pugdwlndynubun Q< [Pl 2 0.0
33611430/501 Luwihnuwih jnnhn r05ca02, s01xa04, v03ab21 G< Yhingpuwid 3 0.0
33691134/502 Lwyhnuih pinphn al2ba01, b05xa01 S< Yhingpuwd 0.3 0.0
33691160/686 phupwlwl wanwnyebp (nbwqbitntbn) q< hun 1 0.0
33691160/687 phupwlywl wgnwnehp (nbwgbtinubn) Q<L huwin 1 0.0
33691160/688 phupwlwl wanwunyabip (nbwgbuwnubp) QL huwin 1 0.0
33691160/689 phuhwlwl wgnwnysbp (nbwgbuwnubn) QL hwin 1 0.0
33691160/690 phupwlwy wgnwjnebp (nhwgbunubp) QL huin 1 0.0
33691162/725 |wpnpwinnp wgnwuniphp (nbwgbUnubn) QL hwwn 1 0.0
33691162/726 |{wpnpwinnp wgnwupniphp (nbwgbunubn) QL hwn 1 0.0
33691162/727 Jwpnpwinnp wgnwunehp (nbwgbunubp) QL hwn 2 0.0
33691162/728 {wpnpwitnnp wgnwupniphp (nbwgblnubp) QL hwn 1 0.0
33691162/729 |\wpnpwinnp wgnwuniphp (ntwgblnubn) QL hwn 2 0.0
33691162/730 jwpnpwinnp wgnwuniebp (nbwgbunubn) 9L hwn 1 0.0
33691162/731 Jwipnpwinnp wgnwynyatp (nbwgtlnutng QL huwin 1 0.0
33691162/732 Jwpnpwinnp wqrwitgnebip (nbwgbunubp) G huwin 1 0.0
33691162/733 |wpnpuitnnp wanwnyatp (nbwgbuwnubn) QL huin 2 0.0
33691162/734 {wpnpwinnp wgnwunehp (nbwgblnubp) QL huwiwn 1 0.0
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33691162/735 |wpnpwwnnp wanuitynipbip (nbwgbtnlbp) Q<L hwin 4 0.0
33691162/736 jwpnpuinnp wanutnypbip (nbwgbnttbn) QL hwn 1 0.0
33691162/737 |wpnpwnnp wanutynyabip (nbwgbtnlbn) 9L hwn 1 0.0
33691162/738 |wpnpwwnnp wqnuwtymatp (nGwgblntbip) 9L hwwn 1 0.0
33691162/739 jwpnpwinnp wqnuwitynetn (nbwgbtntibp) Q<L hwn 1 0.0
33691162/740 |wpnpuwwnnp wanutnipbp (nbwgbtnlbn) <L hwn 2 0.0
33691162/741 (wpnpwinnp wgnwyniabip (nbwgblntp) SL hwwn 2 0.0
33691162/742 (wpnpwwnnp wgnutyniebp (nbwgblinubp) aL hwin 1 0.0
33691162/743 |wpnpwinnp wanwunpbp (nbwgbtnbn) < hww 1 0.0
33691162/744 |wpnpwwnnp wgnwunipbp (nbwgblnubn) 4L hwun 1 0.0
33691162/745 |wpnpuwinnp wgrwynyetbip (nbwgblnubp) < hww 1 0.0
33691162/746 |wpnpwwnnp wgnwynietp (nbwgblnlbn) QL hwwn 1 0.0
33691162/747 |wpnpwinnp wgnwunipbp (nbwgblnubp) 9L hwn 3 0.0
33691162/748 |wpnpuwwnnp warwlniebp (nbwgblnlbn) 9L hwwn 1 0.0
33691162/749 |wpnpwinnp wgnwuniphbp (nbwgblnubp) qL hwn 1 0.0
33691162/750 Jwphpwitnnp wanwuniphbp (nbwgblnlbn) q<L hwwn 1 0.0
33691162/751 jwpnpwinnp wanwbnehp (nbwgbunubp) 9L hww 1 0.0
33691162/752 jwpnpwinnp wanwuniphp (nbwgbunubn) QL huwtn 1 0.0
33691162/753 {wpnpwinnp wqnwiynipbp (nbwgbunubn) L huwn 2 0.0
33691162/754 Jwpnpwinnp wanwynipbp (nbwgblnutp) gL hwtn 2 0.0
33691162/755 |{wpnpwnnp wanwpnpbp (nbwgbunubn) QL huwiwn 2 0.0
33691162/756 |wpnpwnnp warpuwiynysbp (nbwgbUnubn) L hwin 1 0.0
33691162/759 jwpnpuwinnp wgnwiyniebp (nbwgbuwnubp) QL hwtn 1 0.0
33691162/760 |wpnpwwnnp warwignyetp (nbwgbunubn) L hwn 1 0.0
33691162/761 wpnpwwnnp wgruwtnyetp (nbwgbunubn) 9L hwtn 1 0.0
33691162/762 |wpnpwwnnp wgnuwtynysbip (nbhwgbunubp) QL hwiwn 1 0.0
33691162/763 |wpnpwinnp wgnwiynyeshin (nbwgbuntbp) L hwwn 1 0.0
33691162/764 |wpnpwinnp wgnwitynyshin (nbwgbtuntibp) QL hwwn 2 0.0
33691162/766 |wpnpuwwnnp wgnutynebp (nbwgbunlbp) <L hwwn 1 0.0
33691162/767 |wpnpwinnp wqnuityniphp (nBwgbtnlbp) 9L hwn 1 0.0
33691162/768 jwpnpwinnp wanuwynipbp (nbwgbtnlbn) 9L hwn 1 0.0
33691162/769 |wpnpwnnp wgrtynyatp (nbwgbinlbn) QL hwun 1 0.0
33691162/770 |wpnpwunp wgnuwtyniphip (nbwgbtntbp) QL hww 1 0.0
33691162/771 |wpnpwnnp wgnutnpbp (hbwgblntbnp) q< hwn 2 0.0
33691162/772 |wpnpwinnp wgnwuniebp (nbwgblnlbn) QL huwin 3 0.0
33691162/773 [wpnpuwinnp wgnwunyetip (nbwgblnubp) Q< huwn 2 0.0
33691162/774 [wpnpwinnp wgnwuniehp (nbwgbunubn) QL huwin 1 0.0
33691162/775 {wpnpwinnp wgnwupniphbp (nbwgbunubn) G huutn 1 0.0
33691400/504 phupwlwu wqnuwynysbp (nbwgblnlbn) pugdwlndwnlbun Q< [nwljuqd 1 0.0
33691410/509 phupwljwt wgnuiynietp (nEwgkntbp) hbnndy 9 [hwp 0.5 0.0
33691410/510 phupwlut wgnuwunyetp (nbwgkunlbp) hbnnly QL {hunp 0.1 0.0
33691410/511 phuhwlwl wgnuwinystip (nEwgkunlbp) hbnnly < |hinp 20 0.0
33691410/512 phuihwljwu wgnuwnyebp (nBwgkUnbp) hbnnly QL |hunp 20 0.0
33691410/513 phuhwljwl wgnulnyetip (nGwgklnubp) hbnniy <L |hwnp 1 0.0
33691411/503 phupwwt wanuwbynyetp (nbwgbtnubp) tngh Yud gpungubip 9 Lhingpwd 0.5 0.0
33691411/504 phupwlwt wgnuwtynystip (nhwgbtntbip) thingh Yud gputngubip 9L hingpwd 0.5 0.0
33691411/505 phupwlwl wanwlnpbp (nhwgbunubn thingh Yud gpuungutp q< Yhingpuwd 0.5 0.0
33691411/506 phipwlwt wonwynipbp (nbwgbunutin) thngh Yud gputunyubp q< Yhingpuwd 2 0.0
33691411/507 phuhwlwy wqnuunpbn (nBwgbUnbp) tnzh ud gpuunyubn q< Yhingpwd 2 0.0
33691411/508 phupwlwt wonuynipbp (nbwqbtnbin) tingh Gud gpuunyutp < Yhingpuwd 3 0.0
33691411/509 phuhwlwt wgnuwtynpbp (nbwgbnubin) gingh Gud gpuunyutp 9< Yhingpwd 30 0.0
33691411/510 phipwlwt wqnuignyetn (nbwgbluntitip) tingh Ywd gpuiinyubp Q< Yhingpud 40 0.0
33691420/710 \wpnpwinnp warpunigpbp (nlwgbunubin) puquwlndynutiun Q< [nwiljug 1 0.0
33691420/711 [wpnpwnnp wanwiynebn (nbwgbuntbip) pugdwlndynubln B 18 Inwlwqd 1 0.0
33691420/712 |wpnpwwnnp wanwiynipbp (nbwgblnttbip) puqdwlndyntiun q< nuwljwgd 1 0.0
33691420/713 |Wwpnpwwnnp wanutnuetin (nbwgblnubn) pugdwlndyntbun q< [nwluqu 1 0.0
33691420/714 |wpnpwnnp wqnwynietp (nbwgbuntbn) pugqdwlndwnubtn Q< Inwlwuqy 30 0.0
33691420/715 (wipnpwwnp warwbynebp (nbwgblntbip) pugquwyndynubun < Inwluqy 4 0.0
33691846/501 Yhwpnuwppny jhintweent G Yhingpuwd 0.5 0.0
33141211/534 pdaljwlwl wy gnpdhplibp — wwpuwquwtip QL huwn 800 0.0
33141211/535 pdolwljwl wy gnpdhplubn — wwpwgwubp < hwwn 800 0.0
33141211/541 pdolwlwl wy gnpdhpubp — wwipwqutp L huwin 550 0.0
33691160/692 phupwlwl wgrnwbnyebp (nbwgbUnubn) SL huwwn 120 0.0
33691160/693 phuhwlwu wgnuunipbp (nbwgbwnubp) 9L huwin 5 0.0
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33691160/694 phdpwlywy wanwnuystip (nbwgbtintbn QL hwwn 2 0.0
33691160/695 phuhwlwt wgnwuniehp (nbwgblnttbn) < hwun 2 0.0
33691160/696 phubwlw wqnuwinysbp (nbwgbtnttin < hwin 2 0.0
33691162/776 jwpnpwinnp wanuwiyniebp (nbwgbunubp) QL hwwn 1000 0.0
33691162/777 |wpnpwinnp wgnwnipbp (nbwgbinnubip) QL huwin 1000 0.0
33691162/778 |wpnpuwwnnp wgnwiynyskip (nbwagbuwnubp) Q<L hwwn 1000 0.0
33691162/779 (wpnpuwnnp wqrwiyniabip (nbwgblnutp) 4L huwin 1000 0.0
33691162/780 jwpnpwnnp wanwiynyatp (nbwgblntiip) 9L huwin 1000 0.0
33691162/781 |wpnpwinnp warwiyniyphp (nbwgblnubp) QL hwun 1000 0.0
33691162/782 Jwpnpwinnp wgnwyniphp (nbhwgbnubip) QL huwin 1000 0.0
33691162/783 {wpnpwnnp wgnwupniphp (nbwgblnubp) QL hwwn 1000 0.0
33691162/784 Jwpnpwinnp wgnwbnipbp (nbwgbnbp) QL huitn 1000 0.0
33691162/785 jwpnpwnnp wanwnyebp (nbwgbunubn) < huwin 1000 0.0
33691162/786 {wpnpwnnp wgnwbyniebp (nbwgbunbp) 9L huwin 1000 0.0
33691162/787 jwpnpwinnp wgnubynebp (nbwgbunubp) QL huwin 1000 0.0
33691162/788 |wpnpwwnnp wanwiynysbp (nbwgbnubip) 9L huwin 1000 0.0
33691162/789 jwpnpwnnp wanuiynipbp (nbwgbtntibp) QL hwn 1000 0.0
33691162/790 [wpnpwnnp wanuwiynyatip (nGwgbluntbip) Q<L hwin 1000 0.0
33691162/791 [wpnnwunnp wanuwiynyabip (nhiwgbnubp) 9L hwn 1000 0.0
33691162/792 |wpnpwwinp warwtymebp (nbwgblntbp) 9L hwin 1000 0.0
33691162/793 |wpnpwinnp wanwniphp (nbwgbbnlbn) 9L hwin 1000 0.0
33691162/794 |wpnpwinnp wanwunipbp (nbwgbtntbn) QL huwwn 1000 0.0
33691162/795 {wpnpwinnp wgrnwtynystip (nbwgbunubp) L hwin 1000 0.0
33691162/796 \wpnpwinhp wnwnystp (nbwghkunubp) AL hwwn 1000 0.0
33691162/798 jwpnpwinnp wanwuniphbp (nbwgbUnlbn) 9L hwn 1000 0.0
33691162/799 {wpnpwinnp wgnwuniphp (nbwgbunubn) 9L hwn 1000 0.0
33691162/800 jwpnpwinhp wanwnipbp (nbwgbinubp) QL huwin 1000 0.0
33691162/801 |wpnpwwnnp wgrnuwynyebp (nbwgblnubn) QL huin 1000 0.0
33691162/802 |wpnpwnnp wanwiyniebp (nbwgbunubp) QL hwwn 1000 0.0
33691162/803 |wpnpwinnp wgnwiynyehp (nbwgbuwnubp) QL hwn 1000 0.0
33691162/804 (wpnpuwnnp wgnuwynyebp (nbwgbunubp) QL hwin 1000 0.0
33691162/805 (wpnpwwnnp wanuwiynyetip (nbwgblntbp) < hwn 1000 0.0
33691162/806 |wpnpwwnnp wgnuwynysbp (nbwgblnubip) < hwn 1000 0.0
33691162/807 |wpnpwwnnp wanuwtyniphp (nbwgbtnlbp) 9L hwin 1000 0.0
33691162/808 [wpnpuwwnnp wanwtynipbp (nbwgbntbp) L hwn 1000 0.0
33691162/809 (wipnpwwnp wanwiynebip (nbwgblntbin) QL hwin 1000 0.0
33691162/810 |wpnpwwnnp wgnwinipbp (nbwgbunbp) QL hwn 1000 0.0
33691162/811 |wpnpwinnp wgnwuniphp (nbwgblnlbn) < hwwn 1000 0.0
33691162/812 |wpnpwiwnnp wanwuniphbp (nbwgbUnubn) QL huwin 300 0.0
33691162/813 Jwpnpwwnnp wgrwtgnyebip (nbwgblnubp) < hwin 1000 0.0
33691162/814 \wpnpwinnp wgrnwnyatp (nbwgbunubp) 9L huwtn 1000 0.0
33691162/815 Jwpnpwinnp wgnwunehp (nbwgbunubn) G< huin 1000 0.0
33691162/816 jwpnpwinnp wgnwujniehbp (nbwgbunubn) QL hwwn 1000 0.0
33691162/817 {wpnpwinnp wgnwuniphp (nbwgblntbn) gL huin 500 0.0
33691162/818 {wpnpwinnp wgnuunehbp (nbwgbunubn) q< hwn 1000 0.0
33691162/819 |wpnpwinnp wgnwnypbp (nbwgbinubp) G huin 1000 0.0
33691162/820 |wpnpwinnp wgnwiynebp (nbwgbunubp) G hwwn 1000 0.0
33691162/821 |wpnpwwnnp wgnuyniebp (nbwgbuntbp) QL hwn 200 0.0
33691162/901 |wipnpuwinnp wqnwtynipbp (nbwgbuwnubip) QL hwwn 400 0.0
33691162/902 |wpnpwinnp wgnwtynyebip (nbwgbntbp) QL hwun 200 0.0
33691162/903 |wpnpwwnnp wanuwiympebp (nBwgblntbp) QL hwwn 1000 0.0
33691162/904 (wpnpwwnnp waruwiympetp (nbwgbtntibpg QL hwwn 500 0.0
33691162/905 |Wpnpwinnp wgnwynyshp (nEwgbtintbp) 9L hwn 300 0.0
33691162/906 |wpnpwwnnp wgrwiynyatp (nbwgbtnubp) G< hwin 300 0.0
33691162/907 |wpnpwwnp wanuwiynipbp (nbwgblnttip) 9L hwwn 500 0.0
33691162/908 |wpnpwinnp wanwnpbp (nbwgblntbp) < hwn 1000 0.0
33691162/909 |wpnpwiwnnp wanunphbp (nbwgblnlbp) Q<L hwwn 300 0.0
33691400/505 phihwlwl wgnuwiunpbp (nbhwgbnubn) puqdwlnduntbun Qg Inwilugd 2 0.0
33691400/506 phihwlwl wqnuiynipbp (nbwgblntibp) pugqluynduynublun Q< [Pwluqd e 0.0
33691400/507 phipwlwt wanuwiympebp (nbwgbtnubp) pugiuyndynubun gL (Pwiljwqa 2 0.0
33691400/508 phihwywl wqnuwiynebp (nbwgbtntibp) pugqduyndynubun QL [nwljuwqd 2 0.0
33691400/509 phupwyw wanwniptp (nbwgbunbbp) pugquwyndynubun Qg [Pwluqd 3 0.0
33691400/510 phuhwlwl wanwyniptn (nbwqblnubp) puqdulyndyntbun Q< Inwlqd 3 0.0
33691400/51 phihwljwl wanwunipbn (nbwgblntbn) pwuqiwyniynubun 9< Inwlqd 3 0.0
33691400/512 phuhwlwl wgnwuniebp (nbwgbunubn) pwquwlyndunubun < [nwluqy 8 0.0
33691410/514 phupwlwl wanuiynyebp (nbwgblnubp) hnny 9L {hwip 3 0.0
33691410/516 phuhwlwl wgnwunyebp (nbwgbuntbp) hinnuy 9L \hinp 30 0.0
33691411/511 phihwlwl wqnuwtynyebp (nbwgbtunubn tingh Ywd gpungutp 9< Yhingpud 2.5 0.0
33691411512 phuhwlwl wanuwtnpbp (nbwgbunbin) tingh Yud gpuunyutip a< Yhingpuwd 1 0.0
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33691411/513 phupwlwl wrwbynipbp (nbwgblntbp) thingh Gud gputingubp qC Yhngpuwd 3 0.0
33691411/514 phuhwlwl wanwlyniebp (nbwgbunubn) tingh Ywd gputingubip 9 Uhingpwd 3 0.0
33691411/515 phuhwlwl wanwlyniebin (nbwgbtinubn) tingh Ywd gpwtingubp 9L Uhingpwid 2 0.0
33691411/516 phihwlwt wanwtyniptn (nbwgkuntbn) tingh Yud gpwlinylbn 4< Uhingpud 2 0.0
33691411/517 phuhwlwl wanuwiynebp (nbwgblnubn) tingh Yud gpulingutip < Uhingpuwd 0.5 0.0
33691411/518 phihwlwl wanuwiyniebn (nbwgbntbn) tngh Ywd gputngubp 9 Uhingpuwd 4 0.0
33691411/519 phipwlwl wgnwiyniebp (nbwgbUnttp) tngh Ywd gpuunybp 9< Yhingpuad 3 0.0
33691411/520 phuhwywl wgnwiynebp (nbwgblntbp) thingh Yud gpuwtinyubp q< Uhingpwd 0.25 0.0
33691411/521 phuhwywt wanwunetp (nbwgbnbtip) thingh Ywd gpuwunyubp q< Yhngpwd 0.25 0.0
33691411/522 phipwywl wgnwinyatn (nbwgbtntibp) thingh Yud gputinyubn q< Yhingpwd 0.5 0.0
33691411/523 phuhwywu wgnwiynetn (ntwgbuntbip) tingh Yud gpuwtinyubp 9L Yhingpwd 2 0.0
33691411/524 phihwywl waqnwiynyatin (nbwgbtintibp) thnzh Yud gpuwtnyutp 9< Yhingpwd 2.5 0.0
33691411/525 phuhwlwt wanwiyniebp (nBwgbtntbn) tnzh Ywd gpwlingbp Q< Yhingpud 2 0.0
33691411/531 phuhwlwl wanuwtynyebp (hbwgbntbn) tingh Ywd gpwtinglbp Q< hingpuwd 1 0.0
33691411/532 phupwlw wanwniyetip (nbwgbtnlbp) tngh Yud gpulingubp QL Yhingpuwd 0.5 0.0
33691411/533 phuhwlwl wanwunebn (nbwgblntbn) thnzh Yud gpuunyubn q< Uhingpuwd 0.5 0.0
33691411/534 phupwlwt wanuwunebp (nbwgbtnttp) tingh Yuwd gpuwiunyubn < Yhinagpud 0.25 0.0
33691411/535 phipwlwl wanwiynyetin (nbwgbtntibp) thngh Yud gpuiinyubp G Yhingpuwd 1.5 0.0
33691411/536 phuhwlwl wanwtynyetip (nbwgbtntbn) thngh Ywd gpwtinyubp G Ypngpwd 1 0.0
33691411/537 phuhwlwl wanuiynyebp (hbwgbtntbn) tingh Ywd gpwlingip Q<L hingpuwd 2 0.0
33691411/538 phupwlwl worutynyetip (nbwgbtintbp) thngh Yud gpwtngubip Q< Lhingpwd 5 0.0
33691411/539 phipwlwl wanuynpbp (nhwgbuntbp) tingh Gud gputnyubip 9L Uhingpwd 5 0.0
33691420/716 [wpnpwwnnp wqnwyniebp (nbwgbbntbp) puqiwynduyntbln q< Inwlwugy 5 0.0
33691420/717 (wpnpwwnnp warwiyniebp (nbwgbtntbp) puguwyndynubun q< Inwljuqu 3 0.0
33691420/718 (wpnpuwwnnp wanwiymiebp (nbwgbunubp) pugdwndynubun QL (Pl 2 0.0
33691420/719 |wpnpnnp wonwnebp (nbwgbntbn) pugiwyndynubun Qg [nwlwaqd 1 0.0
33691420/720 (wpnpwnnp wanuwnyebn (nbwgblntbp) puquwyndwntbtn G< (nwljwqd 1 0.0
33691420/721 |wpnpwnnp wanwniebp (nbwgbunubp) puqdwlndwnubun Gl (nwiljuqy 1 0.0
33691420/722 (wpnpwwnnp wanwgnyebip (nbuwgblnttp) puqdwlnuuntn Q<L [nwiljugqd 1 0.0
33691420/723 (wpnpwinnp wqnuwgnipbp (nbwgbtnttp) puqdwinduntbn QL Inwljuqd 5 0.0
33691420/724 (wpnpwnnp wanubyniztp (nbwgbinttbn) puqiwlnduntbtn q< nwljwgd 2 0.0
33691420/725 wpnpwinnp wanwinietp (nbwgbunlbp) pugqdwlndynubun q< Inwlwqd 2 0.0
33691420/726 {wpnplutnnp wanwgnipbp (nbwgbunlbn) pugiwyndynubn QL Inwluqu 2 0.0
33691420/727 {wpnpwinnp wanwbyniphp (nbwgbunbn) puquwlndynuttn QL [nwiljugd 2 0.0
33691420/728 (wpnpwwnnp wanuiniebp (nbwgbnbibp) pwqdwlndyntbin QL (nubjugu 2 0.0
33691420/729 (wpnpwinnp wqrwnyebp (nbwgblnutn) puqdwiniuntbtn Q<L [nwilyugu 2 0.0
33691420/730 {wpnpwinnp warwnpbp (nbwgbuntbn) puqiwlnduntbto Q< Inwluqy 2 0.0
33691420/731 |wpnpwwnnp warwtymptp (nbwgbtntbp) pugqdwlndynubun L [nwljugd 2 0.0
33691420/732 (wpnpwwnnp wqnwniebin (nbwgbunubp) puqdwlndwnbbln 9L [nwlwqa 3 0.0
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33691420/733 |wipnpwwnp warputymebp (nEwgblntbp) pugquwlyndyntbln 9 nwilyusqy 2 0.0
33691420/734 (wpnpwwnnp wqnutyniebp (nbwghbtnttbn) puqdwlnduntbun Q< Inwljuqd 1 0.0
33691420/735 (wpnpwwnp warputynetip (nbwgblntibip) puqiwlnduynubun G Inwlyuqd 1 0.0
SL 0.0
pd2jwlwl vwppwynpnidubp
33181110/506 htidnnhwihgh uwnpbp < hwwn 5692500 1 5692.5
33181110/507 htdnnhwihgh uwppbp < hwwn 6355900 1 6355.9
33181110/508 htdnnhwihgh uwppbp S< hwin 717600 1 717.6
33161200/503 Funnulynujubip < hwwn 13600000 1 13600.0
33111340/501 whuwnnpnadwt gbpdwjtwiht (Hun), nyinpuduwjuwihts — pnwyjbn ac piiis 1 0.0
uuinplin
33171700/501 wlggu)wguwl uwppbp S< hwn 1 0.0
33191520/501 wpjw thnpuubpwpldwl uwpptp 9L hwn 1 0.0
38511220/501 I‘““"m‘“”h“ w"““ﬁl”n‘f‘]:mj““‘d FFRAKBUAIRS (U tp) % hun 1 0.0
38591200/501 phuhwlwl qwpnpuwnnphwinu Yhpwnynn uwppbn 9L hwn 1 0.0
33121200/501 upunh waluwwnwuph huynnnyajwb uwpplin < hwin 13 0.0
33121200/503 upinh wohuwnwuph hubnnnipju uwppbip 9L hwwn 1 0.0
luntuwwgywd prywduh dwnwlwpwpdwl uwppbp, npnup
33151270/501 Uhpwnynut by prUwdtwiht phpwwhwn huwin 30 0.0
33181480/501 wpywl — hbnnih wwpuwgdwl uwpp QL hwun 1 0.0
33191150/502 hhjwunwunguwjht Jwhawwubp QL huwiwn 5 0.0
42121310/501 pdoluljwt bwwnwlubpny Ghpwnynn wndubp L huwiwn 9 0.0
42121310/502 pdaywlwt bywinwlubpng Yhpwndnn wndwbp qL huwin 18 0.0
42931100/501 |wpnpwwnnphwlwl geunph$niqubp - wwpwgubp < huwin 1 0.0
42931100/502 |wpnpwinnphwlwl guinph$niqubp — wwpwgqubp L hwin 1 0.0
0.0
Uluinwhwishg tynpbp
24451140/502 whutnwhwtihs Wnipbp 9< g 40 0.0
24451141/516 whnwhwuhs hbnniy Winyebip < lhup 500 0.0
24451141/518 whunwhwipg hennily Uynyebp < \hwnp 200 0.0
24451141/520 whumwhwitihs hbnnily Wnyatbip QL thinp 20 0.0
24451141/521 whinwhwhs hbenniy Wnyabip QL lhwp 525 0.0
24451141/522 whutnwhwlps henmy Wnyatip L hup 400 0.0
24451141/523 wihunwhwhs hbnny Wnyebip L [hwp 50 0.0
24451141/524 wiunwhwuhy htinniy Wnystip 4L {hwnp 200 0.0
24451141/525 wihunwhwuhs hbinnuy Wnyetip G< {hwnp 100 0.0
24451141/526 wiuwnwhwUhs hinny Wnyabp G {htnp 100 0.0
33111500/507 Spwp unbiphihquighwih <L hwwn 300 0.0
33111500/508 Spwip unbiphihqughwih G hiuwn 10000 0.0
33111500/509 Spwp unbphihqughwih GL huwin 3000 0.0
33111500/511 Spwp unbiphihquighwih QL hun 500 0.0
33111500/512 Spwp unbiphihquighwih 9L huwin 3000 0.0
33111500/513 Spuwn unbiphihqughwih < hun 100 0.0
33111500/514 hunhlwinnp dwupbwgbipédywanizjwu G hwn 1000 0.0
33111500/315 hunhlwinnp dwupbwgbpdywanipjwu Q<L hwun 2000 0.0
33111500/516 hunhywwnnp dwpbwgbpdywénuzwl q< hwin 2000 0.0
33111500/517 hunhywwnnp dwupbwgbndywdniypiwut GL hwn 3000 0.0
Ejaynpwljwt wupwtpubp
31711620/501 Lnwwrhnnuwht (LED) jnuwnnt 9L hwwn 1300 5 6.5
31711620/502 Lnwwnhnnwiht (LED) nwwwnn < hwwn 1200 20 24.0
31711620/503 Lnwwnhnnwjht (LED) |nwwwinny 9< hwin 1500 30 45.0
31711620/504 Lnwwnhnnwiht (LED) nwwwnnt < hwn 3900 140 546.0
31711620/505 Lnwwnhnnwjpu (LED) jwdy 9< hwwn 460 50 23.0
31711620/506 Lnwwnhnnwiht (LED) jnwwinnt q< hwwn 1200 20 24.0
31711620/507 Lnwwnhnnwiht (LED) inwwinnt G< hwin 7000 30 210.0
31512360/501 Lnwwpdwl wpnwphl G< huwiwn 9000 5 45.0
31512360/502 $nnngh |ntuwnn G hwwn 8544 10 85.4
31711620/508 Lnwwwnt 60*60, 96W 6500K QL huin 7100 20 142.0
31711620/509 Lnwwwnnt 60*60, 96W 6500K L hwitn 7820 20 156.4
31512360/503 Lnwwnhnnuwjht (LED) |niuwwnnt 9L hwn 2700 20 54.0
31211180/501 Utigwinhy UGl unbinuinyg 9L huwn 1200 15 18.0
31211180/502 Uugwnhy dbily unbinunyg wptnwpht QL hwn 1400 15 21.0
31211180/503 Utigwinhy bipynt unbinting < hwn 1500 5 7.5
31211180/504 Utgwwnhg Epynt uinbinuiny wpinwphu L hwn 1600 5 8.0
31684100/508 Jwpnwly hnqwugndwih dhwgnuding G huwin 1400 25 35.0
31684100/509 Jwpruly hnnwlgnuwihu dhwgnuing wipnwpht < hwwn 1586 15 23.8
31684100/501 pgwiiwl Ukl wbn q< huwin 300 25 7.5
31684100/502 Gpowliwly bplynt inbin < hwwn 600 15 9.0
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31684100/503 Gpgwuwly bpbp wbn 9L huwn 900 5 4.5
31684100/504 tupngwly hnnwtgnidng G< huitn 280 30 8.4
31684100/505 Juwprpuly hnnwignudny Bplwpwgdwt jwph hwdwp < hwwn 460 20 9.2
31231200/501 LG SRR TR RS < hwn 350 60 21,0
dwuwwlEuny
31231200/502 Ublydnnbwhu baunpwdnunwdwih winuh K806 G805 dnnljh < hustn 125 20 25
31231200/503 ‘ljjr;:rl:::;nh[mjhh Eiaywpwidnuinwdwiht wnuh K820-2 G-805 ac Yo 250 5 38
31231200/504 lt}:::;ﬁqu]hu Flaynpwdnunwdwiht innuh K820-3 G-805 ac _— 400 10 40
31681700/503 Udwnndwin whgwinhgubiph winuh wpnwpht bwnwnbudwd 2(+1) ac _— 345 5 1.7
unnnyubiph hwdwp
31211180/509 Udinndwin wugwinhs 9< hwwn 4444 4 17.8
31211180/510 Udwnndwin wgwinhs 9L huwn 4244 4 17.0
31211180/511 Uinndwn wugwinhy < huwuwn 3644 4 14.6
31211180/512 Ugwnndwin wugwinhy < huwn 1244 12 14.9
31211180/513 Uduinndwin wugwinhs 9L hwwn 1144 12 13.7
31211180/514 Udinndwin wugwinhy L hwin 1044 12 12.5
44322200/501 <nuwliph dwiniju G bnp 178 100 17.8
44322200/502 Lnuwliph dwinifu 9L dbwp 238 100 23.8
44322200/503 Lnuwliph dwinifu 9L dbwnp 348 100 34.8
44322200/504 Lnuwliph dwinifu QL dbwnp 396 100 39.6
44322200/505 Snuwlph dwiniju QL dbwnp 525 100 52.5
44322200/506 Snuwliph dwiniu < dbiwnp 648 100 64.8
44322200/507 Cnutph dwiniu L Jbnp 614 100 61.4
44322200/508 Lnuwlph dwniu L dbkwnp 936 100 93.6
44322200/509 Cnuwlph dwiniju < ubwinp 1198 100 119.8
44322200/510 Cnuwph duwntu < dbinp 1980 100 198.0
44521230/501 wjwuwndwub PA 66 wdpwl duyniuh hwdwp G hwin 440 3 1.3
44521230/504 wjwuwndwub PA 66 wdpwly dwinjuh hwdwp Q< huin 560 3 1.7
44322550/501 Uwinifuh wunip GL husn 3 300 0.9
44322550/502 Uwinifuh wunip 9L huwin 5 500 2.5
44323550/503 Uwinijuh wnip Q< huwwn 5 500 2.5
31651400/502 kL. dblynwps dwuywgbu < huitn 135 50 6.8
32442400/501 hupuwubndunn nbpdhtwuht pll(knemmanig2+2 2,544 CH-2 E1e hwn 60 300 18.0
31711770/501 ;lhgnu]w;hh-bnlmu wdbphlywy fupngulny(nepexoannk TpoHHMK) ac i 590 18 10.6
z
31681700/504 Uwndwin Ungwinhsubiph Snuh < hwin 1200 5 6.0
2nnUwh [ujut {T60-480°S) puwiht Ejpwl Bt
32351120/501 220V/40 MaaneHan craHuwa (160-480°C) undpposoii gucnneit G huwn 21144 2 423
220Y/40 naAnbHUK
32442400/502 Din nkubp din  peiika QL hwn 425 5 2.1
31684100/510 Ywipnuwly hnnwugnwing bplwpwgdwt pph hwdwp Q<L hwn 30 0.0
31684100/51 dwpnwy hnnutgnuwing bplwpwgdwt pwph hwdwp QL husn 15 0.0
31221220/503 Uhgnufubiph wnuh,pug dninwdh hwdwp(6 Ygnpnhsubipnd) G< huwin 5 0.0
31221220/504 Uhgnidubiph winuh, pug dntitnwdh hwdwp(6 Ygnpnhsutipnd) Qg husn 10 0.0
31681700/506 Muuuwhl wnuhbp feywpwgsbph hwdwp dwlywsd Q< huin 20 0.0
32324900/501 <bnnwinwgnyg GL hwn 1 0.0
39711290/501 Uhlypnwihpwiht Juwnwpwutbp G hwn 3 0.0
32551170/503 Ubywp hbnwfunu G hwwn 7 0.0
Spuwubbjwluyht wwpwupubp L inipbp
30197620/502 Enine, A4 $npdwnh L wnnuh 3000 0.0
30197620/503 pnine, A4 Snpldwinh gniuwynp 9 wnth 1 0.0
30197620/504 pnine, A4 $npdwwnh huptuwlwsniu phppbn 9L wnuh 9 0.0
30192800/501 htglwluwsnit whunwl / guwwhunwy 30*40dd/ 9L huwiwn 10000 0.0
30192800/502 hugbwluysniu whinwl / guwuhunwy 20*30dd/ Q< huwn 5000 0.0
30199420/501 R udnpubph hwdwn, unutdywdpny q< huwin 600 0.0
30197322/501 Yuwphs, 20-50 phpeh hwdwp G< huwin 100 0.0
30197100/501 Ywphsh dbnwnuwiwph Yuwbp, dbé G wnih 10 0.0
30197112/501 Yuphsh dEnwnwwpb Yuwwbp, dhehu < uinith 300 0.0
30197111/501 Yuwphsh dbwnwnwiwpt Yuwbp, thnpp qL wnith 200 0.0
30192710/501 unubidwdwnpwn, gpwubljwlwghu < hwwn 1800 0.0
30192231/501 uljns wnihubpuht q< hwwn 200 0.0
30197340/501 wuywljwiphg q< hwwn 30 0.0
39263600/501 gpswunuh, gpwubtywluiht < hwn 200 0.0
30193200/501 thwutnwpenpbph hwiwp bwuwnbudws, ubnuth ypw npgnn ac¢ husn 200 0.0
nuwpwlwownbip
30192100/501 nbwnht hwuwpwl QL hwn 400 0.0
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30192133/501 uphs qc hwn 150 0.0
39263400/501 wupwly /ulpbuy /, dhoht q< winith 200 0.0
39263410/501 wuipwl /uypbiy /, thnpp 9L wnith 200 0.0
39263530/501 ubnuwy /yihwuby/, Jts < hwwn 360 0.0
39263520/501 ubndwy /Y hwuby/, dheht GL hwn 200 0.0
39263510/501 ubnuwl /yhwub/, tinpp QL hwwn 200 0.0
39292530/501 puwitnt, dhunwnw a< hwwn 150 0.0
30192231/502 ulyns 9 hwtn 500 0.0
30192160/501 auns 120 9< hwin 800 0.0
30192160/504 aunphs 74; < hwwn 800 0.0
30192125/502 uwpltp 9¢ hwtn 500 0.0
39241210/501 Ulpwin, gpuubljwlywiht QL hwn 200 0.0
30141200/501 hwayuwuwpp, gpwubitywlwihu G huwwn 30 0.0
30192130/501 duwinpunbip gL hwwn 500 0.0
30192121/501 qnhs qunhlwynp 9L huwin 3500 0.0
30197231/501 prpwwwbwy, wnhdbpwiht punwipe, Suy 9L hwwn 20000 0.0
30199260/501 hwwnnty U4 pwp GL hwwn 5000 0.0
30192114/501 Gupuhp pwlwp, Yuhph pwpdhlh hwdwp QL hwin 20 0.0
30192114/502 Yuiwynywn pwitwp, Yuhph pupdhlh hwdup G< hwwn 50 0.0
30192111/502 pwlwph pwpdhy QL hwn 20 0.0
39263200/501 g;:]t;ﬁh]mhwjhh ghpp, dwinjut, 70-200k9, nnnwiuh, uwhinwy ac huitn 50 0.0
22851200/501 Wl q< hwin 300 0.0
22851200/502 prRWwwuwy < hwwn 300 0.0
22851200/503 prRWWwuwl < hwwn 200 0.0
22851100/501 wpwgwlwpubp L huwn 200 0.0
22851200/510 prewwwiwyutp 20 buyny 9L hwn 300 0.0
22851200/511 phRwwwuwlubp 30 Sw)iny < hwwn 200 0.0
22851200/512 pRwwwuwlubp 60 Huwjny 9L hwun 200 0.0
30195700/502 gpwinwunwyutph dwppdwi uwniug GL hwwn 100 0.0
30192350/501 hwoyhs-npuidwpynuiht depbuwubph dwwwybubn 9L huwin 1920 0.0
Sunbuwljwh b jhtiwpwpwljwt tywbwlnipywl wypwupubkp
32551170/503 whiwn hbinwfunuutp 9L hwin 8 0.0
31685000/501 kibYwnpwlwy bplpwpugdwi jup Q<L huwn 10 0.0
30239150/501 nwghs uwnp, pwqdwhniuyghntiuy G huwin 1 0.0
35121330/501 Sunphfu Ynnbiph ujwbwynpdwl uwpbp 9< huwn 11 0.0
30232110/506 Luwqbipuihti nughs qc hwin 6 0.0
18141100/503 wluwnutpwiht tnlingubp < qnyg 124.25 240 29.8
18421130/502 dkinungubip 9< qnyg 145 1500 217.5
18421140/502 Ublwuqudiw ogunwgnpddwl dbnungubp < qnyg 2.996 30000 89.9
18931160/501 Jwgph wuwynwwlubp < hww 5499 5 27.5
18931180/504 wwnwlptbiph thwepbpwynpdwt wnypwlubp qL hwn 12000 0.0
18931180/505 wwpwipbph thwebpwynpdwl nnwpwliubp 9L huwin 12000 0.0
500 0.0
19641000/505 wnihkphbtwht wwnl, wneh hwdwp hwwn 20022 500 2001
19641000/506 wnihkppbuwht wwpl, wnph hwdwp QL huin 243 2800 680.4
19641000/507 wnihbepBuwht wwply, wnph hwdwp q< hwtn 165 1600 264.0
19641000/508 wnihbphiEbwht wwply, wnph hwdwp L hiuwn 140 2000 280.0
24451141/514 whunwhwuhs hinny Winyebp QL |htnp 264 500 132.0
31441000/503 dwpwnlyng, AAA inbuwlh QL hwtn 50 300 15.0
31442000/502 dwpinlyng, AA inbuwlh < hwwn 50 300 15.0
31442100/501 Ununwiljhy dwpinlnglbp qc hwin 184.92 100 185
31442100/503 Ynunwyhs dwpunlngubp G hwin 199.5 200 39.9
31685000/501 EiEYwnpwlwu bplwpwgdwl jwp 9 huwin 1495 25 37.4
31685000/502 Eiaywnpulwl bplwpugdw jwn G huwtn 1970.4 25 49.3
31685000/503 Eiblwnpuilwt bpwpwgdw jwp 9L hwin 3990 10 39.9
33141118/501 whidbinnghlubp 9L hwwn 370 50 18.5
33141201/502 Puwlupiutp a< hwin 2.8 300000 840.0
33711210/502 dblwbguijw oginwgnpddwl wudbnnghlyubp < hwwn 390 5000 1950.0
33711480/503 ofiwn < hwiwn 120 500 60.0
33751100/503 dbljwquidjw oginwgnpddwl tnwlnhpubp < hwwn 120 200 24.0
33751100/504 dblywbgwidjw ogunwgnpddwl tnwynhpubp GL huwiwn 150 200 30.0
33761000/503 gniquipwbp pninp, nnynuny G huwn 80 4000 320.0
33761000/504 gniqupwth pnine, nnynuny G huwwn 80 2000 160.0
33761300/503 abnph Rl upphstbip L hwn 148 1200 177.6
34331400/502 wywnndbptuwutph gnpgbip L hwiwn 1392 50 69.6
39221190/501 tudbgnt oph inwpwbp L hwwn 18438 10 184.4
39221220/501 hwgnuinh snpwungubip < hwwn 10434 10 104.3
39221350/503 dhlwuquidjw ogunwgnpddwl pudwlubip < hwn 3.5 15000 52.5
39221410/502 wiaubp a< huitn 100 0.0
39221420/502 funquitiwljubip 9L hwn 1269.6 50 63.5
39221430/502 funquitiwl-uwniug wwwyh dwppbnt hwdwp, nbuhub L hwn 2328 10 23.3
39221480/502 qrigupuwih funquiwlubp S< huwin 449 200 89.8
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39221490/502 uwntugubip QL huutn 77.77 800 62.2
39224331/502 Ny wwundwub G huwin 399 80 31.9
39224331/503 nny| wiwuindwub qL huwwn 171 50 8.6
50 0.0
39224342/503 wnpwnlyn, dbnwnjw G huwwn 5390 100 5390
39224344/502 wnpwnln’ phebinw q< huwn 39 g
1188 50 59.4
200 0.0
39511130/501 uduiubn Q<L hwin 549 1000 1549.0
39511130/502 uwywiubip 9L huwn 150 200 30.0
39511130/503 uwuwitiibp 9L hwn 100 200 20.0
39513200/502 prpl widtnnghy, Bpypbpwn 9 hwn 220 1000 220.0
1000 0.0
39522330/502 dwppnn Yunputip QL huwwn 735 3000 7700
39713410/502 huwinwlh dwppdut uwppbp qc hwin 1308 100 130.8
39713410/503 hwnwp dwppdwt uwppbp 9 hwn 450 250 12.5
39713410/504 hunwlh Jwppdwl uwppbp 9 hwtin 4000 100 400.0
500 0.0
39831100/503 [Ywignn bynyebip Q< lhinp 168 1000 1680
39831100/504 (dwgnn Uniebp 9< thinp 72 7000 504.0
39831210/502 uwwuph (Ywgdwu nhnbpgblnubp <L hwwn 94.96 1000 95.0
39831243/504 1wgph thnzh wwnnduin < pingpuad 325.03 700 227.5
39831245/502 ofiwn, htinnily 9 thwp 168 1500 252.0
39831247/502 wiuinwhwunn htqniy’ uwuhwgnygh hwdwp {(funwnye) 9< \hwip 336 1500 504.0
1000 0.0
39831278/502 uwjwuph (Ywgdwt thngh g hwin 1596 500 79.8
39831278/503 uwwuph |Juigdwu thngh < hwiwn 290 50 14.5
39831280/502 wuwywlh dwppbnt dhgng < thuwip 276 500 138.0
39831283/503 hwnwlh gl jwp a9 huitn 876.78 1000 876.8
39831283/504 hwwnwyh Yuguwl jwp QL huitn 349 300 104.7
200 0.0
39831283/505 hwnwlh (Yugdw jwp Q< huin 1000 1000 1000.0
39835000/502 hwwnwl dwppbnt &nn, wjwuwndwub, thujnjw 9 huwin 1000 50 50.0
100 0.0
39836000/502 wyby, unynpuwiljut 9L hwtn 550 700 190.0
39837000/502 guifuwybi 9L hwn 350 50 7.5
42961300/502 hhahtuhy wwpwquwubiph nhuwbuubpubp 9< hwwn 3996 20 79.9
44211280/502 annbp < hwiwn 292.8 100 29.3
44521120/504 nnuwib thwlwibp q< hwiwn 10 0.0
44521120/508 nwl hwlwlubp < hwwn 4428 10 44.3
44521120/509 nnwit thwwliibn q< huwitn 10 0.0
42414700/501 yYtipbijwyutip L hwwn 3300000 1 3300.0
441632801 funnnywluhts wwypwlputp uu hwiwn 46200 15 693.0
44221200/501 uwhnn nnubip G< pd 30 0.0
16311400/501 funwnhudhy dbpbuwbp GL hwin 1 0.0
18441210/501 uwnuywpnubip GL hwn 1 0.0
30194220/501 qdwanwlul dwwwybtubp ac huitn 1 0.0
31442100/505 Ununwlhs dwpiningubp L hwn 60 0.0
31681900/501 Eiblnpuwlwts wlnuhg (nnby) Q<L hwwn 1 0.0
33191350/502 wigwuwywlubp Q<L huwwn 1 0.0
33191350/503 wuywuwyulubp GL huwn 1 0.0
39241141/501 nuitiwl’ gpuwubiywlught 9L huin 10 0.0
39241141/502 nuwiwly' gpwubbjwlwihu L hwn 10 0.0
39241210/503 Uhpwiwn, gpwubtywluhu QL hwn 2 0.0
39241250/501 dwnbph dypwin (ublywinnp) ac huwin 2 0.0
39712300/501 Juwpuwhwprpwphsubp < hwiwn 2 0.0
42121430/501 quiquijht Suswlubp (Undwpbunplbp) < hwun 1 0.0
42121710/501 quiquiht Yndwptunpubiph dwubip < hwn 1 0.0
42661300/501 bnwlygdw uwpplbip <L hwn 1 0.0
42671100/501 gnpdhpubinh pnuhgutip G< hwwn 2 0.0
42671170/501 anRwjwnp unng L hwwn 1 0.0
42921240/503 hbnniywghp wunpéwwlubp < huwin 3 0.0
42921240/504 hannijwghp winp&utiwlubp G hwwn 3 0.0
43121170/501 wanifuh Ywd pwph hnpwuwnhsubip G<L huwwn 1 0.0
43121170/502 wdnifuh Ywd pwph hnpuwwnhsubip G< huwin 1 0.0
43411300/501 phwnnup Ywd hwywugh uwnupsubp G< huwwn 1 0.0
43411500/501 hnlynn uwpptip gL hwtn 1 0.0
43411500/503 hnynn uwppbp < huwtn 1 0.0
43411500/504 hnlynn uwppkp < hwin 1 0.0
43611290/501 pwph hnpwinhsubiph dwubp QL hwwn 2 0.0
43611290/502 pwph hnpwinhgubiph dwubp < hwwn 2 0.0
43611290/503 puwph hnpwinhsubiph Jwubip L hwwn 2 0.0
44112730/504 Lunpnn ulwjwnwly < huwiwn 2 0.0
44411100/501 anpuwljubn QL huwin 5 0.0
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44511100/501 dtnph gnpdhpubip QL hwin 2 0.0
44511100/502 &binph gnpdhplitin < hwin 1 0.0
44511100/503 dbinph gnpdhpubip < huwin 1 0.0
44511100/504 atinph gnpdhpubip < hwin 1 0.0
44511100/505 atinph gnpéhpubip QL hwn 3 0.0
44511100/506 &tinph gnpéhplibin Q< hwin 1 0.0
44511100/507 dbinph gnpéhplibn q< hwitn 2 0.0
44511200/501 &tinph unngtibip 9< hwwn 2 0.0
44511200/502 abinph unngubip 9< hwin 2 0.0
44511200/503 abinph unngbip 9L hwn 3 0.0
44511200/504 abinph unngubip 9L hwtn 2 0.0
44511240/501 wpguwlbp q< hwn 2 0.0
44511240/502 wpgwuubp GL hwn 3 0.0
44511240/503 wpgwlilbp q< hwwn 3 0.0
44511270/502 dnipétip L hwn 1 0.0
44511270/503 dnipébip < hwn 3 0.0
44511270/504 dnipétip 9L hwwn 2 0.0
44511330/501 wunnunwlwhwlbp 9L hwtn 3 0.0
44511330/502 wnnunwlwhwiubp 9L hwin 3 0.0
44511330/503 wununwywhwiubp S< hwwn 2 0.0
44511340/501 quyhlynup uwjpbip GL huin 3 0.0
44511343/501 qujihlynt gL huin 2 0.0
44511343/502 quyhlynt 9L hwwn 3 0.0
44511343/503 ql.umll{n'u 9L hiutn 2 0.0
44511343/504 quj|hynt L hwin 1 0.0
44511343/505 quiihynt L hwn 1 0.0
44511343/506 quihlnt q< hwin 1 0.0
44511343/507 qujihynu L hwun 2 0.0
44511343/508 quijihlynts G hwwn 3 0.0
44511343/509 quijihlyntu < hwin 3 0.0
44511343/510 quyhynt < hwn 3 0.0
44511350/501 wnnunwlywhwiubph uwpbip < huwin 1 0.0
44511360/501 gnpdhpubiph nbnwithnudwl dhengubip < hwwn 3 0.0
44511360/502 qnpshptbiph wbnwihnfutiwb thengubin < huwtn 3 0.0
44511370/501 qnpdhplbiph hwywpwdniubp GL huwn 5 0.0
44511370/502 gnpdhpubiph hwjwpwsdniubp G huwiwn 2 0.0
44511370/503 qnpshptbph huwiwpwdniutin q< huin 2 0.0
44511370/504 gnpdhpubiph hwwpwdniubp QL huwwn 3 0.0
03411120/501 thuwynwlynyahg wwinpwunyuwd wpnwnpuup G hiuwn 100 0.0
14211000/504 wijwg, Phtuwpwpuilut q< fudf 30 0.0
14211111/502 Juwiupwiuht 9L fud 24 0.0
14811300/501 hnynn ulwunwlubp q< hwin 20 0.0
14811300/502 hnynn ulwywnwyubp <L hwwn 20 0.0
14811300/503 hnynn ulwywnwlubp q< hwwn 20 0.0
18421130/503 abnungubip q< qnyq. 50 0.0
18931130/502 swipnglbiph wwpltp q< hwin 300 0.0
24911500/502 unuptid (wkpngny) < hwwn 20 0.0
24911900/503 uwihlih unupt q< Yhingpuid 1500 0.0
30192230/501 ulng’ Eplynndwuh unutdywd < hwwn 10 0.0
30197323/501 Yuwphs, 50-hg wybh phipeh hwdwp QL hwin 2 0.0
31211180/515 wynndwin wugwinhsubip < hwwn 2 0.0
31211180/516 wiinndwn wgwinhsubip < hwiwn 2 0.0
31211180/518 wytnindwin wguinhsubp 9L hwwn 20 0.0
31211180/519 wywndwin wgwinhsubp < hwwn 5 0.0
31211221/501 wpwnhsubip G huwin 15 0.0
31221200/501 fupngubipp Bnwuplubp — Jupnwlubp 4L huwwn 50 0.0
31221220/506 dhwguwu wnwhbp QL huwwn 30 0.0
31221242/501 nyniph| q< huwitn 2000 0.0
31221242/502 njniph| q< hwin 50 0.0
31221242/503 nynipt| q< hwin 100 0.0
31331192/501 EBlnpwluil dwiniu’ UddS a< Ubnp 200 0.0
31331192/502 Eibynpuiljwt dwyniu’ UddS q< dbiinp 400 0.0
31331192/503 Ebywnpwljwt dwgniu’ ULUS 9L dbwnp 100 0.0
31331192/504 bblinpwljwt dwiniu' Ud4S L dtinp 10 0.0
31531100/501 Falunpuwilwt jwdwbp AL hwwn 40 0.0
31641216/501 hwnnty wnnwnwy a< huwwn 1000 0.0
31641216/502 hwinniy wnnunwly G< hwwn 1000 0.0
31641216/503 hwwnniy wwnnunwly 9L hwwn 1000 0.0
31641216/504 hwwnniy wwnnunwly G< hwwn 1000 0.0
31641216/505 hwwnniy wnnunwy G hwn 500 0.0
31641216/506 huwwnily wunnunwy < hwiwn 1000 0.0
31641216/507 huwwnnily wunnunwl QL hwtn 6000 0.0
31651400/503 dblniuhs dwuywykutibp q< huwtn 50 0.0
31651400/504 ublynwupy dwwwybklubp G hwn 30 0.0
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31651400/505 dklyniuhs dwwywbuubp Q< hwtn 20 0.0
31651400/506 dbyniuhs duwwybuubip G< hwtin 20 0.0
31681700/507 pwdwlwpwp wnwh < huwtn 15 0.0
31681700/508 pwdwlwpwp wnwh 9< hwin 1 0.0
35111300/501 Wwiainwwihs — wudunwugnipiuls hwgniuin QL hwin 20 0.0
39132220/502 Ywiuhsubip 9L hwn 60 0.0
39132220/503 Yuwuhsubip 9< hwwn 200 0.0
39221460/501 Undpht' Ubpluwpwpwlwl GL hwn 20 0.0
39221460/502 Upéht' ubiplupwpwlui q< huwn 10 0.0
39221460/507 Upaht' ubplwpwpwljwu L hwn 20 0.0
39221460/508 Undpte' ubplwpwipwljut L hwn 20 0.0
39224331/504 Y| wjwundwub GL hwwn 15 0.0
39812600/501 dwppnn dwdnijubip — thnghtibip 9< hwiwn 5 0.0
42921240/505 hbinniywghp wwnpEwilyubp 9L hwwn 3 0.0
42921240/506 hennijwghp wunpéwwlubp QL hwtn 10 0.0
42921240/507 htinnijwghp winpéwtiwlubp QL hwn 3 0.0
42951300/501 hwpphgunn dbpbuwtbph Jwubp < hwn 3 0.0
44111200/502 gbdbun SL lhingpuwd 250 0.0
44111400/503 Yufundh wnwuinwn G< pd 54 0.0
44111400/504 Yuunuh wnwuwnwn < pd 100 0.0
44111412/502 ubiply, shtwpwpwlwt 4L Yhingpuwd 800 0.0
44111413/505 Jninuiubipy G Yhingpuwd 10 0.0
44111413/506 Jninuibply q< Uhingpwd 15 0.0
44111417/501 twhuwlbply qc Lhingpuwd 100 0.0
44111419/501 gnuwz L hwn 15 0.0
44111446/502 Ubynwhsutip L huwn 30 0.0
44111448/501 gbipuwyhu dblynwhs Wnysbip 9L hwn 60 0.0
44111448/505 ghipduyhu dhlyniihs Wniebip 9 hwwn 30 0.0
44111710/502 uwihl, Ybpwihlwlwt, hwnwlh hwdwp q< pud 200 0.0
44112210/501 inwihp G< pd 50 0.0
44112730/505 linpnn ulwdwnuwl q< huwin 3 0.0
44112730/506 lnpnn ulwdwnwl 9 hwin 100 0.0
44112730/507 Linpnn uluiduwinwly QL hwwn 5 0.0
44141200/501 opewiwlubip L hwwn 50 0.0
44163400/506 Ybpwunpnguwt wunipubp — wwpgniuwlubp < hwin 400 0.0
44163400/507 YbpwunpngUw wuniptbp — wwpgniuwlubp 9L hwin 150 0.0
44171100/508 uwithyubp (ohtiwpwpnisut) < pd 288 0.0
44171100/509 uwhlubp (shtwpwpnuyzjwl) 9 pd 288 0.0
44171110/503 uwhlubipp uwsniy q<c hwin 30 0.0
44191700/502 wj| quiwqwl shuwpwpwlwl Wnipbp GL Uhingpwd 13 0.0
44191700/507 w| quwgqui shtwpwpwlyut wnyebp L lhingpuwd 15 0.0
44211610/501 wlyniuubip 9L hwin 300 0.0
44211610/505 wulyniubp L hwn 300 0.0
44211610/506 whlyniuubp 9L hwwn 100 0.0
44211610/507 wlyniitibip aL hwn 100 0.0
44211610/508 wlyniutbip Q< hwun 100 0.0
44311120/501 thow)wpbip 9< Uhingpwd 5 0.0
44311170/503 bnwligdwl wwpwgwbp L hwwn 500 0.0
44322550/504 Uwinifuh wnipbp AL hwwn 5 0.0
44322550/505 dw(nifup wunipubp < hwwn 5 0.0
44322550/506 dwnifuh wniplibp < hwn 3 0.0
44331410/506 Ywhundh wnwuwnwnh ghiuwwwwn wpnbhy < qéwudbinp 60 0.0
44331410/507 Ywhundh wnwunwnh ghuuwwwwn wpnhy G< qdwubinp 6 0.0
44331410/508 Ywunyh wnwunwnh ghtjwwwwn wpnbhy GL qdwubinp 15 0.0
44331410/509 Yuiundh wnwunwnh ghulwwwwn wpnbh) QL gdwdbinp 100 0.0
44331410/510 Ywhunyh wnwuinwnh ghuwuwn wpndhy QL qéwdbnp 80 0.0
44423480/501 dwybpbuh winuhbp G huwin 10 0.0
44423480/502 dwlbipbup winuhbp 4L huwn 10 0.0
44423480/503 dulybipbuh wnupbip L huwtn 5 0.0
44423600/504 Yuggntt duyuiblilitip qc hwtn 20 0.0
44511260/501 hnywpenine 9< pu 1 0.0
44511260/503 hnlwpnine q< pd 1 0.0
44511260/504 hnywpenine QL pu 1 0.0
44521120/510 rpnwli thwlwlubp Q< hwn 150 0.0
44521120/511 nnwl thwlwuubp L hwwn 60 0.0
44521230/505 wdpwlubp Sl huwin 3 0.0
44531191/502 biplywph funnndulutp qc dbinp 400 0.0
44531191/503 bplywph funnnyuwlutp q< dtwnp 100 0.0
44531200/501 ny wwpnipwlwdnp wipwgdwl nbunwubp 9L hwtn 10 0.0
44531200/502 ny wwpnipwbwydnp wdpwgdwl nhivnwubp < hwin 220 0.0
44531260/501 wwpnipuwibpwgnp wdpwgdwl nbunwubp QL [pwlwuqd 50 0.0
44831500/502 {nidhsubip Q< Uhingpuid 3 0.0
44921500/501 Shithwiwdhy' ghwjuwiht 9L Uhingpud 150 0.0
44921500/502 shhwdwshy' ghwuwht g< Yhngpwd 5100 0.0
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44921500/509 Stthwdwadhly' ghwuw)hu 9L Uhingpwid 1050 0.0
44921500/510 dbthwdwadhl’ ghwuwihl < Uhingpwyd 150 0.0
09211631/501 hwlwynnnghnl jnintip < Uhingpud 3 0.0
38621300/501 hwjbih' phinnnuiljw q< huwin 30 0.0
39351100/501 Ynjninpubiph dwppuiw uwpptip 9L hwin 1 0.0
39351100/502 Ynjninhubiph dwppdwl uwpptip < hun 3 0.0
39722400/502 wy Yigwnwyht wnbuthlwih dwutip 9L hwin 50 0.0
39722400/503 wj| Ybaigwnuh wbfuihugh dwubp G< hwwn 50 0.0
39722400/504 w] Yaugwnuwiht inbuuhluwh dwubp 9L hwwn 50 0.0
39722400/505 w)| ybugwnuihu wbuuhywih dwubp < hwn 50 0.0
39722400/506 wiy LGugwnuijht nbluthlwh dwubp q< huitn 50 0.0
39722400/507 wy| Yaugunuwiht nbutihluyh dwubp 4L hwwn 100 0.0
39722400/508 wj| Yugunujht inbfutihlwh dwubp G< hwwn 50 0.0
39722400/509 wj| Yuugunwyht wbuthluwh dwubp SL hwuwn 50 0.0
39722400/510 wj| Yauguinuwihts whutthluyh dwubp G< hwwn 20 0.0
39722400/511 wj| Yaugwnwyht wbuuhluh dwubp L huiwn 10 0.0
39722400/512 w)| Yhugunuwihu wbuuhwih dwubp QL hwwn 100 0.0
39722400/513 wj| YEuguinuiht ibhitihugh dwubp gL huin 50 0.0
39722400/514 wj| ybuguinuht nbuuhlwh dwubp G hwwn 20 0.0
39722400/515 w)| ybugunwihu nbuthwh dwubp G< huwin 20 0.0
39722400/516 w)) Ybtgumwht wnbuthluh dwubp Q<L hwn 10 0.0
39722400/517 w)| Yaugwnuiht wnkuthyuh dwubp Q<L huwin 100 0.0
39722400/518 w) Yhugunuyhu inbuthlugh dwubp < huwn 100 0.0
39812500/501 opwidbilniupg Uyniebip G huin 10 0.0
42131490/501 uh$nl 9L hwwn 200 0.0
44131100/501 Ynjninnt fugbp L huwin 5 0.0
44131100/502 Ynyninnt fughbip QL hwn 5 0.0
44161230/512 funnnywlibph wwpwgwibp 9L hwin 40 0.0
44161230/513 funnnywlubiph wwpwquubp 9< hwn 40 0.0
44161230/514 funnnyuwlibiph wwpwgwubp L hwin 50 0.0
44161230/515 funnnywlubph wwpwgwbn L hwn 15 0.0
44161230/516 funnnuwlubph wwpwqubp < hwwn 40 0.0
44161230/517 punnniwlubph wwpwgqubp q< hwin 50 0.0
44161230/518 funnnuwliubph wwpwgwubp < hwn 40 0.0
44161230/519 funnnyuwlubph wwpuwquitp a< hwwn 15 0.0
44161230/520 funnnywljubph wwpwgwubp L huwwn 15 0.0
44161230/521 funnnywilubph wwpwgqubp 9L hwin 15 0.0
44161230/522 funnnywlubph wwpwguwbp QL huswn 5 0.0
44161230/523 funnnywlbph wwpuwguwbp QL huwwn 20 0.0
44161230/524 funnnywiubph wwpwquibp QL huwwn 20 0.0
44161230/525 funnnyuilubph wwpwquiubp G huwwn 50 0.0
44161230/526 funnnyuwiubph wwpwgwubp 9L huwin 20 0.0
44161230/527 funnnywlubiph wwpwgubp <L huwwn 20 0.0
44161230/528 funnnywlubph wwpwgwubp G huitn 15 0.0
44161230/529 funnnywlubph wwpwgwbp QL hiun 15 0.0
44161230/530 funmnywlubph wwpwguwbp < hwn 50 0.0
44161230/531 funnnywlubph wwpwgwlbp q< hwin 50 0.0
44161230/532 funnnywibiph wWwpwqwubp <L hwn 50 0.0
44161230/533 funnnyuwlubiph Wwpwgwubp < hwin 50 0.0
44163140/502 oph — gninpant funnnywljutip G< ubinp 80 0.0
44163140/503 9ph — gnynpgnt Junnnywijutin 9< Ubnp 80 0.0
44163140/504 onh — gninpgnt funnnywlubp < Ubnp 8 0.0
44163140/505 onh — gninpant funnnywlubip < dbinp 8 0.0
44163140/506 oph — gnynpznt Junhnywlubp G< dbwnp 16 0.0
44163200/503 hunnnyulubph dhwgdwl dwubip q< hwin 20 0.0
44163200/511 funnnywlubiph Jhwgdwl dwubp 9< hwin 20 0.0
44163200/512 funnnywlubiph dhwgdwt dwubp QL huwwn 30 0.0
44163200/513 funnnuwlubph dhwgdwl dwubp G< huwin 30 0.0
44163200514 funnnuwliubph dhwgdwl dwubp < huitn 20 0.0
44163200/515 hunnniwliubph dhwigwt duutip < hwin 15 0.0
44163200/516 funnnywiubph dhwgdwl dwubip QL hwwn 15 0.0
44163200/517 funnnywijubph dhwgdwl Jwubp L hwn 15 0.0
44163200/518 funnnywlubiph dhwgdwl dwubp L hwn 15 0.0
44163200/519 punnnyuiljubiph Uhwguwt dwutip q< huwin 20 0.0
44163200/520 unnnyulubph dhwgdwl dwubp Q< hwwn 20 0.0
44163200/521 funnduwiljubph dhwguwl dwubp q< hwin 20 0.0
44163200/522 funnnywlubph dhwgdwl dwubip 9L hwin 20 0.0
44163200/523 funnnyuwliph dhwgdw dwubp 9< hwin 20 0.0
44163200/524 funnnuwliubph dhwguwl dwubp q< huwiwn 20 0.0
44163200/525 funnniwijubph dhwgdwl dwubip L hwun 10 0.0
44163200/526 funnnuwlubiph dhwgdw dwubip QL hwun 10 0.0
44163200/527 funnnuwlubph dhwgdwt dwubp qc huitn 10 0.0
44163200/528 funnnuwliph dhwguiwl duabp a9l huwn 10 0.0
44163200/529 funnnywtbph dhwgudwl dwubip G< hwwn 10 0.0
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44163200/530 funnniwlubph dhwgudwl dwubip q< hwin 10 0.0
44163200/531 funnnywlubph dhwgdwl dwubip 9L hwin 10 0.0
44163200/532 funnndwlbph dhwguut dwubp 9< hwin 10 0.0
44163200/533 funnnywbiubph dhwgdwl dwubip L hwiwn 10 0.0
44163200/534 funnnuwlubph dhwguwl dwubp 9L hwun 20 0.0
44163200/535 funnnyuwlubph dhwgdwl dwubip qL huwin 20 0.0
44211610/509 wllyniubp 94 hwwn 10 0.0
44211610/510 wulyniutbp < hwn 10 0.0
44211610/511 wlilyniiubp a< hwtn 10 0.0
44211610/512 wulyniuutin 9L hwwn 10 0.0
44211610/513 wllyniitbp L hwin 10 0.0
44411100/502 dnpwljubp G< hwwn 30 0.0
44411100/503 Snpwljubip Q< huwiwn 30 0.0
44411100/512 dnpwljubip 4L hwwn 100 0.0
44411300/501 wgwpwitbp Q< hwn 25 0.0
44411500/507 thwlwt' gunwé— < hwin 20 0.0
44411500/508 thuwlut’ gunwd— 9L huwiwn 20 0.0
44411500/509 thwlwi' gunuwa- 4L huwin 20 0.0
44411500/510 huwljwt’ qunwd- L huwwn 20 0.0
44411500/511 thwlwl' qunué— 9 hwn 20 0.0
44411500/512 thwlwl' qunuwd- q< huwtn 20 0.0
44411500/513 Yt glinws— < hwtn 20 0.0
44411500/536 thwlwl' qunwé— < hwin 5 0.0
44411500/537 thwlwu' qunwé— < hwin & 0.0
44411500/538 thuwljuwt’ gunud— < hwiwn 20 0.0
44411500/539 thwlwy' gunwi— < hwiwn 30 0.0
44411500/540 thwluit’ quRwa- q< huwin 5 0.0
44411500/541 thwljwl' gunws— a< huwin 5 0.0
44411500/542 thwlwt’ gunuws- 9L huwin 80 0.0
44411740/501 gniqupwwlnup g< hwwn 25 0.0
44411742/501 gniqupwiwynuph dbfuwlihgd q< hiun 50 0.0

4L 0.0

Cwiwlwpgswht uwppwynpnd
30211280/502 Lwidwlwpghs wdpnnep dklnud G hwtin 35 0.0
30211200/501 Linppnip L hwwn 10 0.0
30239110/501 Suyhy pwgdw$niulyghntiug L hwwn 3 0.0
30239110/502 Sujhs 3-p dbiynd o< huwin 20 0.0
30239110/503 Sujhs thnpp q< huwitn 10 0.0
30237411/501 Uyhupl a< hwin 20 0.0
16111200/501 Ulwuwnwlwlhp a< huitn 3 0.0
30211170/501 Uhlypninhy < huwiwn 2 0.0
32561600/501 Unwuwnbip 9L huwin 50 0.0
30237132/501 HDMI gL hwwn 3 0.0
32421300/501 Uyhs/8 port L hwwn 10 0.0
32421300/506 Uyhs/5 port 9L hwn 10 0.0
32421300/507 Uyhy/24 port < hwtn 3 0.0
30231100/501 WIFI uwpp QL hwwn 10 0.0
30232231/501 Cwilwlwpgswht Yngn uljuiwnwl QL hwn 2 0.0
32421100/502 Swiguihl dwniju <L hwn 2 0.0
Uulnnuwiht wwpwqubp
39518100/502 Uyhunwlbnbuh hwwpwdnt 9< huwtn 389
39141200/501 ubippiwlh bpbu < hwin 128
39511100/501 owdlng (wnbwy, hwuwn) G< hwin 65
39511100/502 owdlng (wnbwy, pwpwl) QL hwin 54
39516122/501 Pwpd Q<L hwn 100
39511100/506 Ubpdwy (pupwly) < hwun 70
39511100/607 bpuwl (hoht) q< huwin 20
39511160/502 Lwdwwnpuwuthl < hwn 173
39511130/511 Uwywt nh inbnwihnfubnt hwdwp G huwn 70
39511130/514 Uwywu Q< huin 25
39514100/501 Upphs guipnguijht q< hwin 36
39514200/501 Upphs phih q< huin 6
39514500/501 bpbuupphs qc huwin 36
39514100/502 Upphs puwdpuwlyw L hwwn 10
Utinitin
15321200/504 hunwglwd hjnp ag lhwp 575 ?;gg ] 0083 0
16321200/505 hunwgyws hjnip 9< {hwp e i;ig 1 9%‘2 5
1600 0.0

15821500/504 Sfujwdpwpihp < Ug 1430 800 T144.0
15842110/505 Ynudbin, anlnjwnwujwn QL Ug 3170 l:(t])(l]] 15%;0
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8000 0.0
41111100/501 pdwtih gnip q< lhwp 753 500 576
npwiuwnpunwiht wypwuptbp b Gnpkp
09132200/502 [ptiught, ntignyjwp [ ac | jhwp [ 6000 0.0
Dwnuwjnipjniuabip

70311200/503 unwpwdplibiph Jupdwlwinyejul dwnwjnipjnit < npwd 17952000 1 17952.0
50311120/501 budulyupaaub aunpbinh wpihwuridul ~ apubnpngdul ac nnwd 1644300 i 1644.3

Suwinuynuniutibin
79211150/1 wniphnnpulwl swnwpniejniiubp QL rpwid 1884000 1 1884.0
71631110/1 uwnpbph unnigdwt wnwnipniitbp Uu nnwd 426000 1 426.0
98111121/501 wuynwgnipwt wwwhnydw dwnwnipiniutbp G< g 1 0.0
50421100/503 pdalywlwt uwppbph YEpwiinpngiwt — wwhujwdwl 9c — 1 0.0

duwinuinys|niilibin
4822140001 Putgibgiu b fullpwgniub huthulipagiiny bnumaulm | g R 990000 1 990.0

thwiptipttbn
98111121/2 wiinwtigniput wwwhnydwl swnwjnipjniuutip Ul npwd 480000 1 480.0
5011118011 wiinndbipbtiwtibph (Ywgdwt — bdwbwnhuy swnwjnyzniitibn uu npwyd 558000 1 558.0

Sujwgpwljwl Twnwjnip)nib 1
79821180/950 wnywgpuluwt — pusfudwt Swnwjnipniiubp < npwd 39600 1 39.6
79821180/951 unwwgnuiljw — pugfudwl dwnwinyepniitibp 9L npwd 12600 1 12.6
79821180/952 nujuigpuwl — pwohudwl dwnwjnyzniuubp < npwud 164000 1 164.0
79821180/954 nwwgpwlwy — puzhudwy dwnwjnipyniutbp 9L npwd 164000 1 164.0
79821180/955 nwwigpuilwt — puzfudwt Swnwjnipiniutbp G npwu 10200 1 10.2
79821180/956 nwwgpulwl — puzhudwt Swnwjnyajniubp 9L npwud 24750 1 24.8
79821180/957 nwugnuiliuit — pwudwl dwnwjnyziniulbn < nnwd 19800 1 19.8
79821180/958 nwwgpuiljuits — pwopudwl dwnuwyneniuubp < npud 33000 1 33.0
79821180/959 inwjwapulut — pwudwl dwnwjnysniulbp < nnwd 19560 1 19.6
79821180/960 unwywgpwlwl — pwaudwl dwnwnyzjniulbip 9L npud 29340 1 29.3
79821180/961 wwwgpwlwl — pwatudwl Swnwjnysniuubp G< npuwd 39600 1 39.6
79821180/962 nywgnwlwl — pwopudwl Swnwnuyzjniutbp G< npwd 39600 1 39.6
79821180/963 nywgnwlw — pwaiudwl dwnwnyzjniutbip Q< npwid 19800 1 19.8
79821180/964 unyjugpuliwt — pwzfudwt dwnwnuejniutbp Q<L npwd 41000 1 41.0
79821180/965 nwwgpwlwl — pwgpudwl Swnwjnyzniiubp G< npwyd 19800 1 19.8
79821180/966 nwwgpwliut — pwpudw dwnwniyagniuitbp 9L npwd 39600 1 39.6
79821180/967 nuywgnwljwl — pwaiudwl dwnwyniejniitbip 9L npwd 19800 1 19.8
79821180/968 nuwgpiljwt — pwgiudwl dwnwjnyejniutbp L npwyd 42000 1 42.0
79821180/969 wnwgpwljwt — pusfudwt Swnwynipniubp < npwd 39600 1 39.6
79821180/970 wuwgpuluwt = pwsfudwl dwnwjnipniutbip L rpuwd 79200 1 79.2
79821180/971 nwwgpwlwl — pwzbudwl dwnwynipniiubp 9L npwyd 13120 1 13.1
79821180/972 nwwgnulwy — pusfudwt dwnw)nipjniuubip Q< npwd 8200 1 8.2
79821180/973 nwuwgpuiwt — pwgbudwl dwnwnyejniitibp < npwd 63360 1 63.4
79821180/974 inwjwgpuiwl — pwohudwl dwnwjnyzniiubp <L npwud 1140 1 1.1
79821180/975 wnwwgpulw = pugfudwy dwnwjnipiniitbip < npwu 2550 1 2.6
79821180/976 unwgpulwt ~ pugfudwy dwnw)jnipniuibip Q<L npuwd 1700 1 1.7
79821180/977 unwgpulwl — pugfudwt dwnwjnipjniubip < npwd 1500 1 1.5
79821180/978 nywigpwlwl — pwohudwl dwnwjnyzniuubp q< npwud 57400 1 57.4
79821180/979 unwwgnwiwl — puzhudwt dwnwnipjniulbp 9L npwd 3400 1 3.4
79821180/980 nwywgpubwl — pusfudwl dwnwjnyajniubp < npwd 5040 1 5.0
79821180/981 nwywgpulwl — pwzhudwl dwnwjnyzjniubin < npuwd 2550 1 2.6
79821180/982 nwwgpwlwl — pwzhudwi Swnwjnyzjniulbp KL npwd 99000 1 99.0
79821180/983 unwwgpulwl — puzhudwt Swnwjnyajniuilbp < npwd 19560 1 19.6
79821180/984 nwywgpulwt — pwshudwt dwnwnyagniuubp < npuwd 9840 1 9.8
79821180/985 nwyjwgpulwl — pwzfudwl dwnwjnyziniuubip < npwd 39600 1 39.6
79821180/987 nwywigpulwt — pusfudwt Swnwnyayniuitbp L Ll 358800 1 358.8
79821180/988 nwwagpuliut — pwoludwt dwnuwynyzinitbp 9L rpwid 3800 1 3.8
79821180/989 nwwgpwlwt — pwzhudwt dwnwjnijniuubp 9L npwd 198000 1 198.0
79821180/990 wwywgpwlwl — pwziudwl Swnwyniyzniulbp G< il 198000 1 198.0
79821180/991 nwywgpwljwt — pwapudwt Swnwnipjniuubp G npuwd 99000 1 99.0
79821180/994 nywgpwljwl — pugiudwl dwnwjnisjniittp QL rpwd 1296 1 1.3
79821180/998 unwgpwljwy — puwoudwl Swnwjnipniutitip G npwd 39600 1 39.6
79821180/999 tnuywgnuiljw — pwgfudwl dwnwinipniiin Gl npwy 39600 1 39.6
Swwgpwlwl Dwnwjnipjnit 2

79821180/1000 nwwgpubwl — pusfudwy dwnwnyniiubp q<L npwd 43020 1 43.0
79821180/1001 unwwgpulwt — pustudwy Swnwjnigyniiubp QL npwd 28,800 i 28.8
79821180/1002 nwwgpulwt — pwziudwi Swnwjnipjniuubip QL npwd 6,300 1 6.3
79821180/1003 nwwgpuiljwt — pwopudwi dwnwynysinitibip Q< g 1200000 1 1200.0
7982118041004 nwywgnuilwl — pwziudwt dwnwnyzjniuubip L npwd 35940 1 35.9
79821180/1005 nwwgpuiliwt — pwoudwl dwnwjnypniulbip L nnwyd 35940 1 35.9
79821180/1006 unwwgpwljwl — pwzfudwl Swnwjnyajniubp aL npwd 4,200 1 4.2
79821180/1007 nwwgpubut — pwghudwi dwnuwynysiniutibip L nnwd 4,400 1 4.4
79821180/1008 nwwgpulwt — pusfudwl Swnwjnyagniuliin aL npuwd 8,700 1 8.7
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79821180/1009 unwwigpuiljut — pwsudwl Swnwjnipniuitbp QL npuwid 4,350 1 4.4
79821180/1010 nwwgplwt — pwziudwl Swnwnuyzjniitbp QL npwd 116,000 1 116.0
79821180/1011 wwwgpwlwl — pwstudwl dwnwjnyzniibp 4L npwd 15,000 1 15.0
79821180/1012 unywgpwiljwl - pwgpudwl dwnwjnyzjniiubp QL npwd 13,200 1 13.2
79821180/1013 nwwgplwt — pwoudwl dwnwnyzjniitibp GL npwd 80280 1 80.3
79821180/1014 wnwywigpuiljwl — puwpudwl dwnwjnyzjniuubp 9L g 15,400 1 15.4
79821180/1015 nuugpuljwl — pwgfudwl dwnwnigniitip < npuwJ 29,000 1 29.0
79821180/1016 nwwgpulw — pwgtudw Swnw)nipjniibp < npuwd 14,900 1 14.9
79821180/1017 unwywgpulwl — pushudwt dwnwjnyeniittn QL rpwid 88,000 1 88.0
79821180/1018 nywgpulw — pwstudwt dwnwjnipniitp QL npwd 282960 1 283.0
798211801019 nywgpulwl — pwstudwl dwnwjnyzjniutbin QL npwyd 300000 1 300.0
79821180/1020 unywgpuljwt — pwsudwt Swnwnipniutip G g 300000 1 300.0
79821180/1021 uwgpuljut = puwofudwt dwnwynipniititip < npwd 1,900 1 1.9
79821180/1022 wnuywgpwlwt — pwgfudwl dwnwnieniiibin < npwyd 9,600 1 9.6
79821180/1023 unywgpwlwl — puwgfudwt Swnwjnianiutibp G npwd 300000 1 300.0
79821180/1024 wnwjwignuljwl — pugpudwl dwnwjnysjnittbn L npwd 4,800 1 4.8
7982118071025 unuwgpuiliw — pwudwl dwnwniejniutbp QL npwd 44160 1 44.2
798211801026 wnwywgpwlwl — pupfudwl dwnwnyeniiibp QL npwd 22,800 1 22.8
79821180/1027 wnwywigpwljwl — pwgpulwl Swnwjnipniiubn < npwd 300000 1 300.0
79821180/1028 nuwgpilwt — pwaudwl dwnwynyzpniutbp QL rpuwid 1 0.0
798211801029 unywigpuwljwl — pwotudwl dwnwjnyzjmuubp QL npwd 323400 1 323.4
79821180/1030 nwwigpuljwl — pughudwt dwnwjnyeniiubn L npwy 1 0.0
79821180/1031 inwywgpwlwl — pusfudw dSwnwnyniiubn QL npwd 1 0.0
79821180/1032 nywgnuwl — pwofudwl dwnwynyzniiubp Q< npwd 1 0.0
79821180/1033 nwjwgpuwljwt — pusfudwt dwnwnyniilbp Q< npwd 1 0.0
79821180/1034 nujwigpulw — pwobudwl Swnwjnyzniuubp 9L npwd 1 0.0
79821180/1035 nwwgnuiw — pughudwts Swnwnysjniiubp 9L nnwd 1 0.0
79821180/1036 unywgpulwl — pwohudwl dwnwjnyzjniulbp L npwd 1 0.0
79821180/1037 nwywgpulwt — pwshudwl dwnwjnyajniutiip < npwd 1 0.0
79821180/1038 nwwagpuiluts — pwzfudwl dwnwjnysniulbp 9< npwd 1 0.0
79821180/1039 nwwgpwliwl — pwzhudwl Swnwjniajniiubp < npwd 1 0.0
798211801040 gt — pwaudwl dwnwnipiniibp Q<L npwd 1 0.0
79821180/1011 nwwgpiljut — pwoudwl dwnuwniyzniutbip Q< npwd 1 0.0
79821180/1042 nyjwgpwiljwt — pwstudw Swnwniegniuubp L npwd 1200000 1 1200.0
79821180/1043 unuwgpulwt — pwztudwy dwnwnyegniutbp G npwd 1200000 1 1200.0
79821180/1044 wwwgpuiljwl — pwgudwl dwnwjnyzniitbp S npwd 22200 1 222
79821180/1045 nywignuljwl — pugludwl dwnwjnisniiubn q< npwd 67080 1 67.1
79821180/1046 wnwwgpuwlwl — pushudwl Swnwynyzgniitibp G npwd 22200 1 22.2
79821180/1047 wwywgpuiljwl — pugulwl dwnwjnyzniitbp L npwy 114,000 1 114.0
798211801048 wnwwgnuwljwt — puwshudwl Swnwjnyajniitibp < npwd 132,000 1 132.0
79821180/1049 nwwgpwlwt — pwaudwt dwnwynyniibp 3L npwd 33,000 1 33.0
Suwgpuljwb wypwuptbp 3

22451240/501 puly q< huin 50000 0.0
22451240/502 plutly a<c huitn 10000 0.0
22451240/504 plutily < huwin 15000 0.0
22451240/505 plully 9< hwin 12000 0.0
22451240/506 plwly i hwin 2000 0.0
22451240/507 pjwtly 9 huwtn 2000 0.0
22451240/508 pluity G< huin 20000 0.0
22451240/509 il G huwn 5000 0.0
22451240/510 plutly q< hwin 10000 0.0
22451240/511 ptly L hwn 10000 0.0
224512404512 pluly QL hwitn 2000 0.0
22451240/513 pluty q< huwn 8000 0.0
22451240/514 pluly q< hwin 5000 0.0
22451240/515 pluy < hwin 4000 0.0
22451240/516 plutly q< hwtn 5000 0.0
22451240/517 plutly o< hwtn 2000 0.0
22451240/518 ptly G< hwuwn 5000 0.0
22451240/519 putily G< hwn 700 0.0
22451240/520 pjtily qc huin 8000 0.0
22451240/521 pjuliy qc huwtn 10000 0.0
22451240/522 Pyl q< huwtn 5000 0.0
22451240/523 plully qc huwitn 2000 0.0
22451240/524 pjutily q< huin 20000 0.0
22451240/525 piuliy a< hwtn 40000 0.0
22451240/526 plul o< hwin 13000 0.0
22451240/527 pluuy G hwwn 5000 0.0
22451240/528 pluwuly L huin 20000 0.0
22451240/529 plutly Qs hwwn 2000 0.0
22451240/530 plwuy G< hwwn 10000 0.0
22451240/531 plutly < huitn 20000 0.0
22451240/532 pluly QL hwn 500 0.0
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22451240/533 pputil ac huitn 50000 0.0
22451240/534 pyustly o< huitn 15000 0.0
22451240/535 pluuly 9L hun 50000 0.0
22451240/536 Pl a< hun 40000 0.0
22451240/537 pluly < huwwn 25000 0.0
22451240/538 Pl q<c hwin 1000 0.0
22451240/539 pluuly 9< hwin 5000 0.0
22451240/540 pluiy a< huwn 1000 0.0
22451240/541 pluly o< huwn 1000 0.0
22451240/542 pluwlly Q<L huwn 1000 0.0
22451240/543 pluuy 9L huwin 4000 0.0
22451240544 pluuy < hwn 2000 0.0
22451240/545 pluly G< huwtn 2000 0.0
22451240/546 pluiy L huwin 38000 0.0
20451240/547 plutly < hwin 20000 0.0
22451240/548 il 9L hwn 1000 0.0
22451240/549 pluul Q< hwtn 5000 0.0
22451240/550 pjutly aL hwn 5000 0.0
22451240/551 ppualily q< hww 500 0.0
22451240/552 plualiy 9< huwin 20000 0.0
22451240/553 pjuliy q< hwin 1000 0.0
22451240/554 pjuly q< huitn 2000 0.0
22451240/555 plully L hwwn 500 0.0
22451240/556 plutily q< hwwn 2500 0.0
22451240/557 pluily Q< hww 700 0.0
22451240/558 pjully q< hwin 10000 0.0
22451240/559 pluy ac huitn 600 0.0
22451240/560 pluy qc hwin 5000 0.0
22451240/561 pluiuy L huwn 300 0.0
22451240/562 Pl o< hwin 300 0.0
20451240/563 pLutly o< hwin 3000 0.0
22451240/564 pluiuy 9L hwin 3000 0.0
22451240/565 pluuly < hwin 600 0.0
22451240/566 plustly a< hwin 300 0.0
20451240/567 pluly q< hwin 11000 0.0
22451240/568 il < hwtn 20000 0.0
22451240/569 plully 9< hwun 1500 0.0
Swwgpwlwl wwypwupubp 4

22111200/501 wywigpywd wy gpphip GL hwun 3 0.0
2N11200/502 nwigpywd w)) gpphp QL hwiwn 3 0.0
22111200/503 nywigpdwd wy gppbp QL hwwn 10 0.0
22111200/504 wnuwgnyws wy gppbip 9L huwin 1 0.0
22111200/505 nwwgpywd wy) gpphbp Q<L huwin 50 0.0

2111200/506 inwwanywd wyl gpphip 9L hwin 10 0.0
22111200/507 unwwgnywd wy gppbip Q<L huwin 5 0.0
22111200/508 umywgpywd w)) gppbip q< hwwn 20 0.0
22111200/509 nuwigpywd wy gppbip 9< hun 10 0.0
22111200/510 wnwwgpywd wy gppbp 9 huwwn 15 0.0
22111200/51 unwwgpywd wy gppbip L huwwn 8 0.0
22111200/512 nuwwgnpyws wy gppbip q< huwn 2 0.0
22111200/513 wnywgpywd w)) gppbip Q<L huwwn 10 0.0
22111200/514 nywgpywd wy gpphbp 9L huwwn 100 0.0
22111200/515 nwwgpywd wy gpplp < huwn 100 0.0
22111200/516 nwywgpywd wy gppbip < hun 20 0.0
22111200/517 nwwgnpywsd w) gppbip 9L huwiwn 10 0.0
2H111200/518 wywgnyws wy| gppbin L hwn 60 0.0
22111200/519 wnwuigpywd wy| gppbip < huwn 120 0.0
22111200/520 nwwgnpywéd wy gpphp L hwn 12 0.0
22111200/521 nwywgpywd wy) gppbip < hwwn 5 0.0
22111200/522 inwwgnuuwd w)) gppbip < hwwn 10 0.0
22111200/523 unwwgnyuwd wy gnpbp < hwin 7 0.0
22111200/524 nwwgpywd wy gppbip G< hwin 2 0.0
22111200/525 nwwgpywd w)| gppkp L hwn 2 0.0
22111200/526 nwwigpwd wy gpphp L hwwn 3 0.0
22111200/527 wwywanywéd wy gpphp GL huwiwn 4 0.0
22111200/528 unwjwgnywsd wy gppbip Q< huin 4 0.0
22111200/529 wnwwgnywd wy gnpbip &< hwwn 4 0.0
22111200/530 wnwwgnywd wy gppbp < hwn 2 0.0
22111200/531 nwwgnywd wj| gppbip q< hwin 2 0.0
22111200/532 nwywgpywd wy gpphbp L hwin 14 0.0
2411200/533 nwgpywsd wy| gppbin Q<L hwin 60 0.0
22111200/534 nwwgpywd wy gppbip QL hwwn 180 0.0
22111200/535 nujwgpywd wy gpebp G hwn 120 0.0
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22111200/536 wnwwgnywd wy gppbip G hwwn 120 0.0
221112007537 nywgpywd wy| gppbip QL huwin 40 0.0
22111200/538 nwwgnywd wy) gnpbp G hwn 35 0.0
22111200/539 wnwwgpywd wy| gpplip G hwwn 20 0.0
22111200/540 nuwgnpyws wy gppbip 9L hwun 150 0.0
22111200/541 nwywgnywd wy gppbip QL huwin 40 0.0
22111200/542 nwgpywd wy gpphbp < hwn 10 0.0
22111200/543 unwywgnywd wy gppbp 9L hwtn 15 0.0
22111200/544 inwjwgpywé wy appbp Q< huwin 15 0.0
22111200/545 nuywgnywd wy) gppbp <L huwin 10 0.0
22111200/546 unwwignywéd wy gppbp 4L huwwn 5 0.0
22111200/547 nwwgnywd wy gppbip G hwun 10 0.0
30197236/501 pRRwwwlwl' wwwnynghp G< hwuwn 2000 0.0
22451240/570 pluulubp hwdwéwjuwghp QL hwwn 2000 0.0
22451240/571 pluulubp nhnwwnnidu G huwin 5000 0.0
30192151/501 Yuhp, wywnnduwin, ninnwilynu QL hwwn 9 0.0
Uouwwnwptibp
45461100/501 okupbiph, shunusniuibiph pupwghy Unpnguwl wafuwwnwupubp G< npwd 1 0.0
45331111/1 onuwithnfudwt uwppbiph whnwnpdwt wbuwnwtptbp Uu npwd 990000 1 990.0
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